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NGYwlwnybind «Gpuwu pwnwpnid inbnulwu huptwlwnwywpdwt dJwuht» <wjwuwnwuh
Lwupwuwbinniejwu optuph 12-pn hnnwdh 1-pu dwuhp 16-pn Ytwnny, 54-pn hnnwdh 1-hu dwup
1-pu Yybwind, 71-pn, 72-pn, 73-pn, 74-pn hnnjwéubipny, «Lwjwuwmwuh <wupwwbnnypjuu
pjnobitnwihu hwdwlwpgh dwuhtu» <wjwunwuh <wupwwbnniejwu optiuph 31-pn hnnyjwony.
Eplwt pwnuph wwquuphti npnpmid £,

1. <wuwnwwnby

1) Gplwu pwnwph 2016 pYwlwuh pnybu’

w) GYwdnunubph gény’ 78,219,530.5 hwq. npwd,
p) Swluubph gény’ 78,369,530.5 hwq. npwd,
g) nbdhghunp (Wwlwunipnp) 150,000.0 hwg. npwd:

2) bplwuph 2016 pYwlwup pnwbh Jupswlwu b $nunuiht Jwubph Gywdnunubpt’ pun
duwynpdwu wnpnipubiph’ hwdwdwju N 1 hwybwsh.

3) bplwup 2016 pYwlwuh pngbh Jupswlwu b $nunwiht dwubphg hwwnlwgnudubpt’
puwn pjnbinwihtu dwiuubiph gnpdwnwlwu nwuwlwpgiwt' hwdwdwju N 2 hwybwdh.

4) Gplwuh 2016 pwywup pjnbh upswlwu b $nunwjhtu dwubiphg hwwnlwgnidubpp' puwn
pnwbnwihtu dwiuutiph wunbuwghwnwlwu nwuwlwpgdwu' hwdwdwju N 3 hwytywsdh.

5) bpluwuh 2016 pwlwup pjnbh nt$hghwnp (Wwlwunipnp)' hwdwdwju N 4 hwybwdh.

6) Gpuwuh 2016 pEYwywuph pnwth nbdpghnp  (Wwlwunipnh)  Shuwtuwynpdwt
wnpnipubpp’ hwdwdwju N 5 hwybgwsh.

7) Bpluwup 2016 pYwlwuh pnobh Jupswywu b $nunwihu dwubphg hwwnlwgnidubpp' pun
pnbinwihtu dwiuubph gnpdwnwlwu U nunbuwghnwywu nuuwlywpgiwt' hwdwdwiu N 6
hwyt|wdh.



8) Unyu npnodwu N 6 hwybwdny hwunmwwndwsd hwwnlwgndubph Jtpdwunup' pumn
Gplwuh Jupswlwu 2powuttipp b Gplwup pwnwpwwbwnwpwuh (wnwug Gpuwuh Jupswywu
onowuubinh)' hwdwdwju N 7 hwybJwdh:

2. Gpuwu pwnwph 2016 pYwlwuh pnwbh Jupswywtu dwuh wwhnuuwnwhu $nunhg
«Uupwywu pwulh weowlygnipjwdp hpwywuwgynn pwnwpwiht Gupwlwnnigwéputiph U
pwnwph Ywjntt qupgugdwu ubpnpnwwihu dpwagph (Wwwdhpwyywsd hwagnpnipniuutin)» W
«Uupwywu pwulh wowlygnipjwdp phpwywuwgynn pwnwpwiht Gupwlwnnigwdéputiph U
pwnwph  Yuyniu qupqugdwu  Gpypnpn Spwigph (wwndhpwlydwsd - hwgnpniegniiutin)»
hpwlwltwgdwu hwdwp hwwwgub] hwdwwywwwuluwuwpwp 2,357,258.2 L 4,286,802.5
hwqwp npwd pnybunwihtu dwiuubph wnunbuwghnwlwtu nwuwlwpgdwu «Uj; dwfuubp»
hnnqwény:

3. fanywwpb Gplwup pwnwpwwbnhu uwhdwub] unyu npnadwdp hwunwnyws.

1) wnnnoniejwu wwwhnjwgpniejwu dpwgpny twhuwwnbujwd Swnwjnipntuutiph gwuyp,
owhwnniutiph npnadwt swihnpnohsubipp W hpwlwuwgdwu Ywnap,

2) pnwtivmwihu  dwfuubph  wumbuwghnwiwt  nwuwlwpgdwu  npwdwunphubph,
udhpwwingnieynituph - W unipupnpwtbph hwdwp  Gwjuwwbujwsd  hnnwdubpny
hwwlwgndubph Yypdwunwdp' pun unwgnn Yugdwybpwnipniuubph:

4. Unyu npnondu nidh dbg £ dinund wwounmnuwwu hpwwwpwldwu opdwt hwonpnnn
wwuubipnpn opp:

ereduth LUNULUMES S. yurtursuu
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1000

AU _ 2@°UA °T2gaiTU°s

78,219,530.5

78,209,530.5

1,018,301.3

=t ATai0

1100

1. b23T°8 @1 Taide°d

7100

14,463,118.9

14,463,118.9

S AT4i0"

1110

1.1 7ai0=ICY N=2AT»A 3YR3AA - a5luCo

7131

5,286,160.7

5,286,160.7

e

1111

qasiu=N=2AT NSUSYUY»AC TSAEST3Y W2A=TaY»Aail
- WY T40 B»YU»AC ~ RCYAGAIATYY»AC N=3U=3A

4,634,803.6

4,634,803.6

1112

Pa0C N=AT NSUSIYUY»AC TSAEST3Y W2A=TuY»Aail
-wY 140 N&0C N=U=A

651,357.1

651,357.1

1120

1.2 fasiu=IcY N=AT»A 3 - asluco

7136

5,395,091.7

5,395,091.7

S AT4i0"

1121

Tatlu=N2AT ~4E31A300cA0Y»AC N=U=h

5,395,091.7

5,395,091.7

1130

1.3 2ARSBYUY»AC 0- 13- aATUSY T3U
-4 TasY»a0Al=Y CAST3Y36U3Y AddlEw TadAl=Y
Tx3AY»A

7145

3,394,866.5

3,394,866.5

=t ATai0

1131

T»03T3Y 1A

71452

3,394,866.5

3,394,866.5

=t ATai0

1132

=) P2U3YUC WSASTUAU Ya R»YU»fiC, RCYAAIATY Y»TiG
(Y»A=€&13E 43 NCUYST3Y) RCY=2A=3haiAISY (1»031AU3Y)
A&ilEw TasAl=Y N=0=

146,099.8

146,099.8

=t ATai0

1133

33) pCUYST3Y RCYAsAIAYY»AC N=U=h

146,099.8

146,099.8

1135

WB3U3YUC T3AIST3Y T3A=T0aiU B»YU»AC, RCYASAIAGYY»AC,
U30=30U3RCYST3Y 3 QubTHY»AC T»A3T36456U3Y,
40A»0=0U3Y, T»AST3Y-YU3Y, 3ALCST3Y30U3Y
SRE3T3YUY»A (uUS63640AIB0p DD Ofi»YE1A.

a3V I3 RCY3A3RAAISY AddlEnT. 4a3N3Y¢iad
1»&U»fC) T3 W 3f»tad AdslEwT. N=U=h

12,405.0

12,405.0

1136

-) B2U3IYUC T3AEST3Y W3A=T040U B»YU»fic,
RCYABAIAEYY»AC, U30303RCYST3Y 3 GubTWY»AC u3Y1U3Y
A&ilEw TasAl=Y N=0=h

11,600.0

11,600.0

1137

1) p3U3(Y0¢ W3iA= 10400 &-»EC6 EUGAUY»AiG — (T=0)
TE3EAWC SAWS1ASYUC T3x36é0C, CeT N3YAS(CY eYY1g
Oui»>TWY»AaU" &-»EC6 EUCAUY»AC ™ (T=3U) TE3EAWC
SAT3LASBYUC CAZOUSY AddlEn TasAl=Y N=U=A

358,461.0

358,461.0

1138

») D3U3YUC W3S T040 p360AI3 T3x3é0 T3UUZT»A8x»Ea0
AailEw TasAl=Y N=0=h

86,380.0

86,380.0
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1139

1) D2U3YUC W22 Tuadl N»040T T3é»ECuc, e»00T31
uYST3Y T30 (080126131 Y2TASICY - 3U»AC USYASTSE
26 NAC T»>»iiatl N»0a0T T3é»ECuC  (130) 8»00T=1
uYST3Y 120 (»040120T=1 YSTASICY - 3U»ic =
I»EYCT3T3Y (»0401Y»AC T3x3¢0C AddlEw TasAl=Y =303

75,950.0

75,950.0

1140

¢) D3U3YUC W3A=Tual =é wic, NSYASICY éYvac,
BLI3AX3YUC, R2NasUAT E30»AC ~ TCx3T3E30»AC
T3UUST»>AAUSY Qui» T Y»AA, pSOYCUY»AA (8245Y3Y»AA),
E303T1V»A ASUA 24.00-Go fi»1a SRE3T»tas AadlEw TasAl3Y
N=0=f

113,124.3

113,124.3

1141

A) B30=030303(CY T3YAYY»ACY NSU2A313eE3Y Of 3y
u30=0C T u30303ICY NS3USIVUY»AC 13/ Tuail AYnr3Ye
T»Y1I3YCY»A &=3N»fa0 Addfw Ta6AI3Y N=0=h

2,395.0

2,395.0

1142

A) b=30=3Y0C T3A=T0aiU SAT3UCY -AT3%1 T»031fintad
AailEw TasAl=Y N=0=h

1,504,400.0

1,504,400.0

1143

R) B=30=3YUC SAECTCO +36W3A0ASAC A3 W x»Y»A

3,290.0

3,290.0

1144

A=) p303IYUC W2A3T040U (u363640AI=Uu A=03(CY
=U=VUY»AC) USALST2A 130840 (U262640A1=U
»HR&SOZICY T2UECY»AC) T=6=aAladY CRETSY=6Y»E45
RadlEn TasAl3Y N=0=3h

1,240.0

1,240.0

1145

A A3YT=30A»0 U»30Y»ACo A3 WASEW T3 CAnfC
USYAST3E 364013x360C AW Ta0AI=Y N=0=h

50,550.0

50,550.0

1146

A 2T rarsi=y=»0c (=0=H

920,000.0

920,000.0

1147

A1) p=0=lYuC wEA=TuAU - WY TA0 E3YaAY»fadl,
TAASTY»AaiU I»EYCT3T3Y N»0aiTY»AC T3x3é0C
A&ilEw TasAl=Y N=0=h

21,6775

21,6775

1148

A») D3USVAC T3 T0ddl RSYASICY 8YY1C TSWIST»Aalsy
“ CAsOUSY AddEw TaAISY N=U=h

71,293.9

71,293.9

1149

Ay) D3(=6T3YC DIYAS&» T AAIBY NSUSIYUY»AC
3Yi3YaUY»AA yCAUSICY 3Y T=3YailY»fiaiu - 0= - aii»Ead
A&ilE=rTasAl=Y N=0=h

1,000.0

1,000.0

1150

R) 2 w»0=T=3Y rasho»h

15,000.0

15,000.0

1150

1.4 2AA3YUY»AC USTST3ASAAUCo
13é3|a0AladYY»AC USTHAi0aiuco 3t A3in31Ci
Tx3AY»A

7146

387,000.0

387,000.0

=t ATai0

1151

P3U3YUC plaic» Tx3ATa0 »3T3Y TasAu»A

387,000.0

387,000.0

S AT4i0"

1152

3) g3030=26C3T3Y 12040A13Y 3TT»A - ASYo»E4s, 1A=Y6
U=eCY u=03036CY»ACY TATY=TC TT3ST3YY»,
U303036C3T3Y T2640A3Y 3T r»iAdil TST3AT31

- i3640UY»fasl —a+—aEadAlasYY»f, Ei=645Y»f, 46004UY»f
T3 3f»tad  »AST3Y - YUY T3&3T64AI30n
TT33T3YY»i 134 13030

77,000.0

77,000.0

1153

UAT3A3AST3Y - A3e»YISTY»AC Ta0UCo YAT3a3T3Y
1363[a5Ala0YY»ii T30 30i»tas, YAT3A3T3Y T30-af
USAUCYY»AC TAOUCH - ARTSAUY»AC YSES- I»fi =~ 1QUAUY»f
T31U»kad, ~363A0A. &3 x»Y. N3Y»Ea8 ~~ 1ASY6C6
u30T310. T3ta \=03h

310,000.0

310,000.0




= = S ATaU
= e o = N
= OTSUT3T»a3TY»iiA el AY1ZUnYA o o
= = 13033 13Y pladc» | yaY1r3CY pladc»
=
o =
1 2 3 4 5 6
1200 |2. 42pTal2T=20 _62g=2pUaspUes 7300 21,967,541.4 21,967,541.4 -
31 ATa0
1250 |2.5 AYA36CT Y»AUCY &A3RWaY3T3Y 7331 21,967,541.4 21,967,541.4 -
1ASUSRYARNY»A 636131 1363 T3A03Y 3t
UST3AL3TY»ACH
31 ATa0
1251 |3) &»w3T3Y plaic»Co yCY3Ye3T3Y N=3U3N=3AA»0U=3Y 13,429,755.8 13,429,755.8 -
ETHuaYUAT WTA=U31AT40 143603 »A
1254 |p) a» W13V pldic»Co wA=U31i140 3 143603V »A 72,449.9 72,449.9 -
31 ATa0
1256 |up) 3 1aW=36C3Y»fi 72,449.9 72,449.9 -
1257 | -) & 03T3Y Wlaic»Co wizU=31iiald YA T3T3(cY 8,465,335.7 8,465,335.7 -
N=0T=26400Y»f (840U T»Y6C3Y»f)
1300 |3. 2UE ©@T2gasTUes 7400 41,788,870.2 41,778,870.2 1,018,301.3
31 ATa0
1320 (3.2 b=3N=3u3ACYY»f 7412 114,108.0 114,108.0 -
31 ATa0
1321 |~ SAY» W CAST3Y AYT»AacAlasYY»fAasu N=U=3Yag 114,108.0 114,108.0 -
U=eY=T640AI3Y 1¢U=6 N=U=VaC plase» T3w=3fTad
U=el=VaUY»ii (R3N3p3ACYY»h)
1330 |3.3 Ta8lu¢ T3A03T3E40AI4YCO » T3V Y»A 7415 947,085.1 947,085.1 -
31 ATa0
1331 |D2U3VUC é»+3T3Y40AlasY N=2U=3fTa0 Nad»AC 524,101.0 524,101.0 -
1303 Tx3AY»A
1333 |D3U3IYuC T3AE=T3Y T3S 104U - Y140 &»TasAlsy - 55,000.0 55,000.0 -
N=203{Y0C é»+3T3YaAISYA &3 T=3Y40 Nad=3U3éxiic
1264062437 U3Y CASTAIYUC 1CU=6 - 30140
1303 Tx3AY»A
1334 | 2 - &lUC T3A03T3EA0AIAYCH VA Ux»h 367,984.1 367,984.1 -
1340 |3.4 D2U3YUC plaic»C »T3UVATTY»A SAASYUY»AC 7421 36,320,967.3 36,320,967.3 -
UST3T3A=3A400C06 ~ T=63040AlasYY»AC
U3T1ai64suce
31 ATa0
1342 | &» T aAIRY Ta0UCo W»03T3Y CYUYST3é63T3RU3Y 36,204,967.3 36,204,967.3 -
USAUCYY»ACY &3 W ICAZT T=1 EC3hanatAlasy Y»Ac
CAST3Y30U3Y TSEe»fiC yeY3ve3TanUsy \=U=si
B> U3T3Y Plaic»Co e 36140 UCcaoY»ii
1343 |ai»Yoar e3N0=3Y =T 1»ao»iasl N=BU3lyu3(icy 116,000.0 116,000.0 -
NCUYSATY»AC TA0UC6 2¢3Y6 W»03T3Y WadAuG - 2Y0U3Y
U3raiorad 1363(a0AlasyY»AC T30 T3 w3140
- anT1a0abAlasY Y»AC 1CU=6 ew=26140 (- 3Y0T40) 3l Tx3AY»h
1350 (3.5 134213 - 3Y04UY»A 7422 3,744,059.8 3,744,059.8 -
31 ATa0
1351 [ T»03T3Y Tx3AY»A 3,494,059.8 3,494,059.8 -




= = 31 ATa0
= e o = N
= OTSUT3T»a3TY»iiA el AY1ZUnYA o o
= = 13033 13Y pladc» | yaY1r3CY pladc»
=
o =
1 2 3 4 5 6
1352 |p=U=lYu¢ T35S T3Y w=3hA=Tual CYay=3130 13éai0 131 250,000.0 250,000.0 -
R»YU»AC, RCYABAIAEYY»AC OACYST3Y360=3Y N=303h Tx3AY»h
1360 |3.6 @aFWU»i TailA»Aco, Was- SYUY»Aco 7431 398,000.0 398,000.0 -
31 ATa0
1361 |1 3AE2T3Y CAZTSE3ETAUY»AC N=0=3 1»031T3Y 398,000.0 398,000.0 -
CYUY=T=26=2T3A03Y USAUCYY»AC Ta0UCo
A3 T3EE3Y3TTAAIBY UGCA6Y»AC TCA=645UC0 » T2UaTT Y»f
1380 (3.8 T2ACH 3t 44 A3RWAYST3Y 1AZU3RYAANY»A 7442 10,000.0 - 10,000.0
31 ATa0
1381 |UTCAST T,A3é3Y - CAST.yCuCT.3Y0.” 10,000.0 - 10,000.0
T33U=T.R=0=3(v, I'»ﬁ(;.»Y/:\.uUéf)(;»"l'.NCUY3ﬁ'I'.'I'Y0ﬁCY.3Yé3i
-&3luc (NCUY3T3Y UCcad 13U 4a YIaA=T3Y =1 Ci
aN=V1Cce=0640) Ci=6.” 1A=0.0Cca0. TSACTSEISEE»AC
yCY=Ye N=30.R=303Y0C pladc» eW26T=1 VA wusi
TASUSL SFA30CY 20pladh.
1390 (3.9 2t »T3V45 1 Y»f 7451 254,650.0 254,650.0 1,008,301.3
31 ATa0
1392 |1 3AE=T13Y pldic»C &=3Naer=ICY yay1go yav13(cy plasc» - - 1,008,301.3
T=03A140 = rT36400Y»AC6 VA wu»h
1393 |GA»YOaT " CAST3T3Y 3 3T »har é3NU3Yi=T NS03iYac 254,650.0 254,650.0 -

piade»C Uasmu= - AU3Y »YAST= 3 » 130851 V»f




D331 2
Of " 3Y 13030UC ST3-3Y4)
PIVNISY Y (ol = o — C

N —

°5°1 20 2016 AT 2T20UE ~Uase™£ 12542120 o1 ual _ 20U 326°6£0 D2TT20a00UCBA" AeT ~UatecT20EU 1268964
1281282120 _262T1257020

(N=%=f 1A3UY»RAT)

=t ATai0

[l . IR pe . .- N .
{:Z < -%L = ~ 4> SICY TSEE»AC -an1=¢3T3Y 1363130 U3y AVISUnTA
c,g =Z| 3 -5 EB" HBACYY»AC, EUpsAC =™ 138»A¢ 3Y T3YAIUY»fiA 3313y paic» | yavrsicy plasc»
[l 8
1 2 3|4 5 6 7 8
AU _2g°UA 12Eé°s 78,369,530.5 78,209,530.5 1,168,301.3
2100 |01 |0 |0 AU,DZUéGB'Ué\AﬁUAﬁEDZUBZUﬁEU 8,703,708.8 8,184,741.5 518,967.3
T2e20a0Alasuues

3t Ata0

2110 | 01 | 1 | O |GfA»Yé1CA =~ -4AT31CA U3AUCYY»A, &»T313Y 8,265,543.1 7,957,584.8 307,958.3
1363730400, yoy3Ye3I3y =
N3[T3ulase» T3ICY N3A31u»a6Alacy VA,
BAT30CY N3ASBu»AaoAlasy Y»n
ance’

2111 | 01 | 1 | 1 |Gfi»Y&2CA ™ -aRT31CA UBAUCYY»h, S» W 3T3Y 8,265,543.1 7,957,584.8 307,958.3
136313400

2130 | 01 | 3 | O |AY2N3Y&67 uYadlAC F=26346AI46YY»A 92,595.7 92,286.7 309.0
ance’

2131 | 01 | 3 | 1 |2BE3T3T3WC [T31A»AC/ - TaT AYIN=YasR pYasiAc 92,595.7 92,286.7 309.0
1363(40Ala0Y Y

2150 | 01 | 5 | O |AY2N=YadA uYailAc N=3YAZICY [3é3aiAlasyy»i¢ 210,700.0 - 210,700.0
-TAT N> 33371313y " Y3E3. 3y
BBES3T3YOY»A
ance’

2151 | 01 | 5 | 1 |AV2N=YasA pYaslAc N3YASICY 1=2é=3(asAlasYY»Ac - Tar 210,700.0 - 210,700.0
N> 3BATST3Y " YSEZ- [3(CY SREST3YUY»A

2160 | 01 | 6 | O |AY2N=YadA uYailAc N3YASICY [Sé3iaiAlasyy»ii 134,870.0 134,870.0 -
(3l 136»ACY 48371 T13Y40)
ance’

2161 | 01 | 6 | 1 |AV2N=Yadh pYaslAc NSYASICY 1=2¢=3lasAlasyY»i (Sl 134,870.0 134,870.0 -
13¢»ACY 83T T3Y40)

2200 |02 |0 |0 azptazUascAlasy 42,000.0 42,000.0 -
3t Ata0

2220 | 02 | 2 | 0 |@=303036C313Y &38T&3YaiAlasY 16,000.0 16,000.0 -
ance’

2221 | 02 | 2 | 1 |@=0=30=6C3T3Y &3/ A3VaAlasY 16,000.0 16,000.0 -

2250 | 02 | 5| O |&3BUE3Ya0Al40Y (SIE 13é»ACY 4831 13Y40) 26,000.0 26,000.0 -
ance’

2251 | 02 | 5| 1 |a=RwA3YaiAlalY (S 13é»ACY 383w T3Y40) 26,000.0 26,000.0 -




=t ATai0

Ez| £ 5 5 wowmt e -anf26213Y 126212002 AV23U5YA e o

o = CBL E Eﬂ HBACYY»iC, EUP»AC ™ 13ex»fC 3YT3Ya50Y»fA TSfa=13Y paic» | yav1isicy plase»

1 2 3|4 5 6 7 8

2400 |04 (0|0 TUTe82T20 p252" 23a8A0a600°8 10,360,610.5 14,321,255.8 (3,960,645.3)
=1 A4

2420 | 04 | 2 | O | 7ld003TYU»édiAldcy, 3YT3e3icy o 88,350.0 - 88,350.0
TYT»E404J40Y, OTYAREAGAIAGY ~ aRE4A1E0AIAGY
anco

2424 | 04 | 2 | 4 |&aga-adl 88,350.0 - 88,350.0

2450 | 04 | 5 | 0 |TA3YE84AT 14,224,524.2 13,184,132.1 1,040,392.1
anco

2451 | 04 | 5| 1 |03Y=2a3AN=CY TASYe AT 6,459,534.0 5,517,534.0 942,000.0

2455 | 04 | 5 | 5 |EafAT3T3/3A3(CY ~ 3 TASYe&anT 7,764,990.2 7,666,598.1 98,392.1

2470 | 04 | 7 | O |2 uy=3-3736Y»A 20,000.0 20,000.0 -
afigo

2473 | 04 | 7 | 3 |Yapde=RAcadAlasy 20,000.0 20,000.0 -

2490 | 04 | 9 | O | TYU»E3T3Y N33u»fdiAldoy V> (Sl 136»AgY (3,972,263.7) 1,117,123.7 (5,089,387.4)
d83113Y40)
afigo

2491 | 04 | 9 | 1 | TYW»e313Y N2A2pu»AaoAlaeY Y»h (S 13é»AcY (3,972,263.7) 1,117,123.7 (5,089,387.4)
4&3713Y40)

2500 | 05 [0 | 0 Pd22T2 BA=21208% 42pTa20a0A0as0 7,630,860.8 7,520,860.8 110,000.0
=1 A4

2510 | 05 | 1 | 0 | 20u=3N=YaoU 5,490,806.8 5,460,806.8 30,000.0
afige

2511 | 05 | 1 | 1 |20p=R=VYau 5,490,806.8 5,460,806.8 30,000.0

2530 | 05 | 3 | 0 |bAC3T= UCc3T3IA¢ 30T4TU3Y 150 §3/0=A 38,683.0 38,683.0 -
afigo”

2531 | 05 | 3 | 1 |GG 30TATU3Y 15U &3(0=H 38,683.0 38,683.0 -

2560 | 05 | 6 | 0 |PAic=31=3 UCc3T3IAC &3 &3YaiAlasY (U 2,101,371.0 2,021,371.0 80,000.0
13»ACY 4831 T3Y40)
afigo

2561 | 05 | 6 | 1 |Pic=T= UC3T3IC &=3Ra=VaAlary (3l 13e»AcY 2,101,371.0 2,021,371.0 80,000.0
4&37T3Y40)

2600 | 06 [0 |0 “U>2T1252020£U pEU2628a0A0a0U <1 10,507,228.9 9,036,249.6 1,470,979.3

rTagacU=t 12e20aAlasules

=1 A4

2610 | 06 | 1 | O | "YSISA3Y3(CY BCY3A3AdiAl46Y 86,100.0 16,100.0 70,000.0
afige

2611 | 06 | 1| 1 |7 YST3A3Y3(CY RCYSASAa0AlacY 86,100.0 16,100.0 70,000.0




=t ATai0

Ez| £ 5 5 wowmt e -anf26213Y 126212002 AV23U5YA e o
o = CBL E Eﬂ HBACYY»iC, EUP»AC ™ 13ex»fC 3YT3Ya50Y»fA TSfa=13Y paic» | yav1isicy plase»
1 2 3|4 5 6 7 8

2630 | 06 | 3 | 0 |@ASU=T31=A=3A400 5,121,648.0 5,121,648.0 -
afigo”

2631 | 06 | 3 | 1 |efi=303w=3T3i=hal 5,121,648.0 5,121,648.0 -

2640 | 06 | 4 | 0 |64040Y»A¢ E466=TaRasU 2,370,043.8 2,363,043.8 7,000.0
afigo"

2641 | 06 | 4 | 1 |6&04a6Y»AC tase=T4afiac0 2,370,043.8 2,363,043.8 7,000.0

2650 | 06 | 5 | O | “Y3I3A3Y3ICY BeY3AZ3nacAI3Y ~ 1aUasy=¢ 20,000.0 - 20,000.0
13634044y Y»A¢ - IAT N> 134417313
YIE3. [3cY SRE3T3Y0Y»A
afigo"

2651 | 06 | 5| 1| YSTSA3YS3(CY CYSASR&AISY " Tavayse 20,000.0 - 20,000.0
1363{a0Ala0YY»AC - TAT R>W3%aw=T3Y = Y3ES. 13(cY
3RE3T3YuY»i

2660 | 06 | 6 | O | “YSI3A3Y3ICY BCYIAZAAAI3Y * TaU&Y3E 2,909,437.1 1,535,457.8 1,373,979.3
I363a0AI46YY»A (3IF 136»ACY 4831 T3Y40)
afigo

2661 | 06 | 6 | 1 |~ YST3A3Y3(CY RCY3ASAAAISY ~ Talasy st 2,909,437.1 1,535,457.8 1,373,979.3
1=363(a0AlasYY»A (Sl 12e»ACY 4831 T3Y40)

2700 | 07 [0 |0 2¢a0x2a2pasAlasy 293,500.0 12,000.0 281,500.0
=1 A4

2710 | 07 | 1 | O | “ABIST3Y S&A3YaY»fi, E3fiu»Ai = 71,500.0 - 71,500.0
é3Au3ranaovy»n
afige

2711 | 07 | 1 | 1 |_»0=-aAT3T3Y S&A3YaY»h 71,500.0 - 71,500.0

2760 | 07 | 6 | 0 | 2640¢=383NaAla6Y (3IF 136»ACY 4831 T3Y40) 222,000.0 12,000.0 210,000.0
afigo”

2761 | 07 | 6 | 1 |2640¢=2a3N3T3Y N=3AST06 1=36340Ala0YY»A ~ TA= - finf 222,000.0 12,000.0 210,000.0

2800 | 08 [0 | O p2U£ET, @p2TaoUA <1 Tsal 3,406,350.1 2,575,350.1 831,000.0
=1 A4

2810 | 08 | 1 | 0 |A3Y-67C ~ER4ATC I36340AI46Y YA 585,899.9 204,899.9 381,000.0
afigo

2811 | 08 | 1| 1 |D3Y-&WC "~ QARG 1=363(40Ala5YY»Fi 585,899.9 204,899.9 381,000.0

2820 | 08 | 2 | O |@B3T46A3ICY I36346AI46Y YA 2,753,125.2 2,303,125.2 450,000.0
afige

2821 | 08 | 2 | 1 |TIASI3ABYY»fi 452,291.2 452,291.2 -

2822 | 08 | 2 | 2 |A3Y-3A3VY»i " 640636AZNY»A 253,038.5 253,038.5 -

2823 | 08 | 2 | 3 |@RITAIAC WY»A, STaUuY»A, T»YTAAYY»f 111,245.0 111,245.0 -




=t ATai0

Ez| £ 5 5 wowmt e -anf26213Y 126212002 AV23U5YA e o
o = CBL E Eﬂ HBACYY»iC, EUP»AC ™ 13ex»fC 3YT3Ya50Y»fA TSfa=13Y paic» | yav1isicy plase»
1 2 3|4 5 6 7 8
2824 | 08 | 2 | 4 |2 UB=TAASICY T3S T»AA0AIA0YY»A 1,438,270.6 988,270.6 450,000.0
2825 | 08 | 2 | 5 |2fT»&W 472,629.9 472,629.9 -
2827 | 08 | 2|7 Déﬁf&ér_ﬁo?-w»ﬁc"UBij-'l‘éﬁA?-UgY SAA»0Y»AC 25,650.0 25,650.0 -
M»AST3Y- Y4l -~ &3N&a=vai
2830 | 08 | 3| 0 |@31Ca " N»éadé W 3N30an1aiUY»A¢ 36,000.0 36,000.0 -
N»63[031U3Y  NAZ 131314313y
1363404146V Y»h
afigo
2831 | 08 | 3 | 1 |P»éade T =631CaN=04aM145UY R 36,000.0 36,000.0 -
2840 | 08 | 4 | 0 | TA&Y=313Y ~ N363431313Y 3 31,325.0 31,325.0 -
136340446V Y»h
afigo”
2843 | 08 | 4 | 3 |TRAY=T3Y ~ N=2&3A3T3T3Y 3 1=263(40AI40YY»A 31,325.0 31,325.0 -
2900 | 09 [0 |0 ToAasAlasU 28,592,638.1 26,676,138.1 1,916,500.0
=1 A4
2910 | 09 | 1 | O |UBE314A46313Y = w3AA313Y AYIN3Yaon 15,039,616.9 14,839,616.9 200,000.0
1iA&sAiaey
afigo
2911 | 09 | 1 | 1 |USE3147463T3Y TAA&sAlasY 7,873,965.3 7,673,965.3 200,000.0
2912 | 09 | 1 | 2 |T3AAST3Y AYIN=Y4dh ThAAGAIAGY 7,165,651.6 7,165,651.6 -
2920 | 09 | 2 | O |@CeY3T3rA- AYIN3YAdA TAAE0AIAGY 9,069,256.1 9,069,256.1 -
afige
2921 | 09 | 2 | 1 |BGUY=T=Y AY2N=Yadn THAAAl&SY 8,816,454.2 8,816,454.2 -
2922 | 09 | 2 | 2 |@CcY=3T=3- (FACT) AVIN=Vaosn TAA&SAIASY 252,801.9 252,801.9 -
2950 | 09 | 5 | 0 |AéT UBI3A13IY»AC 41363131 - 140 17A40Ala6Y 3,512,438.3 2,732,438.3 780,000.0
afigo”
2951 | 09 | 5 | 1 |2AWS1ARA6ST3Y 1236 WC3ASTAoAlA0Y 3,512,438.3 2,732,438.3 780,000.0
2960 | 09 | 6 | O | TAA&GAI3YA TA3031/1740 0A=Y13T 971,326.8 34,826.8 936,500.0
136340446V Y»h
afigo
2961 | 09 | 6 | 1 |TAA&AISYA WA=U31AT40 0A=3Y1=3T 1=2¢3(40AlA5YY»A 971,326.8 34,826.8 936,500.0
3000 | 10 [0 | O €a0k£2t2T20 a2pT1a=20a0Aluacu 1,874,811.8 1,874,811.8 -
=1 A4
3070 | 10 | 7 | O |846¢3E3T3Y N3wadl 3w aYaAlasyy» (3l 670,014.4 670,014.4 -
13»ACY 483 1T3Y40)
afigo"
3071 | 10 | 7 | 1 |8&6C3EST3Y NS0l SAwaYasAlacyY»i (S 13é»icY 670,014.4 670,014.4 -
a&3713Y40)
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[l . IR pe . .- N .
{=Z = I 5 “ladg»wSICY TSEE»AG - aMT=€3T3Y 1363130 U3Y AVISUSYA
o = CEL 5 Eﬂ USACYY»AC, EU»AC ™ 136»AC 3Y T3YaiUV»AA ”? TSRESTSY Wase» | yavrsicy waser
1 2 3|4 5 6 7 8
3090 | 10 (9|0 ééé¢3£’3'l'3fésfzi'ésyéiﬂu‘éiy(sﬁf’13é»ﬁ(:)7 1,204,797.4 1,204,797.4
d8=37113Y40)
&RCo
3091 | 10 | 9 | 1 |@46C3E3T3Y A3 W ASYAIAIAGY (Bl 136»ACY 364,189.4 364,189.4
4A3T1=2Y40)
3092 | 10 | 9 | 2 |@46C3HE3T3Y A3RTASYAAISYA WiA=U=31AT40 0A3Y13T 840,608.0 840,608.0
1=3¢3{a0Ala0Y Y»f (3 126»ACY 4831 13Y40)
3100 |11 |0 |0 PEGU2T=2U “2AEUUCsEU a_267a0 6,957,821.5 7,966,122.8
az2patet2U£U val o5
31 ATa0
3110 | 11 | 1 | 0 |\DD IBE373A40AI3Y = N3U3Yay»i¢ 6,957,821.5 7,966,122.8
a3Naoe T3y yayr
&RCo
3112 | 11 | 1 | 2 |PP N=3U3VaY»A¢ &=3Nase w=ICY yavr 6,957,821.5 7,966,122.8
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D3I»EI3IN3
Of 3y U203UC 3T13-3V4)

PIO ISR Y o = o — C

Np— 4RARU=Y

©3°120£ 2016 AT 2T2UE ~Ua0ef 126a2T2U i tal_ 2UEU 926980 D2TT20a00UC8A° AéT ~UatecT2UEU 12E6°5F
TUTPe21£T2T2U _ 2621259020

(N=%=f 1A3UY»RAT)

= A iy TmEma A el o e 3 ATasu
E = {80y W=CY P2EEHAC 1Y 1»e=-Cr=T=y. NN AV13(0»YA — —
== 1363134. U3Y Na1 TS TY»AC Y T3VaUY»AA 3fasT3Y paic» | yavrsicy plasc»
1 2 3 4 5 6
4000 |AU_2@°UA 12Eé°s 78,369,530.5 78,209,530.5 1,168,301.3
3 Afas0
4050 | 2. AUA20ET 12Eé°5 X 77,201,229.2 78,209,530.5 -
3 Afas0
4100 |1.1 2pE=2T2Ugk 12802T6adA0acU X 6,401,177.2 6,401,177.2 -
3 ATasu
4110 | _&62gai 1026140 2pE2T212580°8 ©i X 6,401,177.2 6,401,177.2 -
p2i°o2i6280°8
&fCo™
4111 |- 2RE3TAOY»AC SRES TS T3A0»A ~ NS T»E3 Tx3AY»f 4111 5,642,638.8 5,642,638.8 -
4112 |- &3-S TRAUY»A, 1ASUST3Y EASE&IeaUY»A ~ N3 wasT 4112 758,538.4 758,538.4 -
Tx3AY»A
4200 |1.2 12é&20acAlasuUesk 21 2a620gU°sk X 31,299,750.5 31,299,750.5 -
0°Peg” °da00
3 ATasu
4210 | p25a002T2T=2U 12Eé&°56 X 7,945,457.0 7,945,457.0 -
ERe
4212 |- %Y»f-»0CT 1363(a0AlasYY»fi 4212 311,514.1 311,514.1 -
4213 |- TaU&sY3t 1=2é3{a0AlaoYY»h 4213 7,127,848.9 7,127,848.9 -
4214 |- T3&C 1=363(40Al40YY»h 4214 231,712.3 231,712.3 -
4215 |- 2430ai3-A3T3Y I3Eeé»f 4215 166,104.4 166,104.4 -
4216 |- T&lUC " e3AUS TaRaUY»AC TSA0ST3ta0Ala0Y 4216 108,277.3 108,277.3 -
4220 | Tas1acdasdUesE @i bde220asAlasuUuesk X 68,548.0 68,548.0 -
12Eé°5
afCo™
4221 |- U»A0GY -afTas0asuy»f 4221 48.0 48.0 -
4222 |- 2 wr=3e3NU=3YI3Y -anT4i0a0Y»AC - TAT 1=2Eéx»h 4222 68,500.0 68,500.0 -
4230 | a20@20296=20£U0U 20k 12820a0A0a000°8L OCég X 17,671,708.1 17,671,708.1 -
“°5a60
&fCo™
4231 |- i 3AEST3Y 1363(a0AlasYY»A 4231 3,254.1 3,254.1 -
4232 |- 30=3T31-53(CY 1=363(40Al46YY»h 4232 37,341.0 37,341.0 -
4233 |- 2RE3W3T3%UC UBEYS-CU3T3Y 13- 3603Y 4233 4,510.0 4,510.0 -
1363[a0Ala5YY»fi
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=t ATai0

[&0c» 1 3ICY ISEE»AC TY T »E3-CH3I3Y AV A
[ P A ngstin e S NN AY13(»YA —
= 1383734 U3Y NAaL T3 TV»A¢ 3V T3VaUY»iA > T3fEST3Y ase» | yavrsicy wai»
1 2 3 4 5 6
4234 |- T>O>T3WT3T3Y 1363(40Al45YY»fi 4234 62,212.1 62,212.1
4235 |- T3E3T3a3T3Y 1363(40Al40YY»h 4235 10,000.0 10,000.0
4237 |- U»AT3[=064003T3Y I3Eé»ii 4237 132,181.9 132,181.9
4238 |- AYIN=3Ya6A uvailAc 3l 1=63{a0AlasyY»h 4239 17,422,209.0 17,422,209.0
4240 |20k @2eU29£T2T20 12&20a0A0a0UU°8E OCen X 83,193.4 83,193.4
“o5a60
&RCo
4241 |- @36Y=3-CW3T3Y 1363(40Al40YY»h 4241 83,193.4 83,193.4
4250 | AUA26AT UadaTasd @i azpa2lasd (1=3é63(asAlasyY» X 4,925241.1 4,925241.1
 YiaoA»i)
&RCo
4251 |- b»YU»AC " T3640l6Y»AC AYAS6CT Yana- 46U~ &=Na&=3VaiU 4251 4,647,816.6 4,647,816.6
4252 |- @»U»Y3Y»iC " 63AUSTaRaUY»AC AYAS6CT Yafia- a0 — 4252 277,424.5 277,424.5
a=N&=vail
4260 |UUabA°s X 605,602.9 605,602.9
&RCo
4261 |- TA=e»YIST3ICY YiaoA»h = N=- &8 4261 92,575.1 92,575.1
4264 |- TAi=Ye&ART3ICY YiaoA»h 4264 249,950.8 249,950.8
4267 |- T»Y6=20=3(CY ~ N=YASICY 6YY1C YiadArh 4267 23,707.5 23,707.5
4268 |- D3TAT YAST3T3CY 3t ViasA»f 4269 239,369.5 239,369.5
4400 |1.4 éad” ek _£=20°s X 18,092,376.2 18,092,376.2
31 ATa0
4410 |éas” ek _£=20°8 a°12T120 (02020Us20£0) X 17,943,076.2 17,943,076.2
T2v.@2T°8420A0a000°84£0
aRCo
4411 |- &UECIC3Y»A 4 yOY3YE3T3Y &» w313y (N3U3Yu=i(cY) 4511 17,925,436.2 17,925,436.2
T3UUST»A&40AIA0YY»ACY
4412 |- €&UECIC3Y»A YCYSYEST3Y &» w313V (\2U3IVu=(CY) 4512 17,640.0 17,640.0
T3UUST»AA40AIA0YY»ACY
4420 |éas” ek _£=20°8 aa a°12T20 (4a b2g=200e=2UEU) X 149,300.0 149,300.0
T2v@2T°8420A0a000°64£0
&RCo
4421 |- 8ABPECIC3Y»A 43 &» I 3T3Y (4d N3U=3IYu3ICY) 44 4521 149,300.0 149,300.0
YCY3Ye3T3Y T3%UST»AA40AIA0YY»ACY
4500 |1.5 _&82@2pUasples X 939,648.6 939,648.6
31 Ata0
4530 |AUAZOAT _52@2pUaspUes a°12T120 p2Ti21£ 20k X 939,648.6 939,648.6
2128 _2TU°8£U
&RCo
4531 |- AYA=6CT 1A3U3/YAANY»A &»3T3Y " NSUSIVUY»AC 4d 4637 23,591.0 23,591.0
3¢ TASICY T3%UST»AAA0AIAYY»ACY
4532 |- AYA=6CT 1A3U3RYAANY»A &»1r3T3Y ~ SU=Vu3(cY 4638 66,781.6 66,781.6

3¢ TASICY T3%UST»AAA0AIAYY»ACY
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=t ATai0

[&0c» 1 3ICY ISEE»AC TY T »E3-CH3I3Y AV A
c = o M S S ok NN AYL3U»YA ———
= 1383734 U3Y NAaL T3 TV»A¢ 3V T3VaUY»iA > T3fEST3Y ase» | yavrsicy wai»
1 2 3 4 5 6
4533 | - 2[f AYA=6CT 1A3U=RYARANY»A 4639 849,276.0 849,276.0 -
4600 |1.6 éa0£2E2T20 Uazétuos ©i X 1,510,162.6 1,510,162.6 -
TeUézAap2TU°s
3 ATas0
4630 |€ao0k=2E2T2U uNUaAU=U | 82@=T=U X 1,510,162.6 1,510,162.6 -
2512p20Ta0A02g" Ua2éeTuos ~Uatecko)
ERe
4634 |- 2 YASewY»i plaic»Co 4729 1,510,162.6 1,510,162.6 -
4700 |1.7 2UE 12Eé°5 X 18,958,114.1 19,966,415.4 -
3 ATas0
4710 | U1 AE82TTa0A0ac0Ues aa 12621262120 X 1,129,062.5 1,129,062.5 -
(p28252T2T20) T2V@2Tedaa0AlaUUCSEU
afCo™
4712 |- UTCA=rTasAlasYY»A 3k 8=RaslA al»r=ay1ad 4819 1,129,062.5 1,129,062.5 -
T3UUST»AAA&0AIAYY»ACY
4720 |D28T°6, 426T2_£d 10280°8 ©1 TasUA°s, asals X 115,577.2 115,577.2 -
1282128020 7267 8 @2128_ 2TU°sL Tad@ko
TEd=2&T a0 2U gAoU=200 UT2T020"
ERe
4723 |- A3AT31CA Tx3AY»f 4823 115,577.2 115,577.2 -
4760 |2UE T2Eé°s X 10,755,652.9 10,755,652.9 -
&fCo™
4761 |- 2 I3Eé»i 4861 10,755,652.9 10,755,652.9 -
4770 | 42paoéT=2UEU gE=aol°d X 6,957,821.5 7,966,122.8 -
&fCo™
4771 | - &3R8 =3ICY UCcasY»h 4891 6,957,821.5 6,957,821.5 -
4772 | 3 ATasU" N=3U3IYUC plade»C T3AEZT3Y U=eC &=3Naer3(cY X - 1,008,301.3 -
YaY10o yayY1=3(cy U=e T3 w3140 N3 T36400Y»AA
5000 |~.aa ugU=20é2T=20 2TTEiU°sL f1ai X 6,262,688.7 - 6,262,688.7
12Eé°s
3 ATasu
5100 | 1.1 pAGU=2T=20U gr=aoU°d X 6,157,688.7 - 6,157,688.7
3 ATasu
5110 |p2Ug©s ©i bAUAAUAUUCS X 5,180,523.6 - 5,180,523.6
ERe
5112 |- b»YU»fiC = RCYADAIAIYY»AC T36450460 5112 1,185,000.0 - 1,185,000.0
5113 |- b»YU»AiC ~ BCYAAIASYY»AC TSACT3E I»A=3Yana- aU 5113 3,995,523.6 - 3,995,523.6
5120 |@°g°U20°s i &28g21adaigus X 746,245.1 - 746,245.1
ERe
5121 |- TASYEA4R3(CY 63AU=TanaUY»A 5121 22,200.0 - 22,200.0
5122 |- I3a3T3Y 63A0=TaRaUY»A 5122 104,053.0 - 104,053.0
5123 |- 2t U»0»Y3Y»A —~ 63A03 TanaiUY»i 5129 619,992.1 - 619,992.1
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E% % 1:-U'-aépg)l'i"'-ﬁ U%YE'-IY Ngi?r;?i;gﬁ:;)ﬁY |’3CYIé6L‘JIY»\r":A NN AYESU»YA T=E=T=3Y plase» | yavr=icy pladc»
1 2 3 4 5 6
5130 |2Ut pEZU2T2U BAxaoUs X 230,920.0 - 230,920.0
afce
5132 |- &a YiasA=1=3Y NCUYST3Y UCcadY»fi 5132 220.0 - 220.0
5134 |- UZE=-13»13haT3T3Y [SEé»i 5134 230,700.0 - 230,700.0
5200 |1.2 42p25U°3 X 105,000.0 - 105,000.0
31 A4
5221 |- UlaoA»fi =~ A3/=-3Y»A 5221 105,000.0 - 105,000.0
6000 | 11. a4 uEU=20é2T20 2TTL1 UCBL £520a00K0 X (5,094,387.4) - (5,094,387.4)
PaiTe°d
31 A4
6100 |PEGU2T2U BE=a0UCSE £520200K0 BATECD X (850,000.0) - (850,000.0)
31 A4
6110 |20p=28A Taolsk £520200/E0 FATEOD 8111 (850,000.0) - (850,000.0)
6400 |428T2_8121 2TTET1UCBE £520200K0 X (4,244,387.4) - (4,244,387.4)
PaiTe°d
31 A4
6410 |Pa0K £520a00/E0 BAGTECd 8411 (4,244,387.4) - (4,244,387.4)
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a=N&=vail
- Z[E U»U»Y3Y»ii ~ 63A0S3 TanailY»h 5129 140,000.0 - 140,000.0
- UldoA»f ~ A== -3Y»h 5221 25,000.0 - 25,000.0

22




= “laie»WS(CY TSES»AC -anT=63T3Y 136313703y | o 3 ATasu

= [aill L N o~ D a pemen

c = % = u?'ACYY»nQ, EUp»fiC ™ 2=8»AC, CYdd»e Y= 3 = AV130»YA

,:g Z 3| E EB" plase»w3IcY I:?Eé»ﬁ(; WY T»E3-CI3T3Y Eﬁ = T3A8313Y pladc» | yayr=(CyY ulase»

a| = 12E313. U3V NALT2TY»AC 3V T2VAUT»AA =
1 (2|3 |4 5 6 7 8 9

14. 26C313Y u3YIC S¢31046A130u 726,973.6 726,973.6 -
CAZT13Y361al u=303a3igY A
»YAZIZ6400 1=Z1uY»AC ~ 13030¢ 13asy
B30 - 36U3Y Y»A1A46U3ICY TA=-AC CAS6U3Y
UCcd63640UY»i
- 2t YA Y»h pliadc»Co 4729 726,973.6 726,973.6 -

2455|04 | 5 | 5 |EaDAT3T383A3(CY ~ 3 TASYe&aAT 7,764,990.2 7,666,598.1 98,392.1
31 ATa0
1. I»A»E3T1Y»AC NCUY3YahAa - 46U 98,392.1 - 98,392.1
- 2 U»U»Y3Y»A " 83A0= TaRaUY»A 5129 98,392.1 - 98,392.1
2. OA3YC U» TAAAEFCT»YC SEEST3YUY»AC 2,741,581.4 2,741,581.4 -
I3yU3I»Adail (3T ICASIT3T
EQ 3%&’/7&74@(7??»[72
- BABUECLIC3Y»A 44 YCYBYEST3Y &»T3T3Y 4511 2,741,581.4 2,741,581.4 -
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2810|08| 1 | O |D3Y-E0C " 684nT¢ I363/adAlasyy»i 585,899.9 204,899.9 381,000.0
&RCo

281108 | 1 | 1 |D3Y-6WC = eQARWC 1=363{a0AlasYY»h 585,899.9 204,899.9 381,000.0
31 ATa0
1. 63403y UCca636460Y»AC 109,899.9 109,899.9 -
13303178400
- AY2R=Vas pYa&slAC 3 1=363(40A146YY»h 4239 109,899.9 109,899.9 -
2. D3Y-EUC -AWCY»AC ~ Hudé3l- CY»AC 424,000.0 43,000.0 381,000.0
136400400 40 3N&3Ya0U
- P»YU»AC " T2840l6Y»AC AYAS36CT Yana- a0 4251 3,000.0 3,000.0 -
a=N&=vail
- 2[f AYA=6CT 1A3U3RYAANY»A 4639 40,000.0 40,000.0 -
- b»YU»AC " BCYABAIAGYY»AC TSé45640U 5112 381,000.0 - 381,000.0
3. D> IBYT3NABE3AZIC 3N3 - 4A 1460 52,000.0 52,000.0 -
- AY1R=V45 pYa&slAC 3 1=363(40A146YY»h 4239 52,000.0 52,000.0 -

2820|08 | 2 | O |@B3TA0A3ICY [363a0AlaoYY»ii 2,753,125.2 2,303,125.2 450,000.0
&RCo

2821|108 2 | 1 |ASISASYY»A 452,291.2 452,291.2 -
31 ATa0
1. TASI3[3Y3(cY [363a0AlaoYY»i 452,291.2 452,291.2 -
- BABUECLIC3Y»A 44 YCYBYEST3Y &»T3T3Y 4511 452,291.2 452,291.2 -
(N=3U3YU=ICY) T3%UST»AAA0AIAGY Y»ACY

2822|108 | 2 | 2 |A=3Y-3A3YY»f ~ 64636A3NY»f 253,038.5 253,038.5 -
31 ATa0
1. A3Y-3[3Y3(cy [363a0Alaoyy»i = 253,038.5 253,038.5 -
- BAIPECLIC3Y»Ml 43 YCYSVEST3Y &»u3T3Y 4511 253,038.5 253,038.5 -
(N=3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY

2823 |08 | 2 | 3 |@R3TAMNAC WY»f, STaUUY»A, T»Y TAAYY»f 111,245.0 111,245.0 -
31 ATa0
1. D3U3Yo3igY UBZT40IAC ~ 3331 A303Y6¢ 111,245.0 111,245.0 -
I33BU31»A8400
- BABUECLIC3Y»A 44 YCYBYEST3Y &»T3T3Y 4511 111,245.0 111,245.0 -
(N=3U3YU=ICY) T3%UST»AAA0AIAGY Y»ACY

2824|108 | 2 | 4 |2 UB3TAAZICY T3S T»AAE0AIA0YY» 1,438,270.6 988,270.6 450,000.0

=t ATai0
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= ol “laie»WS(CY TSES»AC -anT=63T3Y 136313703y | o 3 ATasu
= = % = u?ACYY»ﬁQ, Epp»ﬁ(; T 13ExfC, CYiare Y3 3 = AV130»YA
o2 3| E Eﬂ plase» T SICY TSEE»AG 1Y 13 -Cor=T3Y 2= T35313Y plade» | yayr=(CY ulase»
a| = 12E313. U3V NALT2TY»AC 3V T2VAUT»AA =
1 (2|3 |4 5 6 7 8 9

1. OB3T40A3ICY UCcAd3640UY»AC 734,805.7 734,805.7 -
CAZT3Y3646U
- aliC  e3AUSB TaRaUY»AC TSA0ST3ta0Al40Y 4216 4,400.0 4,400.0 -
- AY1(3Vash uYaslAc 3k 1363(aAlasYY»fi 4239 264,505.7 264,505.7 -
- 2[f AYA=6CT 1A3U3RYAANY»A 4639 465,900.0 465,900.0 -
2. T»y13y3)3y313Y 3. 45 253,464.9 253,464.9 -
040031A40AI46YY»A
- @AIPECLIC3Y»Ml 43 YCY3VEST3Y &»u3T3Y 4511 253,464.9 253,464.9 -
(N=3U3YU=ICY) T3%UST»AAA0AIAGYY»ACY
3. T»Y13y3y3Y3[13Y 3|. 46 NCUY3Y4A4 - 46U 450,000.0 - 450,000.0
- b»YU»AC " RCYABAIAGYY»AC TSACTSE T»A3YaA4-40U | 5113 450,000.0 - 450,000.0

2825/ 08| 2 | 5 |2fi»eW 472,629.9 472,629.9 -
31 ATa0
1. CABABT3Ai»ETC ~ 83A3AI»E1C 109,794.3 109,794.3 -
N3U»f - Vi
- @40PECIC3Y»A 48 YCY3YEe3T3Y &» w313y 4511 109,794.3 109,794.3 -
(N=3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY
2. AST»A3I3Y Y»Al313646U0Y»A 362,835.6 362,835.6 -
- BAIPECLIC3Y»Ml 43 YCY3VEST3Y &»u3T3Y 4511 362,835.6 362,835.6 -
(N=3U3YU=ICY) T3%UST»AA4A0AIAGY Y »ACY

2827|108 | 2 | 7 |PAIRZAOBYY»AC  URSTAASICY SAA»UY»AC 25,650.0 25,650.0 -
»AST3Y - Yail —~ a3(a3vail
31 ATa0
1. DAGB3A0BYY»AC I»A3Yaria-ail "~ 25,650.0 25,650.0 -
a3Na3vaol
- AY2R=Vas pYa&slAC 3 1=363(40A146YY»h 4239 12,650.0 12,650.0 -
- P»YU»AC " T2640l6Y»AC AYAS36CT Yana- a0 4251 13,000.0 13,000.0 -
a=N&=vail

2830|08| 3 | 0 | @314 ~~ N»é4oe 13N304A1460Y»AC 36,000.0 36,000.0 -
N»83A0ZTU3Y ~ NA3T3A3154313Y
13631464146V Y»i
&RCo

2831|08 | 3 | 1 |D»éatew=¢=1CaN=04ar1aiUY»f 36,000.0 36,000.0 -
31 ATa0
1. 303038»T3A3YC SRE3T3Y0Y»AC 36,000.0 36,000.0 -
f4063u=vYail
- @36Y=3-CU3T3Y 1363{a0AlasYY»h 4241 36,000.0 36,000.0 -

2840|08| 4 | 0 | TA&Y3I3Y =~ N=63A=31313Y 3 31,325.0 31,325.0 -
36340446V Y»i
&RCo

31




= “laie»WS(CY TSES»AC -anT=63T3Y 136313703y | o 3 ATasu

= [l L U v Sn O s \empee

c = % = u?'ACYY»nQ,,E'Up»nC 380G, CYdare Y= 3 = AV130»YA

o2 3| E Eﬂ piade» W CY TSEE»AC WY T »E3-CH3T3Y 2= T35313Y plade» | yayr=(CY ulase»

a| =2 1363737 U3Y NAaL TSIV 3V T3Va50Y»iA =
1 (2|3 |4 5 6 7 8 9

2843 |08 | 4 | 3 |TRAYST3Y " (=263A3T3T3Y 3 1=63(40Ala5YY»A 31,325.0 31,325.0 -
31 ATa0
1. 2Y13U31640AI3Y ix3AY»f 31,325.0 31,325.0 -
- UTCA=T TasAlasyY»i 3l s=flasld al>r=ay1a 4819 31,325.0 31,325.0 -
T3UUST»AA40AIA0YY»ACY

2900(09|0 | O ToAabAlaU 28,592,638.1 26,676,138.1 1,916,500.0
31 ATa0

291009 | 1 | 0 |USBE314[46313Y ~ T3A313Y AYAN3Yaih 15,039,616.9 14,839,616.9 200,000.0
TAA&0AIAsY
&RCo

2911|109 | 1 | 1 |USE=314/463T3Y TAAaoAlasY 7,873,965.3 7,673,965.3 200,000.0
31 ATa0
1. USE318A46313Y 406406460 7,666,452.8 7,666,452.8 -
- AY13VasA uYaslAC 3k 1363(aAlasYY»fi 4239 1,600.0 1,600.0 -
- BABUECLIC3Y»A 44 YCYBYEST3Y &»T3T3Y 4511 7,664,852.8 7,664,852.8 -
(N=3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY
2. UBE=315/46313Y 406406U3Y A 200,000.0 - 200,000.0
I3BU3T»>A803Y N3U3A SYNAZA»B - 46/0C
O»éu u»Adol
- 2 U»U»Y3Y»A " 63A0= TaRaUY»A 5129 200,000.0 - 200,000.0
3. USE3147146313Y 1nAadAlacy 7,512.5 7,512.5 -
(B3TICAZTT3 EC334AA0AIA0Y V> )
- AY2R=Vasn pYa&slAC 3 1=363(40A146YY»h 4239 7,512.5 7,512.5 -

2912|109 | 1 | 2 |T3AAST3Y AYIN3VYaoA THA&sAIASY 7,165,651.6 7,165,651.6 -
31 ATa0
1. D3YASTAASI3Y 466460400 6,356,307.6 6,356,307.6 -
- AY1(3VasA uYaslAC 3 1363(aAlasYY»fi 4239 6,356,307.6 6,356,307.6 -
2. D371 461 1544040467 184,274.2 184,274.2 -
- AY2R=V45 pYa&slAC 3 1=363(40A146YY»h 4239 184,274.2 184,274.2 -
3. U»A36313Y InAdoAlay 625,069.8 625,069.8 -
- AY2R=V45n pYa&slAC 3 1=363(40A146YY»h 4239 625,069.8 625,069.8 -

2920|109 | 2 | O |@CeY3T3A- AYIN3YAdA TAAEAIAGY 9,069,256.1 9,069,256.1 -
&RCo

2921|109 | 2 | 1 |BCUY=T3Y AYAN=Yadn ThAASAlAGY 8,816,454.2 8,816,454.2 -

=t ATai0
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- |2l d “ladg»wSICY TSEE»AG -aMT=€3T3Y 13¢3T30.03Y | 3 ATasl

Sz 5| 3 2 HSAGYYHAC, BUISAG ™ 18xAG, CYadng V= 2z A=A o o

-:.% Z 3| E Eﬂ plade» =LY 1SEE»AC Y 1»E=-Cr=313Y - = 13033 13Y plade» | yaY13(CY plasc»

a| = 136313 U3Y NALTSIV»AC 3YT3VaiUY»hA =
1 |23 |4 5 6 7 8 9

1. D3YASTAASI3Y 406406460 7,967,677.7 7,967,677.7 -
- AY2R=V4s pYa&slAC 3 1=363(40A146YY»h 4239 7,967,677.7 7,967,677.7 -
2. D37 401 17Ad6AIa6Y 198,449.2 198,449.2 -
- AY2R=V45m pYaslAc 3 1=363(40A146YY»h 4239 198,449.2 198,449.2 -
3. U»A36313Y 1hA4ohlacy 639,893.6 639,893.6 -
- Av1fi=vasn pyaslAc 3 1=363(asAlasy Vi 4239 639,893.6 639,893.6 -
4. CA»T4/=3Y 17AdcAlasy 10,433.7 10,433.7 -
- AY1R=Va5 pYa&slAC 3 1=363(40A146YY»h 4239 10,433.7 10,433.7 -

2922109 | 2 | 2 |@CeY=3T=3d- (FACT) AVIN=Vasn TrA&dAIASY 252,801.9 252,801.9 -
=1 A4
1. D3YASIAAZT3Y 406406460 205,165.9 205,165.9 -
- AY2R=Vasn pYa&slAC 3 1=363(40A146YY»h 4239 205,165.9 205,165.9 -
2. D37 461 17A46AIa6Y 30,927.1 30,927.1 -
- AY2R=Vasn pYa&slAC 3 1=363(40A146YY»h 4239 30,927.1 30,927.1 -
3. U»A=36313Y 1AdiAlasy 1,235.3 1,235.3 -
- AY1(3VasA uYaslAC 3l 1363(aAlasYY»fi 4239 1,235.3 1,235.3 -
4. CA»T4/=3Y 17AdcAlasy 15,473.6 15,473.6 -
- AY2R=Vasn pYa&slAC 3 1=363(40A146YY»h 4239 15,473.6 15,473.6 -

2950|109 | 5 | 0 |A&W USI3A131Y»A¢ 413631311 - 140 3,512,438.3 2,732,438.3 780,000.0
1iA&sAiaey
afigo"

2951|109 | 5 | 1 |2AW31ARA6ST3Y 136 WC3A3TaoAla0Y 3,512,438.3 2,732,438.3 780,000.0
=1 A4
1. 2ZAT318A46313Y 1367 C3A3140Al46Y 2,521,749.1 2,521,749.1 -
- AY13VasA uYaslAC 3k 1363(aAlasYY»fi 4239 56,688.1 56,688.1 -
-Néépué§1C?'Y,>>rj_éé )?CY_?Y(‘—:’-?"I?Y ég»‘u'é’l‘e-Y 4511 2,465,061.0 2,465,061.0 -
(R=3USYU=ICY) TS T»AAAAIAY Y»ACY
2. 2ZAT314A46313Y 133U 1»AA40AI40YY»1C 740,000.0 - 740,000.0
NCUY3YaA4- 46U * I»A3Yaia - 460
- b»YU»AC " RCYADAIAGYY»AC TSACT St T»A3YaA4-40U | 5113 740,000.0 - 740,000.0
3. §p314u Tacal3Y} InA3N303¢ch 4a>T- 7,980.2 7,980.2 -
a0l 3314046313y 1361 C3A3140A13Y
3303 1»A8400 (A3 1 iCASTT=1
EC3YARAGAIAGY Y»H)
- AY1(3VasA uYaslAC 3k 1363(aAlasYY»fi 4239 7,980.2 7,980.2 -
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= “laie»WS(CY TSES»AC -anT=63T3Y 136313703y | o 3 ATasu

= [l L U v Sn O s \empee

c = % = u?'ACYY»nQ, EUp»fiC ™ 2=8»AC, CYdd»e Y= 3 = AV130»YA

,:g Z 3| E EB" plase»w3IcY I:?Eé»ﬁ(; WY T»E3-CI3T3Y Eﬁ = T3A8313Y pladc» | yayr=(CyY ulase»

a| = 12E313. U3V NALT2TY»AC 3V T2VAUT»AA =
1 (2|3 |4 5 6 7 8 9

4. OABABUSI3Y ~ SAT»é ¢ 1ARA6Y»Ad0U 162,709.0 162,709.0 -
3Y.- 3oy F3A3CY ~ =403UcY Vi3 - 3A3YY»AC
- [47 406406460
- AY1R=V45 pYa&slAC 3 1=363(40A146YY»h 4239 162,709.0 162,709.0 -
5. 2ZAT318046313Y 13403 1»A840AI40YY»AC 80,000.0 40,000.0 40,000.0
N3U3A SYNASBA»BT - 4000C O»éu u»idsl
- UTCA=T TasAlasyY»i 3l s=flasld al>r=ay1a 4819 40,000.0 40,000.0 -
T3UUST»AA40AIA0YY»ACY
- 2[f U»U»Y3Y»ii " 63A03 TanaUY»h 5129 40,000.0 - 40,000.0

2960|09 | 6 | 0 | TAA4GAIZYA TASUS17T40 0A=Y13T 971,326.8 34,826.8 936,500.0
[ 36340440V Y»A
&RCo

2961 |09 | 6 | 1 | TAAAAISYA TASU=1ATA0 0A3Y1=3T 1363(40A140YY»A 971,326.8 34,826.8 936,500.0
31 ATa0
1. UBE3187/46313Y N36 131 40AI46YV»AC 552,000.0 2,000.0 550,000.0
NCUY3Y4i4 - 460~ i»A3Yaha - 46U
- b»YU»AC  T3640l6Y»AC AYAS36CT Yana-asl 4251 2,000.0 2,000.0 -
a=N&=vail
- b»YU»AC ~ RCYABAIAGYY»AC TSACTSE T»A3YaA4-40U | 5113 550,000.0 - 550,000.0
2. . 8A4A63I13YY»AC GFCUAC313Y»AC ~ 3 17,564.0 17,564.0 -
UCcd63640UY»AC 135U31»A846U
- 2[f AYA=6CT 1A3U3RYAANY»A 4639 17,564.0 17,564.0 -
3. E40C3H38»6 BYSE3NAT 3B3I»ATY»ACY 659.6 659.6 -
3Yix3fi 1363 fju»Adi S&3Narail
(BT ICAZTT3I EC34%3740AI40YY»1)
- 2[f AYA=6CT 1A3U3RYAANY»A 4639 659.6 659.6 -
4. _ BA46Y»AC YaAa-aol ~~ NCUY3Yanha - 460 386,500.0 - 386,500.0
- b»YU»AC ~ RCYADAIAGYY»AC TSACT St T»A3YaA4-40U | 5113 386,500.0 - 386,500.0
5. 2U»ET3i4AU3Y UCcadai an313ianail 14,603.2 14,603.2 -
BT 3631 406400CEY»ACY N3 inE3Ix3AY»AC
TA3U327400 (A3 TICAZIT=1
EQ 3%&’/7&74@(7??»[72
- AY1(3VasA uYaslAC 3l 1363(aAlasYY»fi 4239 14,603.2 14,603.2 -

3000(10| 0 | O €a0k=2E2T20 a2pT1a=20a0Alacy 1,874,811.8 1,874,811.8 -
31 ATa0

3070(10| 7 | O |846C3E313Y N3 71461 SATAYA0AIA0YY»i (SIF 670,014.4 670,014.4 -
13»ACY 4831T3Y40)
&RCo

3071|10| 7 | 1 |@40C3E3T3Y N=wasT SAwAaYaiAlasyY»h (3 670,014.4 670,014.4 -

13¢»ACY 383 T3Y40)

SENSE)
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= “laie»WS(CY TSES»AC -anT=63T3Y 136313703y | o 3 ATasu

= [l L U v Sn O s \empee

= = = 93 o UBACYY»AC, EUU»AC =™ 13E»fC, CYaare Y= 3 AV A

E= T 23 o T IRy T e = = AY1I3U»YA e e

o Z 2| E E pUao(;_»_ ] 3U(;Y !?;-Ee»n(;' 1 Y »e?:--(; ) 3!?Y ) == 13033 13Y padc» | yaYr3(CY pladc»

a| = 1363T37-U3Y NALTSTY»AC Y T3YaUY»AA =
1 (2|34 5 6 7 8 9
1. 46C3#38»8 3YSE3NAT AYT3YCUY»iAC 6,507.0 6,507.0
»A»E3Y»AC N3Y - 81 C IBBU31»A8400
- aliC  e3AUSB TaRaUY»AC TSA0ST3ta0Al40Y 4216 2,977.0 2,977.0
- AY2R=V45 pYa&slAC 3 1=363(40A146YY»h 4239 2,180.0 2,180.0
- 2[f AYA=6CT 1A3U3RYAANY»A 4639 1,350.0 1,350.0
2. D3A3Y37 440Y»640 3Y03Y6 29,965.5 29,965.5
E40C3E386 SYSE3NAT AYH3YCOY»AcC
N3U3A Na603A1314A46AI3Y 13403 1»A&400
- AY2R=V45m pYa&slAC 3 1=363(40A146YY»h 4239 29,965.5 29,965.5
3. 840C3t38»6 3Y3E3NAT AYT3YCUY»Acy 389,141.9 389,141.9
VAYSI3Y " NCBSWSIC Of»AcY S¢31640Ala6Y
- aluC  e3AUSB TaRaUY»AC TSAOST3ta0Al40Y 4216 3,500.0 3,500.0
-D3WAT YASW213(CY 3 YidsA»h 4269 94,074.5 94,074.5
- 2[f AYA=6CT 1A3U3RYAANY»A 4639 199,702.4 199,702.4
- 2t YA Y»h pliadc»Co 4729 25,265.0 25,265.0
- UTCAS W Ta0AlaoYY»n 3l g=RNaold al»=&4Y140 4819 66,600.0 66,600.0
T3S T»A&A0AIATY Y»ACY
4. 84033876 SY3SE3NAT 3Y03Yo 217,900.0 217,900.0
c31640AI46Y

- aluC T e3AUS TaRaUY»AC TSA0ZT3ta0Al40Y 4216 4,320.0 4,320.0
- AY1(3VasA uYaslAC 3l 1363(aAlasYY»fi 4239 25,400.0 25,400.0
-D3WAT YASW213(CY 3 YidsA»h 4269 1,825.0 1,825.0
- 2[f AYA=6CT 1A3U3RYAANY»A 4639 21,600.0 21,600.0
- 2t YA&=3e W Y»h pliadc»Co 4729 35,000.0 35,000.0
- UTCA=T TasAlasyY»i 3l =flasld al>r=ay1a 4819 129,755.0 129,755.0
T3UUST»A&A&0AIA0YY»ACY
5. D3E3AZIZ13Y 1340318404140V Y»ACY 26,500.0 26,500.0
Sc31640Alasy
- UTCAS W Ta0AlaoYY»n Sl g=RNald al»1=&4Yy140 4819 26,500.0 26,500.0
T3S T»A&A0AIATY Y»ACY

3090(10| 9 | 0 | 846C3E3T3Y &3BUA3YAdAl46Y (3IF 1,204,797.4 1,204,797.4
13»ACY 4831T3Y40)
&RCo

3091| 10| 9 | 1 |@40C3E3T3Y A3RWASYAAIALY (S 136»ACY 364,189.4 364,189.4
4A3T1=2Y40)
31 ATa0
1. 840C3E313Y (- YAGAIZY [363IaAIacYY»Ac 364,189.4 364,189.4

- A 140Y»a6AI3Y 1330318400

(BT ICAZTT3I EC34%3740AI40YY»1)
- 2RE=T1A0Y»AC SRESTST3A0»A 4111 350,004.9 350,004.9

NS T»E3Tx3AY»ii
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= ol “laie»WS(CY TSES»AC -anT=63T3Y 136313703y | o 3 ATasu
= = % = u?ACYY»ﬁQ, Epp»ﬁ(; T 13ExfC, CYiare Y3 3 = AV130»YA
IZ.-FJ Z 3| EB" plase»w=Igy !:?Eé»ﬁ(;' tI'Y'I'»é?-C'I,'3'I::,3Y ) Eﬁ = T3A8313Y pladc» | yayr=(CyY ulase»
a| = 1363137 U3Y NATT3IV»AC SYT3YAUY»AA =
1 (2|34 5 6 7 8 9

- 3WY»A-»wCT 1263[a0AIa6YY»f 4212 5,214.0 5,214.0
- Tal&sY3t 1=3é3{a0AlasyY»h 4213 154.0 154.0
- T2AC 1363{a0AlasYY»h 4214 2,010.4 2,010.4
- aluC  e3AUSB TaRaUY»AC TSA0ZT3ta0Al40Y 4216 1,131.0 1,131.0
- U»AUCY - &fiT4i0460Y»f 4221 48.0 48.0
- @HU»YRY»AC 6303 TaRaiUY»A¢ AYA=6CT 4252 921.0 921.0
Yafia- &l a=N&=vail
- IAZE»YIST3ICY YiaoA»A ™ N=- 408w 4261 3,206.8 3,206.8
- TASYEAAA T 3ICY YiaoA»f 4264 1,096.4 1,096.4
- T»Y6303(CY ~ NSYASICY eYY1G YidoA» 4267 376.8 376.8
- A3A31CH Tx3AY»h 4823 26.1 26.1

3092| 10 | 9 | 2 |8A6C3EST3Y 43FWASYAIAIBYA TA3US1AT40 840,608.0 840,608.0
0A=Y13T [=3é63]a0AlaoYY»i (Sl 136»ACY
4A3T1=2Y40)
31 ATa0
1. &a»1313Y NCUYSATY»i¢ = 679,824.0 679,824.0
I'33U31»A840A180Y Y»AC SRE3 T A0V»AC
E40C3E313Y +3A»A4T SE3NAT40U
(BT ICAZTT3I EC34%4740AI40YY»1i)
- 2t Y3 Y»h pliadc»Co 4729 679,824.0 679,824.0
2. 2640¢cacAI3Y 283N4T= - AdoAl46Y 160,784.0 160,784.0
- 283413 -A3T3Y I3Eé»A 4215 160,784.0 160,784.0
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U=0A46U0
- Tal&sY3t 1=363{a0AlasyY»h 4213 20,000.0 20,000.0 -
- b»YU»AC * BCYASAIAGYY»AC TSACT3E I»Ai=Vafa-4U | 5113 30,000.0 - 30,000.0
2. 20u=30400»AC 68363ATU3Y 352,136.5 352,136.5 -
BCYSAZAZT3Y 30uC 71»03+4EU03Y
1363464146 Y»hA
- Tal&sY3t 1=3é3{a0Alasy Y 4213 352,136.5 352,136.5 -

2530|05 | 3 | 0 | PAc3T= UCec3T3IAC S0TATU3Y 10 3031 38,683.0 38,683.0 -
&RCo

2531/ 05| 3 | 1 |4x¢ 30wawU=3Y 1»0 &=3u=A 38,683.0 38,683.0 -
31 ATa0
1. I»a»AC NaGY»AC USaAdsu 38,683.0 38,683.0 -
- Tal&sY3t 1=3é3{a0Alasyv»h 4213 38,683.0 38,683.0 -

2560/ 05| 6 | 0 |bAc3T= UCc3 T3¢ 381 A3Ya0AlaoY (3IF 511,900.0 431,900.0 80,000.0
13»ACY 4831T3Y40)
&RCo

2561|05| 6 | 1 |PAcZT= UCc3T3IAC AR W ASYa0Al4Y (S 13eé»AcY 511,900.0 431,900.0 80,000.0
4A3T1=2Y40)
31 ATa0
1. T3Y34 T3A3[0Y»A¢ NgUya = 80,000.0 80,000.0 -
a3Na3vaoU
- Tal&sY3t 1=363{a0AlasyY»h 4213 20,000.0 20,000.0 -
-P3TA YAST3T3(CY 3 ViasA»h 4269 20,000.0 20,000.0 -
- AYA=6CT 1A=U3RYAANY»A &»nr313Y 4638 40,000.0 40,000.0 -
N=20=2Vo=CY =3¢ wA=ICY T3%UST»AAA0AIAYY»ACY
4. ECH3U3-»AC a»01400 ~ I3013837400 311,900.0 231,900.0 80,000.0
-D3TA YAST3T3(CY 3 ViasA»h 4269 18,000.0 18,000.0 -
- UTCA=T TasAlasyy»i 3l s=flasld al>r=ay1a 4819 213,900.0 213,900.0 -
T3UUST»AA40AIA0YY»ACY
- UldoA»f ~ A== -3Y»h 5221 80,000.0 - 80,000.0
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2600

06

~02T252020£0 PEU252520AU00 ©1
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5,000.0
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75,000.0
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1. £YQY313U 136406 Y»A¢ u3y146U0

5,000.0

5,000.0

- 2[f AYA=6CT 1A3U3RYAANY»A

4639

5,000.0

5,000.0
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70,000.0

70,000.0

- P»YU»AG * RCYATAIASYY»AC TSé45640U
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70,000.0

70,000.0
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3c31640AI3Y TA3-CA (A3 ICAZTT3I

£ BUAAA0AIAGYY»Fi)

3,195,364.4

3,195,364.4

- 2[f [=Eé»h

4861

3,195,364.4

3,195,364.4

2. I»A3136400U3Y ~~ %3A-36U3Y

» A& 313Y u3YIC 3¢c31640A130u
CA3TI3Y36i40 ©A3Y¢
cABUBT3I3BABAU3Y u3Birt3i03Y IA3-Ci
(B3TICAZTT3I EC334AA0AIA0Y V> )

390,521.6

390,521.6

- 2[f [=Eé»h

4861

390,521.6

390,521.6

3. OCTAAE3I3Y UC40AI3Y N3A""3Y46AI3Y
Y»A1A4603ICY TA3-AC 3¢c31640A130u
CA3TI3Y36i40 @A "3YC
cABUBT3I3A3AU3Y u3Art3iU3Y
1A3U3RYEAN3ICY TAZ3-CA (A3 T ICAZTT3I

£ BUAAE0AIAGYY»F)

994,296.6

994,296.6

- 2[f [=Eé»h

4861

994,296.6

994,296.6

4. CTAZE3T3Y Y»AZAaiU3IcY u=3YI¢
3c31640A130u CAST3Y36i40 ©A3YC
cABUBT3I3BA3BAU3Y u3it3i03Y IA3-Ci
(B3TTCABIT31 EC334AE0AI40Y Y»A)

390,521.6

390,521.6
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£ BUAAE0AIAGYY»F)

150,943.8

150,943.8

- 2[f [=Eé»h

4861

150,943.8

150,943.8
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06| 4

6E046Y»AC F4063 Tanaoy

2,361,043.8

2,361,043.8
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06| 4
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2,361,043.8

2,361,043.8

=t ATai0

2. 2AT30CY L4663 4A40AI3Y 63Y6¢C
B3N3-4AIU3Y ~ §3N&3YU3Y
BRE3T3YuY»i

2,361,043.8

2,361,043.8

- 840PECIC3Y»i 43 YCY3Ye3T3Y ar» 1313y
(N=3U3YU=ICY) T3%UST»AAA0AIAY Y »ACY

4511

2,361,043.8

2,361,043.8

2650

06| 5

TYSISASYICY BOYSASAAAISY  TaU40YSE
I363a6AlasYY»n¢ - IAT N> 13441313y -
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20,000.0

20,000.0

anco’
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06| 5
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20,000.0

20,000.0

SENSE)

1. b»Yu»AC " BCYE6AIA6YY»AC N» 13441 U3Y
BRE3T3YuY»i

20,000.0

20,000.0

- USE3- I3 T3RT3T3Y 1SEé»i

5134

20,000.0

20,000.0

2660

06| 6

TYSISASYICY BOYSASAAAIBY  TaU40Y3E
T36340AlacYY»i (3lF 136»ACY 44311T3Y4a0)

870,281.6

647,281.6

223,000.0
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“YST2ASY3(CY RCYSASA&AIBY — Talasy3t
1=3¢3a0AlasYY»fA (3l 13é»ACY 3831 T3Y40)

870,281.6

647,281.6

223,000.0
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3. 3I3cY TBA3I0Y»AC
E303NA383A31Y»A¢ NCUY3YAA4 - 46U &6
a3NE3vYa00

358,000.0

225,000.0

133,000.0

- P»YU»AC " T2640l6Y»AC AYAS6CT Yana- a0
azla=val

4251

25,000.0

25,000.0

- UTCA=T TasAlasyY»i 3l =flasld al>r=ay1a
T3UUST»A&4&0AIA0YY»ACY

4819

200,000.0

200,000.0

- P»YU»AG * RCYAGAIASYY»AC TSé45640U

5112

108,000.0

108,000.0
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o2 3| E Eﬂ plase» T SICY TSEE»AG 1Y 13 -Cor=T3Y 2= T35313Y plade» | yayr=(CY ulase»
a| =2 1363737 U3Y NAaL TSIV 3V T3Va50Y»iA =
1 (2|34 5 6 7 8 9

- b»YU»AC ~ BCYASAIAGYY»AC TSACT3E I»Ai=Vafa-4U | 5113 25,000.0 - 25,000.0
4. “3BU3uY3I3A3Y B YOr»AC u3i» 13- U3Y 50,000.0 10,000.0 40,000.0
3 BRE3T3YY»i
- P»YU»fiC * T3640l6Y»AC AYASGCT Yafia- 43U - 4251 10,000.0 10,000.0 -
a=N&=vail
- b»YU»AC * BCYASAIASYY»AC TSACT3E I»i=Vafa-aU | 5113 40,000.0 - 40,000.0
5. @A3ICY 13640l6Y»AC 83N= - 4ilaiU 325,500.0 325,500.0 -
a3Na3vaoU
- 2 I3Eé»h 4861 325,500.0 325,500.0 -
6. T3A63/31Y»AC E3NE&3Y400 26,781.6 26,781.6 -
- AYA=6CT 1A=U3RYAANY»A &»nr313Y 4638 26,781.6 26,781.6 -
N=202Vo=CY =3¢ wA=ICY T3%UST»AAA0AIAYY»ACY
7. T3U3A3Y640UY»AC ~~ 3IF BCYAGAIAGY Y»AC 60,000.0 60,000.0 -
I»A3Yan4-400 "~ - 40Y33p3A1460
- P»YU»AG " T36406Y»AC AYA=6CT Yafia- aiU 4251 60,000.0 60,000.0 -
a=N&=vail
8. TA3A3IcY 8378 - 30uY»Ac Yaha - a6l 50,000.0 - 50,000.0
- b»YU»AC ~ BCYASAIAGYY»AC TSACT3E I»Ai=Vafa-4U | 5113 50,000.0 - 50,000.0

2700(07|0 | O 2gadz=2a2pacAlasy 293,500.0 12,000.0 281,500.0
31 ATa0

271007 | 1 | O | “ABI=3TI3Y S&A3Y0Y»A, 63Au»A 71,500.0 - 71,500.0
E3A0374A400Y»A
&RCo

2711|107 | 1 | 1 | _»0=-4AT3T3Y S&AA3YOY»A 71,500.0 - 71,500.0
31 ATa0
1. 2640c383N313Y I3BU31>A840AI46Y Y»AC 71,500.0 - 71,500.0
N303A uyABIZT3Y 6303 4A40UY»AC
O»éuu»Adol
- 2 U»U»Y3Y»A " 63A0= TaRaUY»A 5129 71,500.0 - 71,500.0

2760|107 | 6 | 0 | 2640¢c3&3NacAlasy (3IF 136»AcY 222,000.0 12,000.0 210,000.0
483113Y40)
&RCo

2761/ 07| 6 | 1 |2640c=3A3N=T3Y NSASTCo 1=3¢3a0AlasYY»A 222,000.0 12,000.0 210,000.0
13- firf
31 ATa0
1. 2640c383N313Y Qui» TTY»AC 210,000.0 - 210,000.0
NeuY=Yana - 46U
- b»YU»AC ~ BCYASAIAGYY»AC TSACT3E I»Ai=Vafa-4U | 5113 210,000.0 - 210,000.0
2. Ar3A3U3 L0 N» T34 T 40AI40YY»AC 12,000.0 12,000.0 -
CAZT3Y3646U
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Ez 5 3 =2 HSAGYY»AC, EUPAC ~~ 138xAC, CYadne Y= 3 > AV12UsTA

o2 3| E Eﬂ plase» T SICY TSEE»AG 1Y 13 -Cor=T3Y 2= T35313Y plade» | yayr=(CY ulase»

a| = 12E313. U3V NALT2TY»AC 3V T2VAUT»AA =
1 (2|34 5 6 7 8 9

- @36Y=3-CU3T3Y 1363{a0AlasYV»h 4241 12,000.0 12,000.0 -

2800/08| 0 | O P20 £eT, @p2TaolA i Taal 2,647,776.0 1,856,776.0 791,000.0
31 ATa0

281008 | 1 | O |A3Y-EU¢ ~ ER4ATC I36340AI46YY»A 490,100.0 149,100.0 341,000.0
&RCo

2811|108 | 1 | 1 |[D3Y-&WwC ~ eAaNWC I363(40Al40YY»h 490,100.0 149,100.0 341,000.0
31 ATa0
1. 68401 3IgY UCca636460Y»AC 57,100.0 57,100.0 -
I3BU31>»A8400
- AY1R=V45 pYa&slAC 3 1=363(40A146YY»h 4239 57,100.0 57,100.0 -
2. D3Y-6WC -AWCY»AC ~ Hudé3|- CY»i¢ 381,000.0 40,000.0 341,000.0
136400400 40 3N&3Ya0U
- 2[f AYA=6CT 1A3U3RYAANY»A 4639 40,000.0 40,000.0 -
- b»YU»AC " BCYABAIAGYY»AC T3é45640U 5112 341,000.0 - 341,000.0
3. P» [BYT3NABE3A3IC B3N3 - 4AT460 52,000.0 52,000.0 -
- AY2R=Vasn pYa&slAC 3 1=363(40A146YY»h 4239 52,000.0 52,000.0 -

2820|108 | 2 | 0 |@B3T40A3ICY [3E3A0AIAGY Y»ii 2,090,351.0 1,640,351.0 450,000.0
&RCo

2821/08| 2 | 1 |AZ13AZYY»A 184,489.5 184,489.5 -
31 ATa0
1. TASI3[3Y3(cY [363a0AlaoYY»i 184,489.5 184,489.5 -
- @AIPECLIC3Y»Ml 43 YCY3VEST3Y &»u3T3Y 4511 184,489.5 184,489.5 -
(N=3U3YU=ICY) T3%UST»AAA0AIAGY Y»ACY

2822|08| 2 | 2 |A3Y-3A3YY»h ~ 640626i3NY»i 253,038.5 253,038.5 -
31 ATa0
1. A3Y-3A3Y3(cy [363a0Alaoyy»i = 253,038.5 253,038.5 -
- BAIPECLIC3Y»Ml 43 YCY3VEST3Y &»u3T3Y 4511 253,038.5 253,038.5 -
(N=3U3YU=ICY) T3%UST»AA4A0AIAGY Y»ACY

2823/ 08| 2 | 3 |@R2TAIAC WY»A, STAUUY»A, T»YTRAYY»A 11,716.2 11,716.2 -
31 ATa0
1. D3U3Yo3igY UBZTE0IAC ~ 3331 A303Y6¢ 11,716.2 11,716.2 -
I33BU31>»A8400
- BABPECLIC3Y»A 44 YCYBYEST3Y &»T3T3Y 4511 11,716.2 11,716.2 -
(N=3U3YU=ICY) T3UUST»AA4A0AIAGY Y »ACY

2824108 | 2 | 4 |2l URSTAAZICY T3BUST»AA4&0AIATYY»A 1,169,364.9 719,364.9 450,000.0
31 ATa0
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o 2 3| § 2 Hiade» W=ICY TSEE»AC WY w»e=-Ci=T3Y 2= TSAEST3Y Wase» | yavr3igY plade»

a| = 12E313. U3V NALT2TY»AC 3V T2VAUT»AA =
1 (2|34 5 6 7 8 9

1. DB3TA0A3ICY UCcAd3640UY»AC 465,900.0 465,900.0 -
CAZT3Y3646U
- 2[f AYA=6CT 1A3U3RYAANY»A 4639 465,900.0 465,900.0 -
2. T»y13y3y3y313Y 3. 45 253,464.9 253,464.9 -
040031A40AI46YY»A
- @AIPECLIC3Y»Ml 43 YCY3VEST3Y &»u3T3Y 4511 253,464.9 253,464.9 -
(N=3U3{YU=ICY) T3UUST»AAA0AIAGY Y»ACY
3. T»Y13Yy3y3Y3[13Y 3|. 46 NCUY3Y4A4 - 46U 450,000.0 - 450,000.0
- b»YU»AC * BCYASAIAGYY»AC TSACT3E I»Ai=Vafa-4U | 5113 450,000.0 - 450,000.0

2825/08| 2 | 5 |2AT»EW 461,741.9 461,741.9 -
31 ATa0
1. CA3ABU3AIMETC ~ E3A3AI»ETC 98,906.3 98,906.3 -
N3Ux»A - Y»i
- BAIPECLIC3Y»Ml 43 YCYSVEST3Y &»u3T3Y 4511 98,906.3 98,906.3 -
(N=3U3YU=ICY) T3%UST»AAA0AIAGY Y »ACY
2. AST»A3I3Y Y»Al3I3646U0Y»A 362,835.6 362,835.6 -
- BAIPECLIC3Y»Ml 43 YCY3VEST3Y &»u3T3Y 4511 362,835.6 362,835.6 -
(N=3U3YU=ICY) T3%UST»AA4A0AIAGY Y»ACY

2827|108 | 2 | 7 |DaR3A03YY»AC —~ URSTAIAZICY SAA»UY»AC 10,000.0 10,000.0 -
M»A3T3Y - Yail ~ a3Na3vail
31 ATa0
1. DAGB3A0ZYY»AC I»A3Yaia-dil "~ 10,000.0 10,000.0 -
a3Na3vaoU
- P»YU»AC " T2840l6Y»AC AYAS6CT Yana- aU 4251 10,000.0 10,000.0 -
a=N&=vail

2830|108 | 3 | 0 |@31¢4 "~ N»édie I3N304A1400Y»AC 36,000.0 36,000.0 -
N»é3A021U3Y ~ NA3T3A315313Y
13631464146V Y»i
&RCo

2831|08| 3 | 1 |P»éaiewr=é31CaN=0an1460Y»h 36,000.0 36,000.0 -
31 ATa0
1. 303038»T3A3YC SRE3T3Y0Y»AC 36,000.0 36,000.0 -
f4063u=vYail
- @36Y=2-Cw3T3Y 1363{a0AlasYY»h 4241 36,000.0 36,000.0 -

2840|08 | 4 | 0 | TA&Y=13Y =~ N=363731313Y S 31,325.0 31,325.0 -
[ 36340440V Y»A
&RCo

2843/ 08| 4 | 3 | TARAY=T3Y ~ N3&3A3T3T3Y 3t 1363(a0Ala5YY»fi 31,325.0 31,325.0 -

=t ATai0
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1. 2Y13U3[040AI3Y Ix3AY»i 31,325.0 31,325.0 -
- UTCA3T Ta0Ala0YY»fi 3 B=4dlA all»134Y140 4819 31,325.0 31,325.0 -
I3%LU=T»NAA0AIA0Y Y»ACY

2900/09|0 | 0 ToAasAUasU 19,084,666.6 17,168,166.6 1,916,500.0
=1 A4

2910|09 | 1 | 0 |UBE314A46313Y ~ 13AA313Y AYIN=Yaon 7,512,738.1 7,312,738.1 200,000.0
1iA&sAiaey
afigo

2911|109 | 1 | 1 |U=E314A46=1T3Y TAA&sAIATY 347,086.5 147,086.5 200,000.0
=1 A4
1. USE318A46313Y 406466460 139,574.0 139,574.0 -
- AY2i=Y45R uYaslAc 3 1=363asAla6Y Y »fi 4239 1,600.0 1,600.0 -
- BAIPECIC3Y»A 43 YCYSYESTSY & 3Ty 4511 137,974.0 137,974.0 -
(R=0=3lYU=ICY) T3%HUST»AA&0AIAYY»ACY
2. UBE318A46313Y 466406603 200,000.0 - 200,000.0
13303 1>A803Y N303h SYNAZA»BT - 4dlu¢
O»éu u»fAasl
- 2 U»U»Y3Y»f " 8303 TaRAUY»h 5129 200,000.0 - 200,000.0
3. UBE3148046313Y 1nA&oAlasy 7,512.5 7,512.5 -
(B3TICAZIT31 LC3%4AA0AIA0Y Y1)
- AY2R=Vasn pYa&slAC 3 1=363(40A146YY»h 4239 7,512.5 7,512.5 -

2912|109 | 1 | 2 |T3AAST3Y AVIN=3Vasn TAA&GAIASY 7,165,651.6 7,165,651.6 -
=1 A4
1. D3YASTAASI3Y 406406460 6,356,307.6 6,356,307.6 -
- AY13VasA uYaslAC 3k 1363(aAlasYY»fi 4239 6,356,307.6 6,356,307.6 -
2. D37 461 17A46AIa6Y 184,274.2 184,274.2 -
- AY2R=V45 pYa&slAC 3 1=63(40A146YY»h 4239 184,274.2 184,274.2 -
3. U»A36313Y 1hA4oAlacy 625,069.8 625,069.8 -
- AY2i=Y45R pYaslAc 3 1=363a0Al4a6Y Y »fi 4239 625,069.8 625,069.8 -

2920|109 | 2 | O |@CcY31=3h- AYIN3Ya6h TAA40Ala6Y 9,069,256.1 9,069,256.1 -
afigo"

2921/09| 2 | 1 |BCUY=T=3Y AV1N=Vasn TrA&sAIASY 8,816,454.2 8,816,454.2 -
=1 A4
1. D3YASTAAST3Y 406406460 7,967,677.7 7,967,677.7 -
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Eplwup punupuwwbnh qtYynygp 2016 puwywuh Gplwt pwunwph
qupqugdwt hhduwlwu nipnnyeyniuubph
dwuht

<hdp punnuubind  Gplwu  pwnwph qwpqwugdwu 2014-2017 pywlwuubph
pwnwdjw Spwgpny twluwwnbujwd gbpwwnieiniuutip nu wnyw ntunipuutipp, 2015
pYwlywuh pupwgpnd hpwlwiuwgywsd Spwapbph wpryniuwybinngenitut nL npwug
qupgugiwu dhwnnwubpp, hwodh wnubind giiuwynp hwunwlwagdh wwhwugubinh
hwdwwbpunnwd Gplwu pwnwph WYwpwghpp wwhbint  wnwouwhbippnyentutbpp,
huswbu twl pwnwdjw Spwgpny Uwjuwtawd hhduwywu phpwiuubpu ni npwug
wpryniuwybn - ppwlwuwgdwtu  uygpniupubpp' 2016 pJwlwupu  Gplwu pwnwph
qupgqugdwu hhduwlwu ninnnienitutbpp dhinnjwd Gu [hubiint tnwpwédpwjhu hwdwswih b
Ywyntu qupgqwgdwup, puwysniejwu YGuuwlwu swhbph wwwhnydwup, << wqquwjhu
wuunwugnejwt  nwqdwywpnijwu  hpduwnpnyeubphg UL «Gplwu  pwnwpnid
nbnwywu huptwywnwywpdwu Jdwuhu» << opbuphg pfunn’ Gplwup puwysniypjwu
wwownwwunypjwu b wuwnwugnipjwt, hwuwpwywywu Ywpgh W hwdwybgnyegjwu
Ywunuubph  wwhwywiunEwt  wwwhnydwup, dwjpwpwnwph  pwpblytighy no
hwpdwpwybwn  dhowdwyph  duwynpdwup, pwnwpwht  Gupwlywnnigywdpubtiph
wpnhwywuwgdwuu nt qupgugdwup, huswybtiu bwlb giluwynp hwnwlwagdhu hwdwhniuy
pwnwpw2huwlwu dpwagpbph hpwywuwgdwup:

Gpuwu pwnwph qwpgwgnwip 2016 pwywuhtu fuwpufudbint £ unghwjwyw,
dowynipwihu, pwpblwpgiwu, Ywiwswwywwdwu b pwnwph Jujntt nt bywwnwywjphu
wnwoplpwgu  wwwhnynn  wj Ywplnp ninnigniuubph - wpryniuwybin - niddwut
ninnywd  pwjltiph  hGunbnnwywu hpwgnpddwu htuph Jpw, npnug wwwhnydwu
uwwunwyny wnwouwhbpp b gbpwlw Gu hwdwpybnd'

1. Gplwup nmwpwdpwihu hwdwswih W Ywyniu qupgugdwu wwwhnynidp,
2. ubpnwouwy YEuuwwnwpwéph duwynpnuwip b ptwysnipjwu nmwpwdpwjhu
hwdwswih pwofujwdnypjwup bwwuwnnidp,



10.

11.

12.

. bywunwywihu wunbuwywtu b unghwwlwtu  pwnwpwlwuntejwu

quwpdwu  dhongny wunbuwywu U pwnwpwghwlwu  Ywuphu
puwysnipjwu wudhowlwu Jwutwygnipjw fupwuntdp,

ywnwjwpdwtu  hwdwlwpgh  pwpbihnfjunwdubph b nbnuywu
huptwywnwywpdwu  wpnynibwybunnigjwu  wwwhnynwdp, hpwjwywu
nwownh YJwuwpbjwagnpdnwip, unpwgnyu wbfuuninghwubiph ubpnpnudp,
hwnnpnwygnipjwu dwdwuwywyhg dhongutiph Yhpwnnidp b puwysh htwn
htiunmwnwnpé Yuwh wlunhywgnidp,

. Bpuwuh YGuwpnup pbntwpwhdwu W pwnwpp 2powugnn dwjpniqwihu

dwuwwwphubiph Ywglwybpwydwu hwdwwbpuwnnwd
dwuwwwphwohuwpwnpywu |[wjuwdwyw)| Sdnpwanbiph
ownpniwywywuntejwu wwwhnynidp,

otiuptiph U pwlwjpht  wwpwdpubph pwpblwpgnip W pluwysnyejwu
wuywnwug inbinwowndh wwwhnyntdp,

hwuguwnh gnuinhubiph untindnuwp, Ywuws tnwpwdpubiph Wwhwwundu nt
wybjwgnudp,

dwjpwpwnwph wpwwpht duwynpdwtu b gGuptph wpunwpht wnbuph
Ywpgwpbpdwu ownniuwwywu opwanbph hpwlwuwgdwu
wuwwhnyntdp,

tubpqwhuuwinn  hwdwlwpgbpph  ubpnpdwu  uywwwyny  thnnnguwht
[nLuwynpnijwu wpnhwwuwgdwu dpwgph dYuwpyh wwwhnyndp,
wnwudtwhwuwnnty wwjdwuubph Yupphp niubignn pwnwpwghutiph hwdwnp
pwnwpwjhu  wnopwu wybih dJdwuwskh nwpdubint  dwpnwuhpwywu
opwagph htnbnnwywu hpwagnpdnidp,

gnjwqnuunbintyuwunjwlwu hwdwwpgh Ywwwpbjugnpddwu dhongny
gpnuwononLERjwl qupguwgdwup fupwunn pwnwpwlwuntpjwu
hpwywuwgnudp,

lwhiwyppwywu, Yppwlwu, dowynipwhu b uwnpuwihtu opjtywubiph
hpduwunpnqiwt  wpjuwwnwupubph  2wpniuwywywunyejwu W npwug
obinnigdwu hhduwfuunph wdpnnowlwu |Nédwu wwwhnynidp,



13.

14.

15.

16.

17.

18.

19.

wnnnowwwhnypjwu  hwdwlwnpgh Yuwnwwpdwt  wpryniuwybinnggjw
pwpépwgnudp,  wnnnowwwhwlwu  hwuwmwwnie)niuubph  9bnnigdw
fuunph  |ndndp,  puwlsniggwup  dwuwnnigynn  wnnnowwwhwlywu
swnuwjnipntuutinh npwlwlwu pwpbijwydwu uywwnwyny'
pwnwpwwbGwnwnpwuh Gupwlwyniejwu wnnnowwwhwlywu
Ywaqdwybpwnipiniutbpp dwldwuwywyhg pniduwppwynpnidubpny
hwdwpbnt gnpdpupwght wowlygnidp,

dowynipwiht dwnwugniejwt wywhwwunyeintup, wnnne wwpbjwytpwh
fupwfuntunwdp, wjn bwwunwyny vwywuwnwynp ywydwuubiph unbindnidp,
dwjpwpwnwph  puwybh  $nunph  Jpwpwjunypjwu  hbGunwgnundwu
ownpniwywlywuntejwu wwwhnynidp,

GpGluwubiph hpwynitupubph wwownwwunientup b wuswthwhwutbph hbwn
wmwnynn wofuwwnwupubph pwpbjwyndp,

puwyphsubiph unghwjwywu wwonwwujwdénypjwu wwwhnynwp b win
uywwnwyny hwodwunwdubph, dunnugnipy Gpbluwubph, pwqdwquywy
UL wlwwwhny punwuhpubph YGuuwwu wwwhnddwiu ninnywsé
unghwjwlwu dpwagnpbph hpwgnpéntdp,

dwjpwpwnwph  ptwwwhwwiuwywu  hpwypbéwyp  pwqdwynnd nt
hwdwlwpgywd pwpbjwynwip,

uwudwppdwtu b wnpph nbnwihnfudwtu dwdwuwlwyhg dbfuwuphqiubph
ubpnpdwup hwdwhntus unp wnpwywjph Ywnnigdwtu b hhu wnpwywiph
dynwwgdwu  gnpduwlwu  Spwgph  dGluwpyh  wrluwwnwupubph
hpwlwuwgdwu wwwhnynidp,

20.hwuwpwlywlywu  wpwuuwynpnh  gnpdniubinggyuu  Ywunuwlwpgdwup

21.

dhndwd dpwagpbiph dowydwu W npwug ubipnpdwu huwpwynpnipniutubph
nunwWuwuhpdwu wwwhnynudp,

Gpuwuh pwnwpwwbwwpwuh L Jwpswywu 2powtutiph  Ynndhg
puwysnigjwup  dwwnigynn  dwnwjnieiniuutiph wwpgbignuwp bW
uywuwpydwu npwyh pwpbjwynidp,



22. puwsnipjwu wuyunwugnipjwu, hwuwpwywywu Ywpgh L
hwdwytignipjwu Ywunuubiph wwhwwunipjwu wwwhnynidp,

23.dhowqqwiht  hwdwgnpdwlygnigjwu punjwjunwip, pnyp L gnpdpulybip
pwnwpubph htwn wprynitwybin  hwdwgnpdwygnyejwu  wlunhywgnidp,
dhowqquiht jwwagnyt thnpdh nwuntduwuhpnyeinut nt Yppwnnedp,

24.gnpéwpwpnipjwu b ubpnpnuiubph hwdwp  pwpbuwwuwn  dhowywipp
wwwhnynudp, hwdwjuph b gnpéwpwp dhowdwiph dhol thnfupwhwybin
hwdwagnpdwygnipjwup  Jdpnwd  wlwunnypubph  duwdnpnudp UL
fupwuntdp:



vuu i
Pwgwwpwghp-<hduwynpnid
Gplwtu pwnwph 2016 pwlwuh pjnigkh
twjuwqéh

Gpuwu pwnwph 2016 pEYwywup pngbth  Uwjuwghdp  Ywqddb, b
«lwjwunwuh  Lwupwwbwnpjwt  pngbnwiht hwdwlwpgh  Jdwupu» L «Gplwu
pwnwpnd nbnwywu huptwywnwywpdwtu dwuhu» << optiupubph  wwhwugubphu
hwdwwwuwwuluwu, nph  duwynpdwu hpdpnud  puywsd Lu  futwnnulwunyeniup,
hwaoytlyonjwdnypiniup, wpnynibwybwnnieiniup, hwywuwnmhnieiniup, hunwyniejniup W
pwthwughynipiniup:

Gplwu pwnwph 2016 pYwlwuh pnobu Ywuluwwnbuynd £

Ghwdnupbibph qény' 78,219,530.5 hwq. npuwd,
Sdwifuubph qdény' 78,369,530.5 hwq. npwd,

ntbhghiyp (wwlwunipnp) 150,000.0 hwq. npwd:

1. Ghwdnunubpph juwiujuwwnmbunid.

Gplwu pwnwph 2016 pYwlwuh pnwbh twfuwgdnd (wunthbn' twfuwghd)
GUwdnunubph punhwunyp gndwpp Spwapyty £ 78,219,530.5 hwq. npwdh swihny
Gpuwu pwnuwph 2015 pwlwuh pntind h uygpwut hwunwwnywsd 71,870,838.3 hwg.

npwdh nhdwg' 6,348,692.2 hwqg. npwdny Ywd onipe 9%-nd wydb): Opwgpdwsd
GUwdnunubipp gbipwquugnud Gu 2014 pYwlwuh hwunwgh hwwpwagpywsd punhwunip
GUwdnunubiphu 10,265,972.6 hwq. npwdny Ywd 15.1%-nyY: Lwfjuwgdny twfuwwnbiujwsd
GUwdnunubph punhwunp Sdwywnu ubihwlwu GYwdnunubpp Yuqnwd Gu 20,047,021.8
hwq. npwd' 2015 pwywuh twiuwwnbujwsdhg 18,986.1 hwq. npwdny wybh, huy 2014
pYwlywuh ubhwywu GYwdnunubph hwuwnwgh Yuwmwpnnuywuhg 1,247,863.3 hwgq.
npwdny Ywd 2nipg 7%-ny wytih:



Lwhuwgdény twjuwwnbujwsd LYwdninubph hpduwynpndp b hwdGdwunwlywu
ytpnwnientup wnwyb| hunwy Yiphup npwup wnwudht Glwdnwwmbuwlubph nbupny
ubplyuwjwgdwu ywpwaquwjnid: Uwutwynpwwbu.

1.1)  Qwplybtip b winppbip.

Lwpywihu  Gwdnwnubpp U wnippbipp 2016 pwywup  pnwbh  bwjuwgdny
dpwagnyby Gu 14,463,118.9 hwq. npwd' pupwghy wnwpw Gondwd 14,182,961.1 hwq.
npwdh hwdbtdww Ywd 2nipg 280,157.8 hwq. npwdny wytih, husp gbpwquugnid £ uwl
2014 pywlywuh thwuwnwgh hwjwpwgpywd gnigwuhpp 1,108,247.3 hwg. npwdny Yuwd
8.3%-nu:

w. <wplywipu GYwdnunubipp dpwanyby Gu 10,681,252.4 hwq. npwdh swihny Ywd
2015 pYwlywuph hwdwp hwunmwnjwsd (Gondwsd) gnigwuhohg 332,978.3 hwqg. npwdny
Ywd 3.2%-ny wytifh: 2016 pwywupht twfuwwnmbujwsé hwpluwiht Glwdnunutipp wyb) Gu
2014 pywlywuh thwuwnwgh hwywpwgpywd gnigwuhohg 917,696.6 hwqg. npwdny Yuwd
9.4%-ny, nphg.

- gnypwhwnpyp vwhuwgdény twhuwwnbuyt £ 10,029,895.3 hwg. npwd Jwd 2015
pywlywuh hwdwp hwunwwndwd (@Gondwd) gnigwuhohg 327,987.7 hwg.
npwdny wybih, huy 2014 pwlwuh thwuwnwgh gnigwuhohg 853,124.6 hwg.
npwdny Ywd 2nipg 9%-ny wybih,

- hnnh hwpyp dpwapyty  651,357.1 hwqg. npwd* 2015 pwlwupu Spwapywd
646,366.5 hwq. npwdh nhdwg: 2016 pwlywuhtu twuwwnbujwd hnnh hwpyp
gbipwqwugnuw Lt 2014 pwywupt thwuwnwgh hwjwpwgpywd gnigwuhyp
64,572.0 hwq. npwdny Yuwd 11%-ny:

2016 pywlwuh hwpywhu Glwdnwnubpp dpwagpyt Gu hhdpnud niubuwing 2015
pYwlwuh hwjwpwagpdwu uwywuynn  Ywuwpnnulywup, Jwpswpwpwywu
dhongwnnwiubph  hGwnbunnuywu W wpryniwwygbin - ppwlywuwgnwdhg  wyulywynn
[nwgnighs dnwnpbipp: <wplywjhu GYwdnwnubph gnigwuhop hwedwnybijhu hweyh Gu
wnuyb| twb wnlw wwwnpubtph L 2016 pYwlwuht wnwowgnn hwodwplwihu
gnigwuhoutipp: <wplwjpu  GYwdnunubph Ywujuwwnbuynn wép wywjdwuwynpjws k
pupwghy wwpnud atntwpyywséd dEdwdwlw| Jwpswpwpnigjuu wpryniupnid 2016



pYwlywuhu wyulwiynn dnunpbipny, huswbu uwl gnypwjht hwpybiph hwogwndwu
ombGdwpwuh  Gonnwubiph wpryntupnd  npwund  |pwgnighs  hwpyynn  opjtiywnubipp
pungpydwdp, ptl wjuntin ntnbu wnw Gu thnfuwnpwdhongutiph gnypwhwpyh gény
wpwwgnwd wuwwnpubtin, npnup optuunpnigjwdp uwhdwujwd Ywpgny quuddwu
Gupwyw ¢bu: Wnnithwuntips, 2016 pywlwupu dpwapyb) £ hwpluwiht GYwdnunubph
gony hpwwnbuwlwu b hpduwynpywé wwwnpubphg wnwybijwgnyu quuddwu gnigwuhy:

p. Sbnwywu wnippbipp 2015 pYwlwuh Gondwd pnwbtng  Uwjuwnbuwd
3,459,687.0 hwq. npwdh hwdtdwwn dpwanpybi Gu 3,394,866.5 hwq. npwd, husu wykiph L
2014 pwlwuh thwuwnwgh gnigwuhohg 209,271.4 hwq. npwdny Ywd 2nipg 7%-ny:
Stnwywu wnnippbiph Yugind dGé wnbuwlwpwp Y2hn Gu Yuqinud wpwnwphtu gndwqn
wmbnunpbint pnywnynigjwtu bW wynnjwjwuwwnbinh hwdwp twhuwwnbujwd wnippbipp,
hwldwwwunwuluwuwpwp, 44.3% W 27.1% :

2015 pwlwupu hwunwunydwsd (Gondwsd) gnigwuhoh tywwndwdp nbnulywu
wnipptiph ujwgbignd  Spwapytp £t hwdwjuph Jwpswywu wwpwdpnid obupbph W
ohunipyniuutiph  yGpwlwnnigdwu, ndtinugdwu, Jbpwlwuqudwu, wpnhwywuwgdwu
w2luwwmwuputiph  ppwlwiwgdwu, pwgopjw Ywbdwnp Ywqdwybpwbint, dwpnwwnwn
tnwpunt dwnwjnipintu hpwlwuwgubnt, wpwnwpht gnjwqn nbnunpbiine pnyunynyesjwu
hwdwp wnipptiph gény, husp wwypdwuwynpywd £ 2015 pwlwuph Ywufuwwnbuynn
Ywwwpnnwywuny, huswbu vwl pupwghly wwpnd ppwlywiuwgywd thwunwgh
gnypwagpdwu wpryntupubpny:

Stinwywu wnippbiph YuaqinWd  hwdwjuph  wwpwdpnd  wpwwpht  gnjwgn
wnbinunptint enynygniejwu hwdwp 2016 pwywup pjnigtih twuwagdny Ywutuwwnbuyb) L
1,504,400.0 hwq. npwd' 2015 pwlwuh 6ondwsd pjnwbnyg twfuwnbudwd 1,593,000.0
hwq. npwdh nhdwg, husp uwlywju wyb) £ 2014 pquwywuptu thwuwnmwgh hwjwpwanpywsd
gnigwuhohg 5.3%-ny: Cun npnd dwfuwwmbujwd nnipph gnigwuhop ubipwnnwd £ Gplwu
pwnwph wywqwunt 2012 pwlywuh dwpwh 16-h N 404-U npnpdwdp hwydwunypintu
wnpyjwd uygpniupny ybipgbnujw wugnuubiph Yuwnnigdwu nhdwg twfuwwnbuynn Glwdwnh
gnudwpp' 240,000.0 hwg. npwdh swihny:

2015 pywlwuh hwunwwnywsd (Gondwd) gnigwuhoh ufwwndwdp npnpwyh wé k
opwagpyb] nmbnwywu wnipptiph dp 2wpp wnbuwyutiph gqoény, husp wwjdwuwynpwsd k



2014-2015 pYwywuubpht  ppwywiwgwséd Jupswpwpwywu L Ywuntwlwpgnn
wofuwwwupnd, npu b pp hbpphu hpwgnpdtiih £ nupdbp «dwpgwlwu
hpwywfuwfunnwubph dwuhu» << optuph thnthnfunieyniuutipny hwdwjuph nGYwywnhu
Ybpwwwhywsd |hwgnpnigjniuubph wpnyniupnd:

g. <wdwjuph pnwt Jéwpynn wbwmwlwu wnppbipp 2016 pwlwuh hwdwp
uwfuwgdny Spwagpybp Gu 387,000.0 hwg. npwd' 2015 pwlwup hwunwndws
(6ainywd) gnigwuhohg 12,000.0 hwq. npwdny Ywd 3.2 %-ny wytijh, nphg.

- pwnwpwghwlwu  Ywgnigywu  wywbp  gpwugbint  hbn Yuwwd
hwlwwwwwufuwu gnpdwppubiphg' 77,000.0 hwqg. npwd 2015 pYwlwup
75,000.0 hwg. npwdh nhdwg,

- Ununwpwlwu gpwubywyubph Ynndhg unnwpwywu dwnwjnieiniuutiph htiwn
Ywwjwd hwdwwwwnwufuwu gnpdwpputiphg' 310,000.0 hwq. npwd' 2015
pYwlywuhtu twhuwwnbujwsé 300,000.0 hwq. npwdh nhdwg:

Snigwupgutiph  Spwgpdwu  hwdwp  hhdp £ punniudly 2015 pqwywup

Ywufuwwnbuynn Ywwmwpnnulwunp:

1.2)  Muwounnuwlwu npwdwunphubp.

<hdp  punniuGiny <& 2016 pwlwuph  wbwnwywu  pngbh twluwgdny
uwfuwwnbujwsd gnigwupoubpp' twjuwgdny dpwapytp Gu 21,967,541.4 hwg. npwdh
swihny  wwownnuwlwu npwdwunphubp: Opwgpywd gnigwuhop wwlwu L 2015
pYwlywuh hwdwp uygpuwlywu hwunwwnywd gnigwuhohg 942,586.3 hwg. npwdny Ywd
oning 4%-ny: Lwanudp Wwjdwuwynpjwsd £ «2nppnpn wunphbwup Jepwpwihu otuptinh
pwundwu htinlwupny puwwmwpwonteiniuutiphg anyywo puwyhsutinh
thnfuhwwinnigdwt  hwdwp  puwlwpwuubph  &dGnppbipnd»  dpwapph  wydwpunny, hush
htinlbwupny wbwnwlywu pnwbhg hwdwjuph Jwpswywu pjngbht mpwdwnpynn wy
nnunwghwubiph gény Gywdnunubipp ujwgb) Bu' Yuwqdbing 72,449.9 hwq. npwd uwfunpn

wmwnpyw 2,000,000.0 hwg. npwdh hwdbdwwn: Cun npntd.
- L whwnwywu pjngbihg Phtwtvwlwu  hwdwhwpebtigdwt  uygpniupny
wnpwdwnnpynn nnunwghwubipp bwjuwwnbudt) tu 13,429,755.8 hwg. npwd
wd 2015 pwlywuh hwunmwwnjwsd gnigwuhohg 1,160,858.1 hwq. npwdny



Ywd 9.5%-ny wybih, huy 2014 pwlwup thwumnwgh unwgywsd gnigwuhohg
2,996,937.7 hwq. npwdny Jwd onipg 29%-ny wybijh:

MbBunwlywu pnwtihg pupwghy dwhuutiph huwtuwynpdwu bwwnwlwihu
hwwywgnudubiph (unipytiughwubiph) gény uwfuwwbuyb| L 8,465,335.7
hwq. npwd' 2015 pwlywup hwunwwndwdhg 81,757.9 hwqg. npwdny

wwlwu (guiulyp Ygynud £):

1.3) Uy GYwdnunubp.

W GYwdnunubipp 2016 pwywup uwfuwaqgdny Spwanpybi Gu 41,788,870.2 hwg.
npwd' 2015 pwlwup Gondwd pnigbng Uwuwwnbudws 33,532,903.4 hwg. npwdh
nhdwg Ywd 24.7%-ny wybifh, husp twlb gbpwquugnd £ 2014 pwywup thwuwnwgh

gnigwuhyp 37.5%-ny, nphg.

owhwpwdhuutiph qény 2016 pYwlwuhu dpwanyti L 114,108.0 hwq. npwd:
Lwojwpyp Ywwnwnyb N hhdp punnwubiiny hwdwjupwjhu
Ywaqdwybtipwnieyniuutipp dhuwuuvwywu hwaybunynyejniuutiph
ytpnwnyeniuubpp b Ywujuwwnbunwdubpp, huswbu twl Gpuwu pwnwph
wywgwunt 2010 pwywuh dwpunh 18-h N 69-U npnadwdp hwuwnwunywsd
Yuwngh npnyRutinp,

hwdwjuph  ubthwywunigniu hwdwpynn  hnnbph  Jwpdwybwpubpp
dpwagnyby Gu 524,101.0 hwg. npwd' 2015 pwywuph Gonjws 597,884.0
hwq. npwdh nhdwg' hpdp punniubind Jwpdwlwinypywu  hwodwndwu
pwquwjh Gogpwinwip, hnnh hwpyh pwqwih htin hwdwnpnwp, huswbu twl
2014 pywlwuh thwunnwgh hwjwpwagpdwt gnigwuphoubipp: Lwjuwwnbuwsd
gnigwuhop hwoqwpyyt) £ wnlw pninp wwwnpubph 80% hwywpwgpdwu
wnpwdwpwuntjwdp, hwogh wnubind dhusk 2009 pwlwuh wwwnpubiph
Ujwundwdp nwwwpwuutph Ynndhg Yppwnynn hwjgwhtu Jwnbdnyejwu
wpryniupnd  npwug npn? dwuh qwuddwu wuhuwppuntejniup, ndywsd
qupdwwinyejwt wwjdwuwgpbph pwuwyp, ywpdwlwjwsé hnnwdwubpp
dwytipbuubiph  thnthnfuneynitupp W npwug  wprynitupnd  pwquyih
dogpundw ninnnejwdp Yuwwnwpynn woluwwnwupubipp,
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hwdwjuph Jwpswlywu wwpwdpnid gwnuynn whwnnypjuwu b hwdwjuph
ubthwwunipjwup wwwlwunn  hnnwdwubph YJwnnigwwwwndwu
hpwyntuph nhdwg quudynn yupdwybwpubipnp dpwagpyt tu 55,000.0 hwg.
npwd' 2015 pwywuh hwdwp hwunwnydwsd Goandwsd) gnigwuhoh swihny,
wj| gnhyph Jwpdwlwinieiniuhg dniunptipp ubpwnnd Gu  hwdwjupwihu
ubthwlwunipintu hwunhuwgnn wuowpd gnyph, pwgwnnyzjwdp hnnbiph,
qupdwwinyejwt wnpwdwnpdwu nhdwg qwudynn Jwpdwybwpubipp W
dpwapyty Gu 367,984.1 hwq. npwd' 2015 pJwywup vwluwwnbudwsd
379,872.0 hwg. npwdh nhdwg, husp uwywyu 2014 pwlwup thwuwnwgh
hwjwpwagnpywé gnigwuhohg wyb] £ 88%-ny: Lwfuwwbuwd gnigwuhop
ubipwnnw £ Gplwu pwnwph wjwqwunt 2012 pwlywuh dwpwh 16-h N
404-U npnpdwdp hwywunypniu wmpgwé uygpniupny pUYny 5 Ybpgbinnujw
wugnuwiubph Ywnngdwtu nhdwg uwfuwwnbudwd Jupdwddwph gnudwpp'
160,000.0 hwgq. npwdh swihny, husp ubpwnws £ vwlb 2014 pwywup W
pupwghy nmwpyw donydwsd gnigwupubipnud,

whwnyjwu Ynndhg Yppeniejwu, opwdwnmwlywpwpdwu, dGnpnwnihwnbup
Ywnwywpdwt, unghwwlwu U pwnwpwghwlwu Ywgniypjwu wywnbph
gpwugdwu  Swnwjnyeniutbph  gnpénwubinypjwu Ywqdwybpwdwu,
whwmwywu  Ywqdwybpwniginiuubph  woluwwnnnubpht unghwjwywu
thwpetipny wwwhndwu, huswbu bwl pwnwpwjht Gupwywnnigywdpubiph
L pwnwph Ywnu qwpgugdwu ubpnpnudwihu  ninpunubpnd Gplwuh
pwnwpwwbwnht  wwwdhpwlyjwsd [hwgnpnipiniuubph hpwlwuwgdwu
owfuubph  Shuwtuwynpdwu  hwdwp  whwnwlwu pnwbhg  unwgynn
dhongubipp uwfuwadny 2016 pywlwuh hwdwp dpwapyti| Gu 36,204,967.3
hwq. npwd' 2015 pYwlwup 28,939,799.1 hwg. npwdh L 2014 pwlywuh
24,946,636.3 hwq. npwdih nhdwg Yuwd hwdwwwwnwutuwuwpwnp 30.8%-ny
U 45.1%-nd wybip’ hpdp punniubing << 2016 pwlwup wbwnwlwu pjnybh
Uwhuiwagdny twfuwwmbiujwd gnigwupoubipp (quuyp Ygynid k),

optiupny uwhdwuywd nbiwypbpnud hwdwjupwhu hphduwpyubph Ynndhg
wnwug wnbnwlwu wnnipph qwuddwu dwwnnigynn dwnwjniejniuubph Yuwd
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Ywwwnynn gnpdnnnipnitutiph nhdwg unwgynn (qwudynn) wy| yéwpubiph
gdny uwfuwwbuyb] Gu 116,000.0 hwg. npwd' 2015 pwlywuph Gondwd
pjngbing twjuwwnbuwd 153,000.0 hwg. npwdh nhdwg' hhdp punniuting
uwwuynn wwmwpnnwywun,

wnbnwywu Jéwpubph gény Spwagpdty £ 3,494,059.8 hwq. npwd' 2015
pYwlwuh doindwd pjngtih 3,655,514.4 hwqg. npwdh hwdbtdww, husu wybih
£ 2014 pwlwuph thwuwmwgh hwjwpwagpdwu gnigwuhohg 356,348.8 hwg.
npwdny Ywd 11.4%-nd: Sbnwlwu Jbébwpubiph goény vwfuwwnbiuwsd
gnigwuhop Ubpwnnd £ Gplwu pwnwph wywqwunt 2011 pwlywup
ntywuntdptph 9-h «Gpbwt pwnwpnd wnpwhwunyenup Yuwgqdwybpwbine
hwdwp nbnwywu Jéwph npnypwswihbpp uwhdwubine dwupu» N 347-L
npn2dwdp uwhdwuywé U 2012 pywlywuhg Yppwnynn wnpwhwunipjwu
Jéwpp, npp Spwagnpyty £ 3,303,559.9 hwqg. npwdh swihny, huswybiu twl
hwdwjuph nwpwdpnid 2huwpwpnijwu Ywd 2huntejwt wpwnwpht inbupp
thnthnfunn  YGpwlwnnigdwtu  woluwwnwupubp Ywuwpbint hbn juwdwsd
wbfuuhjwwuntnbuwlywu wywjdwuubp dowybint b hwunwwnting, wjwpunydwsd
ohuwpwpnyejwtu  swhwgnpdnudp  wunwgpbint hwdwp'  nbnuywu
huptwywnwywpdwtu dwpdup  dwuwnigwd Swnwjnyeniuubph  nhdwg
thnfuhwwinigdwt Jéwpp, npp dpwagpyby £ 186,500.0 hwg. npwd, huswbiu
uwl hwdwjuph Ynndhg dpgnyputiph W wénipnutiph Yuwqdwybpwydwu hbwn
Ywwywd Swfuubph thnfuhwwnnigdwu hwdwp dwuuwyhgubphg Yéwpubph
gony 4,000.0 hwqg. npwd: <wpy £ Uk, np 2012 pywlwuhu
wnpwhwunipjwu Yydwpp wnwoht wugqwd Yhpwnbijhu ny YEugwnwihu wnph
dwuny wywjubpp  hwpdwpyyt; Ehu dwybpbuubph  Jbpwpbpjwg
Ywnwuwmpwiht  ndjwiutph hpdwt Jpw, husp Yppwndwu pupwgpnid
dogpunynud £ thwuwnmwgh ogunwgnnpdynn dwytiptiuubpny (wnp wpunwnpbnt
wnpwdwpwuntjwdp), b htuswybiu Ywujuwwnbuwd gnigwuputipp, wjuwbu k)
pwqwjhu wnyjwiubipp 62gpnynid Gu gnypwagpdwt wpryniupubpny, husny by
wwjdwuwynpjwsd £ dpwapwd gnigwupubph hwdbdwwnwywu npnawyp
otinnwdutipp,
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huptwywd Ywnnigwd otuptiph W 2hunieyniuutiph  ophtwlywuwgdwu
Jéwpubph gény Spwgpyt; £ 250,000.0 hwg. npwd' 2015 pYwlwuhu
twhiwwnbujwsé 310,000.0 hwg. npwdh nhdwg, husp hhduwynpynd &
gnpdpupwgh pwiuwlwlwu gnigwupoutiph ujwqdwdp W Spwagpyb &
pupwghy nmwpyw Ywufuwwnbuynn gnigwupputiph hhdwu pw,

qupswywtu  hpwjwfuwlunnwdubph hwdwp  ywwnwufuwuwnmynijwu
dhongubiph Yhpwnniudhg Llwdnunubph qén twfuwwbuyty £ 398,000.0
hwg. npwd' 2015 pYwywup twjuwwnbujwsd gnigwuhohg 99,100.0 hwg.
npwdny Ywd 33.2%-ny wybp: Uu GYwdnwwnmbuwyh qoénd twywu wbp
wwjdwuwynpwd L opGuunpwlwu  thnthnfunyeyniuttpny  pudtinudwé
huwpwynpnipjniuutiph wpryntupnid Yhpwnynn wnryntbwy i
Jupgwpwnnipjwdp,

uhpwunynypjw, dwnwugnipjwl hpwyniupny dhghlwlwu wudwughg W
Ywaqdwybtipynieyniuutiphg hwdwjuphu, ybpohthu Gupwlw pnwbnwihu
hpduwpyubiph wuopphtdwut wugwd gnyph (hphduwlwu dhong Ywd ny
Ujnipwlwt wywnpy shwunhuwgnn) hpwgndhg b npwdwlwu dhongutiphg
Ywwhww| dwiuutiph $huwtvwynpdwtu hwdwp hwdwjuph pjniet unwgywsd
dninptiph”  wpwdwnpwd  wpunwpht - wnpnipubphg  GYwdnp gény
Sdpwapyby £ 10,000.0 hwg. npwd' 2015 pwlwuhu dpwapwsd gnigwuhop
swthny,

optiupny U ppwwywu wj wywbpnd uvwhdwuws hwdwjuph pnwb
dniinpwgpdwt Gupwyw wj GYwdnunutph gény opwagpyby L 254,650.0
hwq. npwd' 2015 pwlwuh Gandwd pngbing twuwwbujws 227,800.0
hwq. npwdhg 11.8%-ny wybjh: Opwgpwd LYwdnunubpp ubpwnb) Gu
Jwnnigwwwwnynn  wwpwdpubpnud  hwplwjuniygywu  jntpwpwtgnip
pwnwynwh dbwph hwdwp  Junniguwwwnn  Jugdwybpwnyeniuubiph
ynndhg Ybwpdwtu Gupwlw wwjdwlwgpwiht wwnpuwynpniejniuubipp,
huswbu twlb wquu Shuwtuwlywu dhongutiph Yuwnwywpnihg wyulywynn
GYwdnunubipp,
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- Juwpswlwu pjngbh wwhnwwnwiht $nunhg pnunwiht pngt Ywwmwpynn
hwwywgnidutiphg dnwnptipp 2016 pJwlwupu dpwagpyt; Gu 1,008,301.3
hwq. npwdp  swihnd'  pnebh  Bywdnwhut b dwjuuwhu  Jwubph
hwjwuwpwyrndwt bwywwnwyny:

2. Owjuubph juwujuwwnbunid.

Gplwu pwnwph 2016 pwywuh pnbth twjuwgdny Swfuubph dwywip
opwagpyb £ 78,369,530.4 hwq. npwdh swihny: OSwfuubiph wdpnne dwywih 2npg 99%-n
ywd 78,209,530.4 hwq. npwdp pwdhu L pulund pupwghy Swhuubphu (Jupswywu
pjnok), 1,168,301.3 hwq. npwdp' ny $puwtuwlwu wynphdubph gdny qnun dwiuubiphu
(bnunwjhtu pjnk), huy ny phuwtuwlywu wynhyubph gény dniinptiph b Gptiph gndwpp
Ywaqunw L 5,094,387.4 hwqg. npwd: Lwjhwagdh Swfuuwihu Jwup wybih £ 2015
pYwlywuh ulygpuwlwu hwunwwnydwsd pngting twfuwwnbuywd Swluuwihu  dwuhg
6,248,842.0 hwq. npwdny, huly 2014 pwlwuh thwunnwgh dwfuutiphg 9,751,323.4 hwq.
npwdny b uqiyb E wnwuduwgywd dnintignidubiph hhdwt pw:

Lwhuwagdény wnwowpyynn pjngbicnwiht dwfuubiph dwywjutipnid unghwjwywu
puwqwywnh  (Yppenipjntu,  wnnnowwwhnyeiniu, unghwjwlwl  wwwhnynie)niu)
owfuubiph wbuwlwpwp Yohnp Yuqdnw £ 39.2%, wnpwiuwynpunh ptwquywnhtu (wn
pYnt' Gwuwwwphwihtu  wpwuuwnpwnhp) Jbpwpbpnn dwiuubphup' 18.1%, opowlw
dhowduwiph wwonwwunigjwut ninnywsd dwiuubphup' 9.8%:

Lwhuwagoény uwfuwwbuyb] £ wwhnwwmwihu $nun 7,966,122.8 hwq. npwdh
swihny, nphg ywpswywu dwuh ywhnwwnwihtu $nunp Yugdnid £ 7,942,362.0 hwq. npwd
(Jupswlwu Gywdnunubph 11%-p), wn pYnwd® 1,008,301.3 hwg. npwdp uwjuwgdny
twfuwwbuynd £ hwnlwgub] $nunwjh Jwu, 6,644,060.7 hwq. npwdp' hhdp
punniubing << 2016 pwlwup wbnwywu pnwwbth  twfuwgdn  uwfuwnbuwsé
gnigwuhyp, npwbtiu wywwndphpwyywsd hwgnpnieiniu Uuhwlwu pwulyh wowlgnipjwdp
hpwlwuwgynn pwnwpwjht Gupwlwnnigwéputiph W pwnwph Yuwniu qupgugdwu
ubipnpnuwjhu dpwgptiphu:

Lowd Spwahpp twfuwwbudby b wwhnwwmwihu $nunhg hwwnwgdwu éuny,
pwuh np wju Swfuuwjht Jwuny ubpwnbint nbwpnud skp wwwhnyyh «Pjnigbinnwihu
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hwdwlwpgh  dwupu» <L opbupny UL «Gpuwu  pwnwpnd  nbnulwu
huptwywnwywpdwtu dwuhu» << opbupny wwhnwuwnwjht dnunh hwdwp twjuwnbugwsd
ujwquagnyu 5%-wung 2tdp: Ldwu opGuunpwlwu 926du puwn Enigjwu fuunhp &
wnwowguntd hwdwjupubinhg dhwju Gplwu hwdwjupnid, hwoyh wnubiiny Gywdniinubph
Ywaqunw wwwdhpwlyywsd [hwgnpniejniuubph ppwywiwgdwt hwdwp twfuwnbuywé
dhuwtuwynpdwu dwywip:

Uwnnpl ubipluwjwgynid Gu Gplwu pwnwph 2016 pywlwuh pnwbh twjuwgdny
dpwagpynn dwiuubiph uygpniupubpu nu hhduwynpnuubipp' pun dpwagpbiph.

1. Ywnwywpdwu dwpduh wywhywtund Spwgpny Swfuubipp  twluwgdnd

opwagpyb] Gu hhduwywund hwyyh wntbind qgnpdnn  optuunpnigjwu  (UGpwnwy
thnthnfuniejniuutipp) wwhwugubipp, funphpnwwnywlwu punye Ypnn unpdwwnhyubipp,
huswbu uwl Gplwuh pwnwpwwbwwpwup (wn pYnd' Gplwu pwnwph pjnbh
dhongubph  hwoypu  wwhwwuynn  dpwly pnbwnwhu  hpduwpyp'  «Gplwup
pwnwpwwbunwpwup  woluwnwlywaqd»  hwdwjupwht  Yunwywpswywu  hhduwpyh)
Ywnnigywépwiht b wnwuduwgwd unnpwpwdwundubpht  (Ubpwnw| Jupswywu
opowuubiphu)  Ybpwwwhywsd  [hwagnpnieyniuutph pwpdbip U wpryniuwybin
hpwwiuwgdwu hwdwp npwug gnpdniubingjwu  wnwuduwhwunynyeniuubpp:  Wu
opwagpny uwfuwagdnd Swfuubp Gu Uwjuwwnbudb) 8,080,748.7 hwqg. npwd Ywd
punhwunip Sdwfuubph onipg 10.3%—n, husp 2015 pYwlwuh hwunmwndws (Gondwd)
hwdwwwuwnwuluwu gnigwuhohg wyb| £ 14,462.6 hwq. npwdny: Loqwd Spwagpny
twhiwwnbuywd Swiuubpn fwlwu wnbuwwpwp Yohn £ Juqdnd wouwwnmwywpdh
dnunp' 5,212,025.9 hwg. npwd, husp 2015 pwywup dondwsd gnigwupohg wyb| k
9,420.0 hwq. npwdny: Wluwwwwnpsdh $nunh hwoqwpyp hpwlwuwgyb) b Gplwu
pwnwph wywqwunt 2013 pwlwuh hnwhup 15-h N 10-U npn2dwdp hwunwwnywd

hwuwnhpwgnigwyh hhdwu ypw: Cwunmwnywd hwunmhpwgnigwyny twjuwwnbuwd 1998
hwuwnhphg upwé Swfuuwihu hnnjwoéhu pwdhu £ puyunwd pynd 1783 hwuwnppubip
(wnwug wwwyhpwywd hwgnpnypiniuubph hwdwp twjuwwbuywd hwuwnhpubph),
nphg dJhoht wwpblwu gnigwlwjhu punhwunyp  pwpwuwyp Ywgdnd £ 1763:
Whuwwmwywpsh $nunp huswbiu wlunpn wwpphubphu, wjuwbu £ 2016 pwywupu
opwagpdt £ 13 wdujw  wouwwnwywpsh  swihnd, npp Gwhiwwnbujwd |
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wpdwynipnwyhuubph b Jybpguwhwodwplubph Jéwpdwu hwdwp: ULnyu ulygpniupny’
hwowpyywséd U twpuwwnbuwd hwuwmppubpnd  wofuwnnn wudwug  fupwfuniudwu
hwdwp, woluwwnwywnsdh dnunh 14.5%—h swihny twuwwmbuyb b ywpgbwwnpdwu dnun:
Eubpgbiwhy Swnwjniginiuutipp  ubpwnnid  Gu  LGyunpwtubpghwh W 9bnnigdwu
owfuubtipp, npnup hwyqwpyyb) Gu bwhunpn wwphubiph thwunwgh b 2015 pYwlwuhu
uwwuynn oSwfuubiph dwywjutiph Jdhohu gnigwuppubtipnd, huy wép 2015 pYwlwuh
hwunwwnywd gnigwuhoh hwdbdwun wwjdwuwynpywsd £ EGYunpwkubpghwih uwlwguh
wény: Uwutwynpwwbu, wju hnnjwsény 2016 pywlwuhtu twjuwwnbuygb) £ 301,263.4
hwg. npwd' 2015 pwywuh 261,819.4 hwq. npwdh nhdwg: Yndniiw) dwnwinienituubipp

ubpwnnuw GU gpwdwwnwlywpwpdwu b 9gpwhbinwgdwu, huswybu twb Jupswywu oGuptiph
dphowwnwgbinddwu htin Ywwywsd Swhuubipp b dpwagpyb) Gu 16,605.5 hwg. npwdh
swihny' 2015 pwlwuh 6ondwsd pnwbing twfuwwnbujwsd 16,304.6 hwq. npwdh nhdwg:
Ywwh  dwnwnigniuubpp  ubpwnnid  Gu hnunwhu o b uniphwunwywhu

swnwjnypntutbpp, pwnwpwhtu hbnwfunuwlwwh, poowihtu Ywwh, hunbpubunwhu b
owywmhjwlywu Ywwninnt dwnwynypyniutbpp, npnup hwoywnpyyty tu 2007 pYwlwuh
ognuwnup 24-h «UpdGuwnbip» PPL—h Ynndhg dwwnnigynn dwnwjnipntubph uwlywqubipp
uwhdwudwu dwuht << hwupwihtu dwnwjnigyniubbipp Ywpgwynpnn hwuduwdnnnyh
N340-U npnpdwt (pwnwpwjhu gwugh dwuny), pyny 17 Ytiwnbipnd owyunphjulywu Yuw
wwwhnybnt wuhpwdbionnigjwu, huswybiu twb hwunwgh dwywjwihu gnigwuhoubiph
hpdwu Jpw: Pjngbinwiht dwiuutiph nmunbuwghnwywu nwuwlwpgdwu wju hnnwdp
ubpwnnn pninp dwnwjniejniuutiph hwdwp punhwunip bwjuwwnbuyb) £ 228,606.6 hwg.
npwd, husp ywlwu E 2015 pwywup Gonywd gnigwuhohg 3,883.4 hwq. npwdny:
Uwwhnwgpwywt dwluubpp twfuwwnmbudb)] Gu 5,320.4 hwg. npwdh swihnd' hhdp
punniubiny 2010 pJwlwuh dwjhup  18-h  «Uyunnunpwuuwnpuwihu  dhongubiph

oguuwgagnndénihg pfunn  wWwunwuluwtwwnynigjwtu  wywpunwnhp  wwywhnjwannigjwu
dwuphu» <L optiuph  wwhwugubpp,  uwhdwujwd qubpp UL Bpuwuh
pwnuwpwwbunwpwund hwoywnwd dbiptuwubph pwuwyp: Snyph b uwppwynpndubiph
Jwpdwywinieiniup dpwagnpyb) £ 91,325.0 hwq. npwdp swihny 2015 pwlwuh 90,720.0

hwq. npwdh nhdwg Ywd 605.0 npwdny wybih, npp Ubipwnnid £ pwnwpwwbunwpwuh
npn2 dwnwjnnulwu dbptuwubiph Juwpdwlwniejniup, npu hp htipehtu ubpwnnud £ uwl
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npwug pupwghy unpngnudp, Jwnbihph Swfuup, qwpnpnh wpwdwnpnwp b wyu:
Upnwuwhdwujwu gnpdninnuubph gény dwiuubpp wwuwdnpyb) Gu' hphdp punniubing
L Yuwnwywpnipjwt 2005 pywlwuh ntlwbdpbph 29-h «Cwnwjnnwywu gnpdnindw

dyuwséd  wotuwwnnnubph  gnpénindwu  dwfuubiph  hwwinigdwt  hwdwp  Ywwnwpynn
Jéwpnuwiubph ujwqugnyt b wnwybjwgnyu swihbptu nu yéwpdwtu Yupgp uwhdwubine
dwuhu» N 235-U npnpdwdp uwhdwujwsd unpdbipp, Uwfunpn wwphubph thwuwnwgh,
2016 pywlwuhu dpwgpywd pwuwlwlwu gnigwupputipp b dpwagpyt) £ 68,500.0 hwg.
npwd' 2015 pwlywup Grnjwd gnigwuhphg 2,100.0 hwg. npwin wwlwu: Uju
hnnywény uwhuwwnbujwsd Swiuubpp Ybpwpbpnd Bu Gpuwuh pwnupwwbunwpwup'
ubpwnw| bGplwtu pwnwph wyjwqwunt  wunwdubiph, Ywnngwdpwihu  pninp
unnpwpwdwunwubph b Jwpswywu opowtubph ntywdwpubph  wofuwnwlwqdtiph
gnpéninnudubipht: dwpswywu dwnwjniginiuubph qdény uwfuwwbuyb| £ 3,185.1 hwg.

npwd’ pwnuwpwwbnwpwup ] Ywnnigwédpwjhu unnpwpwdwuntdubipp
wofuwwnwlwgdbpnud gppbiph  (hwuwnwpenpetph) Ywpdwu dwnwjniyejniututph  hwdwp'
2015 pJwywuh  Gnywd 3,404.9 hwq. npwdph nhdwg:  <wdwlwpgswihu

Swnwjnpyniuubph  génd  dpwgpdby £ 37,341.0 hwg. npwd'  pwnwpwwbnwpwuh

gnypwhwpyh, hnnh hwpyh, nbnwywu nnippbiph, wnpwhwuniejwu yéwpubph W hnnp
qupdwywinigjwu  hwypjwndwu  (pwquwyh), Yéwpnuubph  punniudwtu  wngwug
hwdwlywpgh U qwudwwbwnwlwu hwdwwpgswihu wnlw Spwapbiph, Jwpswywu
opowuutiph <0 hwdwlwpgh uwwuwpydwu hwdwp, pust wybp £ 2015 pwlywup
tonwd gnigwuhohg 387.0 hwqg. npwdny: Uhuwwwlwgdh Jdwulwghunwlwl

qupqwgdwu  Sdwnwjnipiniuubph hwdwp twpuwwnbudb] £ 4,510.0 hwqg. npuwd' <LK
optiuunpnipjwdp  twhiwwnbujwd hwdwjupwht  Swnwjnnubiph  Ybpwwwunpwunmdwu
gnpdpupwgu  wwwhnybint twywwwyny, huy 2015 pwlwuh pnwbh WYwndwdp
5,500.0 hwq. npwdh ujwgbtignudp wwjdwuwynpywsd L YGpwwwwmpwumnnd wugunn
hwdwjupwht  dwnwynnubph  pwpwiwyh  vjwqgtigdwdp. 2015 pEYwlwuhu
ybpwwywwmpwuwnnd Gu wugubint pyny 205 hwdwjupwiht dwnwjnn: StntYwwndwywu
Sdwnwinipniuubph gény dwiuubipp twjuwwbuyb) Gu 40,332.1 hwq. npwdp swihny' 2015

pYwlwuht hwunwwndws gnigwuhohg 909.0 hwg. npwdnd wybh' wwonnuwywu U
gbipwwbuswywu unpdwwnpy wywmbph wnbntYwanpbph, ppnoinipubph nwywgpnyejw,
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ptnpprtnh UL wduwgpbph, wnwwgpwywu wofuwwmwupubph (UGpwnw| plwuyubiph)
hpwlwuwgdwu, jpuwnywywu b gndwqnuiht dwnwjnieginiuutiph dtinpptpdwu hwdwn:
Ywnwywpswywu dwnwinieniuutiph qény Swiuubpp twhuwwbuyb) Gu 10,000.0 hwgq.

npwd' 2015 pwywup hwunwwndwsd gnigwuhoh swihny U ubpwnnud Gu wniphunnpwlwu
dwutwghunwgywd  Ywqdwybpwnieginiuubph  dwnwjnipniuutpp,  dwutwynpwwbiu
«Gplwu pwnuwpnid mbnulwu huptwywnwywpdwu dwuhu» << optuph 82-pn hnnywdh
4-nn Jwuht hwdwwwwnwufuwu Gphwu pwnwph 2015 pwlywuh pngth Yuwnwpdwu
hwaoybunynipjwu yGpwpbpjw wuywfu wntnhwn wuglwgubint hwdwp:
Lbipywjwgnigswlywtu dwluubph qény dpwanyb £ 132,181.9 hwq. npwd, husp wwlwu &
2015 pYwywuph 6Gondwd gnigwuhohg 16,882.0 hwqg. npwdny, L Uwjuwwnbuyb) b

wwounntwlwu  wwwyhpwynypyntuubiph  punnubnueniuubph bW wpwpnnuwpgwjhu
punyph dhongwnnuiubph htin Ywwyws dwfuubtiph, huswybu twl woluwwnwywqdbipnid
wnonjw ubipyuwjwgnigswywu dwiuubip hpwlywuwgubnt hwdwp: Cunhwunip punyph wy|

ownwinipntutbipp dpwapyb| Gu 51,633.8 hwq. npwdh swihny, husp ubpwnnuwd £ Gplwup

pwnwpwwbwnwpwup Jwpswlwu o6uph U 2-pn Jwpswlwu oGuph  wwhwwudwu
Swiuubpp, wjn  pYnud’  Jwppdwu  Swnwjnieyniuubpp,  Unebpp,  pupwghly  w)g
w2luwwnwupubipp, bwl pwnwpwwbtnmwpwuh woluwnwlywaqdh b Jupswywu opowuttph
w2luwwmwywqgubph gnpéwnnypubpny wwjdwuwynpjwsd owtipwwnhy hwnnpnwygnipjwu
wwwhndwu hwdwp wuhpwdbon Sdwnwjniejniuutipp W wyju: 2015 pwlwuh hwdbdwn
opwgpywd gnigwuhoh  wybjwgnip hhduwdnpynwd £ upwund, np wju  hnnyjwoény
Uwhuwwnbujwsd gnudwpubiph  opowuwyubpnd 2016 pwywupt  Uwjuwwnbuynd  §
hpwlwuwgub] Gplwuph pwnwpwwbwnwpwup Jwpswywu otupbpnd wnlw wdpnng
gnyph gnypwgpnd U EGYwpnuwhtu hwoqunnud' dwdwuwlwyhg uwppwynpnwiutiph
ubpnpdwdp W Yphpwndwdp: Uwutwghwnwywt dwnwinyejniuutiph qény uwfuwwnbiuybi &
10,593.4 hwq. npwdh swihny dwfuu' hpduwlwund hwunwpenebph wpfupdwgdwu

hwdwp, huswybu twb qwgh L wywnndwwn hGnwlunuwlywjwuh  uwwuwplydwu,
hunguwwwhh dwnwjniejwu hwdwp b dpwapybi £ 2015 pqwywup hwunmwnydwsd pjnigthg
11.5 hwq. npwdny wywlwu: UbkpGuwutiph b uwppwynpnidutiph pupwghy unpngdwu W

wwhwwudwu gény Spwapyty £ 276,153.4 hwq. npwd' 2015 pdwlywup hwunwnyws
pinbin uwfuwwmbujwd gnigwuhohg 1,008.5 hwq. npwdnd wybih, npp ubGpwnnud L
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pwnwpwwbwnwpwuph b Jwpswywu  opowutbph  wywndbpbuwubph,  qnyph,
hwdwlwpgswjhu  wbuuphywh b wy uwppwynpnwubph pupwghy unpngnwip bW
wwhwwunwip: <woqwplutiph hhdpnwd npytp Gu 2015 pwywup qudwu gnpdpupwgh
wpryniupnd duwynpwd qubpp b pwnwpwwbitmwpwuh hwoytyonnd hwodwndws W

thwuwnwgh 2whwagnpdynn gnyph pwuwywlwu gnigwuphoubipp: Spwubtjwywihu unyetip
U hwagniun hnnywény dwfuubipp dpwanpyb tu 84,621.9 hwq. npwd, husu wykih £ 2015
pYwlywuh hwunwwnywsd pnwthg 4,204.5 hwqg. npwdny, b hwoqwpyyt; Gu hhdp
punniubiny  wpfuwwnnutiph pqwpwuwyp L gnpdniubingjwtu  hwdwp  wuhpwdtion
gpwubbjwywihu unetipp: Spwuuwnpwwihu uinebipp dpwagpyb) tu 247,854.4 hwg.
npwdh swihny 2015 pwywuhu 6onwd gnigwuhohg 14,536.8 hwqg. npwdny wwywu W
hwodwpyyty Gu  Jupswlwu  opowtubphu uwwuwpynn  wywmndbpbuwubph

pYwpwuwyny, puswybu vwlb  npnp2  Ywnngwdpwhu  unnpwpwdwunwiubph
wnwudtwhwwynipyniuubpny wwjdwuwynpywsd  wuduwlywu  wywmndbpbuwubph
swnwinnwlwu  uwwwwlubpny oguwagnpddwt  hwuqwdwupny: YGuguwnwihu L
hwupwihu uuunh unyetiph gény Sdpwapyty £ 22,825.9 hwq. npwd' 2015 pwywup

tondwd gnigwuhohg 1,735.8 hwqg. npwdny wwlwu: <wwnnily bywwnwwiht  w
unuyebiph qény Spwapyty £ 7,850.0 hwq. npwd’ uwfunpn nwpyw gnigwuhohg 2,000.0
hwq. npwdny wybkijh, nph 2powuwyutipnd dawynipwihtu dhonguwnnuwubiph, tninuwywu W
hpowwwyh onptiph U wy| nbwptiph hwdwp twhuwwnbuybi £ dwnybwuwlubph W dwnywjhu
Yndwynghghwubiph  &bnp  pbpnud:  Unipupnhwtbp  ng  huwbuwywt  wbunwywu
(hwdwjupwiht) Ywgdwybpwnipnituutipht hnnjwény dpwagpyt £ 265,959.1 hwq. npwd,

husp uGpwnnw £ Gplwup pwnwpwwbnwpwup Jupswywu tuph b 2-pn Jupswywu
obuph wwhwwudwu dwuubpp, win pYnwd’ dwppdwu dwnwynigyniuttipp, Unyebpp L
pupwghy w) woluwwmwupubtipp: Uy twwuwnubp pingtihg hnnwény uwluwwmbuydb) L

43,100.0 hwgq. npwd, nphg 200.0 hwg. npwdp hwwnlwgynud £ npwbu fubindwu uwwuwn,
huy 42,900.0 hwq. npwdp' npwbu npwdwlwu  hnfuhwwnngnd  Gplwu  pwnwph
wywgwunt wunwdubphu, pusu wybp £ 2015 pJwlwup hwunwwnwd gnigwuhohg
1,950.0 hwqg npwdny' 2015 pJwlwup hnghup 1-hg  wduwlwu ujwqugnyu
woluwwnwywnsdh  pwpdpwgdwdp  wwjdwuwynpdws: Mwpuwwnpp  Jéwpubiph gény’

Ywnnigywépwiht b wnwuduwgywsd unnpwpwdwunwdutiph hwoybyznnd hwoungwéd
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wywndbipbuwubph wnbjuuhywywu quudwu Swfuutiph W wnppbiph Yéwpdwt hwdwnp
opwagpyby £ 3,157.5 hwqg. npwd: Uy dwhuubip hnnjwoény dpwapyty £ 22,000.0 hwg.
npwd' 2015 pwlwup hwunwndwsd gnigwuhohg 1,500.0 hwq. npwdny wwlwu' 2016
pYwlywuh pupwgpnd Ywnwyjwpswywu dwpdup wywhwywudwu hbn Juwdwd w)|
sywuluwwnbuywd Swiuubph Ywd npwug thnthnfunieniuttiph hwdwp: Spwuuwnpunwihu

uwppwynpnwdubph  génd' hpu L JBS  Swnwjnnwywu  Swfuubp  wwhwugnn
wywndbipbuwubph thnfuwpphtdwu bwywwwyny tpynt wywndtiptuwih &binp pbipdwu
hwdwp, twhiwwbuynd £ 22,200.0 hwg. npwd: Ywpswywu uwppwynpnwdubiph gény
Sdpwagpyby £ 103,744.0 hwg. npwd' 2015 pdwlywup hwunmwndws gnigwuhohg 35,167.0
hwq. npwdny wwlwu, npph 2powuwlubpnd  hhdbwywund  Uwjuwwnbudl) L

Ywnnigywépwiht b wnwudtwgywsd unnpwpwdwunwdubipt wwwhnygb] wuhpwdtown
gnypny W wnbfuuhlwny:

2. Ywpswlywt opjywnutiph hpduwtinpngnid dpwapny twhuwwnbuyb £ 184,794.3
hwq. npwd' 2015 pwlwuh Gondwsd pnwbh 137,498.5 hwq. npwdh nhdwg, nphg

20,000 hwgq. npwdp ninnybint £ Gplwuh pwnwpwwbunwpwuh 2-pn Juwpswywu otuph
dh hwwndwsdh unpngdwup, huy 164,794.3 hwqg npwdp' Upwpyhp, Eptipniuh, Uwjwehw-
Ubpwuwnphw, Unp Unpp L Chuquyhp Jwpswlwu opowtubph wpswlwu oGupbiph
unpnqdwt wotuwwnwupubiph 2wpniuwyniejwun:

3. Pwnwpwghwlywtu YJwgnipjutu wlhwnbph gqpuugdwt  Swnwinipjwi

gnpéntubinipjuwu Yuqdwlbpynd  (wwwyhpwyywéd jhwqnpnipyniuitip) dpwgpny

dpwapdby £ 92,595.7 hwq. npwd npwbu  wwwndhpwlywsd |hwgnpniggn’  hhdp
punniubing << 2016 pwlwup wbnwywu pnwwbth  twfuwgdn  uwfuwnbuwsé
gnigwuhppubipp:

4. Lwhwgdwiht wluwwnmwupubp Spwgpny Uwjuwwnbuygt| £ 149,700.0 hwgq.
npwd' 2015 pwlwuh 6ondwsd pjnwbing twfuwwnbuwsd 183,860.0 hwq. npwih nhdwg'

2017 pywlwuh pnwbu dpwagptihu Ywwhuw| dpwanpbpp twhuwgdwuwuwhwoywjhu
thwuwmwpnpebpn wwywhnybiint hwdwp:

5. bpuwtu pwnuph gqjuwynp hwwnwlwgsh hpwywtwgdwt Ybkpniénipniu
dpwgpny uwjuwwbuydbp £ 21,000.0 hwg. npwd’ 2015 pwlwup Gondwd pjnigbng
uwhdwuywd 6,000.0 hwqg. npwdh nhdwg: 15,000.0 hwg. npwd wybjugnidp
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Uwhuwwnbuywsd £ Gpluwt pwnwph 2005-2020 pe. glfluwynp hwnwlwagdh dogpundwu b
[pwd2wldwt twuwwwwnpuwunwywu wotuwwnmwupubip Yuwnwpbine hwdwp:

6. Snwpwynpiwt b Jwnnigwywwndwt twliwgdbph dwynmd Spwagpny
twfuwwnbuyl; £ 40,000.0 hwqg. npwd' Rwuwpbn-2Gjpeniu Jwpswlwu  opowup
gnunhwynpdwt uwfuwagdtiph dowldwu hwdwn:

7. Hhdnuwiubip, hwygunphdnidubp, nwuwpwup npnyndubph b y6pnubph nbd
yGpwpuuphs b yénwpbkl pnnnpubp ubpyuwjwgubjhu vwhdwujwéd yéwpubp dSpwapny

uwfuwwnbuyb] £ 44,440.0 hwg. npwd nwwuwpwu nhdbpu wbnwlwu wnippbiph
Jéwpdwu hwdwp, husp 3,940.0 hwg. npwdny wybihu £ 2015 pwlwup dondwd
gniguiuphg:

8. Gnypph ulwwdwdp hpwyniupubph qgqpuwugdwt, quwhwwdwt L

wnbnbywwynipjwu nmpwdwnpdwt htn juwyywd Jewpnudubp Spwapny bwjuwwnbuyb)
£ 90,430.0 hwg. npwd' 2015 pwlwuh hwunwwndwsd pngth 91,070.0 hwg. npwdh
nhdwg, husp ubipwnnw £ huswbu Gplwu hwdwjupht ubthwlwuniygjwu hpwyniupny
thnfuwugywdé gnypph, wjuwbu L puptwlwd Ywnnygubph ophtwlywuwgdwu

gnpépupwgnd  hwdwjuph  ubthwywunyeyntt  6wuwsynn  gnyph  gpwugdwt UL
quwhwwdwu Swluubpp, << YU wupwnd gnyph Ywnwuwnph whwwlwu Yndhunbiphg
wbintywwynyentt unwuw|nt yéwpubipp:

9. Pwnwpwghwiwu ww)inmwywunipjuuu wowlhgnipmu U gnpwlnsh

Juqdwlybpwdwut wowlgnipiniu dpwagpbtipny Uwfuwwnbuyb| Gu

hwlwwwuwnwuluwuwpwp 16,000.0 hwq. npwd W 26,000.0 hwg. npwd, huyp
wwjdwuwynpjwsd £ gnpénn optiunpnipjwip twiuwwnbujwd tjuquanyu b wuhpwdtion
wowlgnieiniut wwwhnybiiny: 2015 pwywup dandwd pngbih ulwwndwdp gnidwpp
opwagpyb £ 5,930.0 hwq. npwdny wybih:

10. Nnnqiwtu gwugh Ywnnignid b yEpwunpngnid dpwgpny twfuwwnbiuyby k

88,350.0 hwgq. npwd' Gpluwu pwnwph Jupswlwu opowtubpnd unp unbindynn Yuuws
wmwpwopubpnud, huswbu twlb wnlw uhqwdwpgbpnd nnngdwu gwugh wwwhnydwu
hwdwp'  hpdp  punnubind  vwhdwudwséd  Ywpgnd  Yuqgdwd  twuwhwowhu
thwuwwpenrbpp:
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11. Uudwjn-pbnntuyjw  Swdyh Jbpwunpngnmd b wwhwywuntd nt wudwjn-
pwnntuyw édwsyh hhduwunpngnud dpwgpbipny twuwwnbuyb £ 3,865,600.0 hwq. npwd'
2015 pywlywuh hwuwmwwnywsd pjnyth 4,082,636.7 hwqg. npwdh nhdwg Ywd 217,036.7

hwq. npwdny wwlwu: LVwpuwwbujws gnudwphg 3,284,000.0 hwq. npwdp
twpwwnbujwsé £ << 2016 pwlywup wbwnwywu pnwbh  twjuwgdny npwbiu
Uywwnwywiht hwnywgnud (unipytughw): Lowd punhwunip gnidwph 2powuwlyubpnud
Uwhuwwnbuynd £ ppwlywuwgub| onipg 850 hwq. pd wudw|n-ptinnujw dwoélyh pupwghy
ytpwunpngdwt  woluwwmwupubtip, nph 60-70%-p Uwfjuwwnbuynd L hpwlwuwgub)
pwywihtu wnwpwdpubpnd’ wyinwpuny wywpwhtu dnnbigubin pwlwihu mwpwdpubiph
unpnqdwt  wpfuwwmwupubiph dpwagphpp, huswbu twlb onipg 10,000 pd gpniuwnwghu
dwuwwwphubiph hhduwunpngdwu wofuwwnwuputp:

12. Bqpupwpbph yEpwunpngnid dpwgpny twluwwnmbuyb) £ 42,960.4 hwg. npud'
ypwpywd bGgpwpwpbph Jbpwunpngdwu W hnfjuwphudwtu  hwdwp, husybu twl
pwjpwjjwé pbinnub Ggpwpwnbiph yGpwywugudwu hwdwn, husu wyb) £ 2015 pywlywup
t6oindwd gnigwuhohg 10,000.0 hwq. npwdny:

13. Lkutwwwuwbph ypwunpngnmd Spwagpny twfuwwbiuyty £ 88,000.0 hwg.

npwd' 2015  pdwlywup  6Gondwds pnbhg 2,352.6 hwq. npwdny  wwlwu,
hwlwwwunwuluwt twjuwhwwihu wpdbpubpny: Unjw Jpwpwht hGuwwwwnbiphg
punpyb| U wnweuwjhuubpp:

14. LEnhnint wugnwiubiph Yunnignd b ypwtunpngnud dpwagpny twiuwwnbuyb)
E 459,000.0 hwq. npwd, nphg 400.0 hwg. npwdp' hbGnpninu  wugnwubph

Jepwunpngdwt woluwwnwupubp hpwlwuwgubine hwdwp, huly 455,000.0 hwq. npwdp’
pYnY 6 Ybtpglimujw wugnwiutph Ywnnigdwt hwdwp: Cun npnd pyny 5 Ybipgbinujw
wugnudubiph  Ywnnigdwu  Spwaghpp  Uwjuwwbudb] £ Gplwu pwnwph wjwgwunt
16.03.2012;e. N 404-U npnadwdp hwywuntgjwt wpdwuwgwd dpwagpny W hwodwpyyb
ohuwpwpniejwu wpdtipp' 400,000.0 hwg. npwd, nph Yydwpdwu nhdwg twjuwwnbuyby
tu 260,000.0 hwq. npwd’ wpunwphu gnuqn nbnunpbnt pnywuynigjuu winippph b
140,000.0 hwq. npwd' gnugnwihu wnwpwdph Jwpdwdbwpph gdnd Glwdnunubip:
Unwinptiph L Giptph hunwy wpdbpubpp Youwynpybu qudwt dpgnipwihu gnpdpupwgh
wpryniupnwd:  Uugnwiubph Junnigdwt  wnbuuhlwlwu W hbGnhuwlwihtu  huynnniejwu
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dwnwjnypgniuubph wpdbpp' 5,000.0 hwqg. npwdph swihn Uwluwwnbudb £ Gplwu
pwnuwph pnwbtih dhongutiph hwayhu: Opwgpny twfuwwmbujwd gnigwuhop wyby £ 2015
pYwlywuh hwuwnwunywsd pjnigtihg 47,656.0 hwq. npwdny:

15. Ywdpowjhtt Ywnnigjwépubph JbEpwlhwuqund b wwhwwund Spwagpny
uwfuwwnbuyb) £ 90,000.0 hwg. npwd' 2015 pwlwuh 6ondwsd pniwbing twfuwwnbudwd

gnigwuhoh swihny W ninnytint £ Gplwt  pwnwph  Ywdnipoubiph  uwyywuwpydwu
w2luwwmwupubiph hpwywuwgdwup:
16. {pwqnuup Yphpéh pwpblwpgmd Spwapny twhuwwnbuydt) £ 2,000.0 hwg.

npwd' pupwghy wwpjw hwdwwwunwufuwu gnigwuhoh swhnd' Upwpyhp Jupswywu
opowuh dwuny pupwghy pwptwpgdwu b dwppdwu wotuwwnwupubph hwdwp:

17. Uwypninpubph b thnnngubph yEpwywnnignid b hpduwunpngnmid dpwagpny
uwfuwwnbuyb) £ 100,000.0 hwg. npwd’ 2015 pwlwuh dondwd pjnigbihg 57,675.0 hwq.

npwdny  wwlwu: Opwgph  2powuwyubipnid  vwfuwwnbuynwd hpwlwuwgub)
ytuwmpnuwywu U dwpnwoww  hwndwdubpnd  Jdwjebph  uwhjwuwywwndwu
w2fuwwnwupubip:

18. ®nnngubiph wwhywund b Jwhwgnpénud Spwgpn uwfuwwnbuyb &
60,000.0 hwgq. npwd' 2015 pwlwup Gondwd pngkh swihny, nphg 20,000.0 hwg.

npwdp'  pwnwph  wwppbp hwndwdubpnd dnwnwywu  gwulwwwwnbph
btpwunpngdwu b ubpydwu, puy 40,000.0 hwg. npwdp' Gplwup wwppbp hnnngubipp
dpouwwwunbph b wy hwwndwdubiph pupwghy pwpbwpgdwt  wofuwwnwupubpp
hwdwjupwiht Yugdwybpwnipynwuutph dhongny hpwlwuwgubint hwdwn:

19. UWunnjuwjwuwwntinh juqdwlybpwydw dwnwjnipiniu dpwapny twiuwwnbuyb)
£ 770,000.0 hwg. npwd' 2015 pwlwup pnibh 6ondwsd gnigwupohg 70,000.0 hwg.
npwdny  wybih,  hugp hwduplde £ «Udnnipwtuwnpuowhu - dhgngutinh
Ywjwuwwnbintph nbnwywu wnnipph dJwuptu» << optupny uwfuwwnbiuywéd nnippbinhg W

sybwpdwu  hwdwp  uwhdwujwd  wniqwuptbphg  wyulwiynn  dnuwnpbiphg
wywnnjwjwuwwnbnh  Yuqgdwybipwshu  dwnwjnyeniuubph nhdwg  wywjdwuwgpwjhu
wndbpny:

20. [Fhpwhwppwlutph Ywnnignud b wywnpnwuutpnid ppwhwppwlubkph
wwwhndnud  Spwapbipny’ wbnwowndybint nddwpniginiu niubignn wudwug Ynndhg
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ubpyuywgwsé  wnwouwhbppnipjwdp'  wbnwowpddwu  dwwnskihniyeinitt - wwwhnybnt
uywuwnwyny twhuwwbudb] b hwdwwywunwufuwuwpwp 40,000.0 hwg. npwd' 2015
pwlwup  Gondwd pngbh  swihnd'  dinngngubpnd W dwyebpnud  9nipg 160
ptpwhwppwlutph  Ywnngdwu hwdwp L 20,000.0 hwg. npwd'  Gplwup
Gupwywjniggwu  pYny 5 wywnpnwubpnd  pbpwhwppwyutpph  Jwd  hwwnnty
ytpGiwywjhtu hwpdwpwuputiph dtinp ppdwu W nbnunpdwu hwdwp:

21. ®Pnnngubtph, hpwwwpwlubph b wightubiph Ywhwynpnd Spwgpny
Uwfuwwnbuyb £ 195,000.0 hwq. npwd, 2015 pwlwuh 6onywd gnigwuhohg 40,000.0

hwq. npwdny wwYwu, nph opowtwlubpnid twiuwwnbuynid k dtinp pbipk) W Jupswywu
opowuubiph thnnngubipnud nbinwnpb) unpwné bunwpwuubp, wnpwdwuubp, thnnngubiph
ninbuhotip,  Swnwputpp  JEwnwnwywu  Swoélynypubp,  hwjwnwpwpnieinuutiph
gnigwwnwfunwlubp, wbnunpb] pwnwpwiht unp  huunwjwghwubp, wjghubpnud
wybjwgub] bunwpwuubph pwuwyp, huswybu twl YybGpwunpngb| bwfunpn wmwphubiphu
wnbnunpywé bunwpwuubpu nt wnpwdwuubpp:

22.  Uupwlywtu pwtyh wowlgnipjudp hpwywtwgynn pwnwpwjh

Gupwlywnnigywépubph b pwnwph Ywinit qupqugiwt ubpnpnidwihtu Spwqgph
hpwgdwtu dhongwnmdubp oSpwagpn twfuwwbudby £ 726,973.6 hwqg. npwd:

dbpnhhgw|  Spwgph  hpwlwluwgdwtu uwywwwyny Gpuwl pwnwph Ywpswlywu
uwhdwuubpnud pwgwnhy gbpwlw hwupwihtu owh dwuwswd nwpwdpubtipnd guuynn
onwnynn ubithwywunipjwu (hnnh) nhdwg thnfuhwwnnignud  wpwdwnpbiint  hwdwp’
npwtiu ubipnpnwwihtu dpwgph hwdwphuwuuwynpned: Lawd dpwgpny 2015 EYwlwuhu
Uwfuwwnbiujwd tp 574,560.2 hwq. npwd:

23. Jbpbjwyubph bhpduwtunpngnd Spwgpny twjuwwnbugt] £ 98,392.1 hwq

npwd' 2015 pdwywup hwunwwndwsd pnwbh swihnd' pwqlwptwlwpwu 2Gupbph
ytpGiwyubpp hwdwp uwppwynpnudubph atinp pipdwu b tnbnwnpdwu tywwnwyny:

24. Gplwuhp dbwnpnynihnbtup w2luwwnwupubiph Juqiwlpynid
(wwwdhpwljwé hwgnpnipynitutip) Spwapny twiuwwnbudb) § 2,741,581.4 hwq. npwd'

dawnpnwnihntup untpupnwynpdwu twwwnwyny' npwbu wwwndppwlyywsd [hwgnpnignit’
hpdp punniubiny << 2016 pwlwup wbunwlywu pjngbh twfuwgdny twfuwwnbiuywd

gnigwuhop:
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25. Jbkpgblnujw Eltywmpwwpwuuwynpunny ninnpwihnfuwnpdwi

Swnwjnipyniuiip dpwgpny twjuwwnbuyb) £ 629,611.8 hwg. npwd npwbiu unpupnhw
«Gplwup LGyunpwwnpwuuwynpun» PRL-hu, nph dpwgpdwu hhdpnu puyws £ << 2016

pYwlywuh whwwlwu pjnobh twjuwgdny twjuwunbujwsd twwwmwlwihtu hwnlwgnidp
(unipdtiughw):

26. Jdbpwywnnigiwt b qupqugdwiu GYypnwyuwlwt pwulh, GYypnwywlyw
ubpnpnuiwiptt pwtyp b GYypnwywlywti dhnipjuwt  hwpbwunipjut  ubpnpnudwiht

Spwaqnph wowlhgnipjuwdp hpwwuwgynn Gplwuh dinpnynihnbuh Jipwljwnnigdwu

opwapbpny  (ywwyppwlywéd jpwgnpnipniiutp) utwfuwwmbuylp Gu  punhwunigp

4,295,404.9 hwqg. npwdh Spwagpbp npwbu  wwwndhpwlywsd [hwgnpnygnit’  hhdp
punniubing << 2016 pywlwup wbnwywu pnwbth  twfuwgdn  uwfuwnbuwsé
hwdwwwunwuluwu dpwagptipp (qwuyp Ygynud k):

27.  Rpnuwponipjutt  qupqugnd  Spwapny  bwfuwwnbuyt; £ 20,000.0
hwg.npwd' 2015 pwlwuh hwunwndwd gnigwuphsohg 5,000.0 hwg. npwdnd wybp’

Gplwu pwnwph (wn pYnd' wbuwpdwu Jwipbph) JGpwpbpw] wnbnbluwndwywu
pniyGwnubph nwywgpdwtu L wnwpwddwu, huswbu twl Gpluwup gpnuwpohlyubiph
hwdwp dwuwskih nwpaubntu ninnwé dhongwnnwdubph hpwwuwgdwu hwdwn:

28. Mpnoubiph wbnwnpnud dpwagpny uwfuwwnbuybi £ 49,000.0 hwq. npwd, husp

ubpwnnw £ puswybiu hwwnny opbipht pwnwph npnawlwqupnidwt  wfuwwnmwupubipp,
wjuwbiu b pwnwph wnwpptip hwnywséubipnud <& npnautiph nbinwinpnudp, ywppbpwpwn
thnfuwpphunup, uywuwpynudp b bwjuwwnbuyb) £ 2015 pYwlwuh Gondwd gnigwuhohg
8,000.0 hwq. npwdny ywlwu:

29. Upwlgnipjniu hwdwjupwjhts Juqiwlbpynipyniuutphu

hninwpywynpnipjntuutiph htin juwdwéd wudbwp dwnwinipintuutiph dwwnnigdwu b

gbipbqiwuwwmtutph wwhywudwt hwdwp dpwgpny twuwwmbuyt) £ 23,591.0 hwg.
npwd' 2015 pwlwuh hwunwndws gnigwuhoh swihny, husp dpwapwynpyby £ hhdp
punniubny << uwnwywpnipjwu 2006 pwlwuh untidptiph 23-h h. 1910-L npn2dw h.1
hwybjywdh 16-pn Ytwnp b vwfuwwmbuyb| £ gbipiquuwuwwnubph ypw wudbwp nbnwnpynn
dunwnulwu gnigwuwyubph hwdwp, huswybu twlb Yndhwnwuh wudwu wwupebinuh
wwhwwunypjwu hwdwn:
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30. Ywnwydwpdwtu b wbnbluwnduwliuwu wbjuninghwubph qwpqugnid

dpwagpny Uwjuwwbudby £ 134,656.8 hwqg. npwd' pwnwpwwbnwpwuh dpwgpwjhu
wwwhnynud b gwugwjhu nGlwywpnwd hpwlwuwgunn «Gplwt pwnwph Yuwnwywpdwu
wbfuuninghwubph YGuwnpnu» PRPL-hU unpuphnwynpbint hwdwp W dpwagnpyby £ 2015
pYwlywuh hwuwnwunywd gnigwuhoh swihny :

31. Uowlygnipnit hwdwjupwihtt b ny hwdwjupwiht uqdwlybpwynipiniuubkph
opwapbpht Spwapny twhuwwbuyb) £ 262,000.0 hwgqg. npwd, nphg 210,000.0 hwg.

npwdp Yppwlwu, dowynipwht b w) Ywqdwybpwnieniuubph Gplwtu pwnwphu
ytpwpbpnn dpwanptpht wowygtiint uwywuwnwyny, huy 52,000.0 hwg. npwdp Jupswywu
opowuubph  hwuwpwwywu  Yuqdwybpwniejniuubpphtu  gpowutbphu yGpwpbpynn
wmwppbip Spwapbphtu dwuuwygbint hwdwp:

32. Ny Phtwtiuwywts wywmpyubph onmwpnuihg dninpbp dpwagpny twuwwmnbuybip
Gu Jdnunpbip 5,094,387.4 hwg. npwd' 2015 pwlwupt hwunwunjws 6,607,378.1 hwg.

npwdh nhdwg, win pYnid®

w) wupwpd gnyph hpwgnwihg dnuwnpbipp dpwgpyb) tu 850,000.0 hwgq. npwdh
swihny, nphg 400,000.0 hwq. npwdp << Yuwnwywpnipjwt 2006 pwywuh dwjhuh 18-h
h. 912-U npnpdwdp  Uwjuwwnbujwd hupuwlwd Ywnnygubph ophtwlywuwgdwu
gnpdpupwgnid Ywnnygubiph onmwpnuwhg U 450,000.0 hwg. npwdp' Gplwu hwdwjuphu
ubithwlwunypjwu hpwyniupny  hnfuwugwd U owhwagnpddwt hwdwp ny whwwuh
Ywpuwjwwnutiph W wy| gnyph ownwnnidhg,

p) hnnh owwnpnidhg dnwnpbipp dpwagpyby tu 4,244,387.4 hwq. npwdh swihndy,
nphg 3,444,387.4 hwq. npwdp' hnnbtph wénipnnd LW npnuyh Jwbwnpny
owmwpnuwiubphg, huy 800,000.0 hwq. npwdp' ophtwywuwgywd hupuwlwd
Ywnnygubph gpwnbtigpwé U uwywuwpydwu hwdwp wuhpwdtionn hnntiph ownwpnwipg:
Cwojwplubpu  hpwlywuwgyby Gu hpdp punniubing  gnypwgpdwu  wpryntuputipp,
pupwghly wwpjw  ownwpdwu  Jdhwndubpp W gnpdppwgh  wywhywgdwu
huwpwynpnipniuubnn:

33. Snuwlwu duwynpnmd Spwagpny twfuwwnbuyb] £ 40,000.0 hwqg. npwd’

nnuwywu opbiphtu Gplwu pwnwpp yWwwowéd duwydnpbint, win pYnd’ ninuwywu |nyubp
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W uwppwynpnudubipn dbnp pbpbint hwdwp L dpwagpyb £ 2015 pwlwuh hwuwmwunywsd

gnigwuhoh swithny:
34. Cwugbwynpiwt wluwwmwupubp dpwgpny twhuwwnbuyt £ 116,000.0 hwg.

npwd' Gplwu pwnwph wjwgwunt 2011 pYwlwuh dwjhuh 6-h «Uuowpd gnyph hwugbh
wpwdwnpdwu nhdwg Yéwp uwhdwubine dwuptu» N 224-U npnpdwtu hwdwdwju
hwugbwynpdwu dwnwjnieyniuutipn &dbnp pbipGint twywwwyny L hwodwpyyt; £ 2015
pYwlwuh Ywufjuwwnbuynn Ywunmwpnnwlywuhg Glubny:

35. Lbpnpnudwyhtt dpwqpbph  ppwlhwiwgnmd Spwagpny vwfuwwmbuynd  §
128,200.0 hwgq. npwd' 2015 pwlwuh hwunwwndws pjnwbh swihny, nphg 8,200.0 hwg.

npwdp  Uwjuwwnbuynd £ ubpnpndwihu dpwgptph  bpwpbpw]  wwpwnbuwy
wbntywwndwlwu  ppnynipubiph,  pnylGnutph,  wuwingubph b ubpnpnudwpu
wbintywwnwlwu gppnylyubiph lwwagpnipjwu hwdwp, npp bwywwnwy nwwh hpwgbybine
huwpwynp  ubpnpnnubphtu, huswbu  Lwb  hwuwpwynipjwt  jwju  2Gpnkphu
dwjpwpwnuwpnd huwpwynp ubipnpnwdutp hpwlwuwgubnt hwdwp, huly 120,000.0 hwgq.
npwdp twjuwwnbuynd £ npwbiu untpupnpw hwwnlwgub] «Gplwup Ywnniguwwundwu
ubpnpnuwjhu dpwgptiph hpwwuwgdwu gpwubtjwy» <NUY-hu:

36. Muwpwwnhp Jéwpubph qwuddwt  dwnwynipyniuutp  dpwgpny
uwfuwwnbuyb) £ 350,633.3 hwg. npwd, nphg 13,680.0 hwq. npwdp' wnpwhwuniejwu

Jéwpubiph Ywufuhy quuddwu wunnppwanptiph vwwagpnigjwu hwdwp, 80,392.9 hwg.
npwdp' wnpwhwunyejwu  Jéwpubph qwudnwp pynd 2 Jwpswlwu opowuubpnid
owbpwwnputiph Jdhongny hpwlwuwgubine hwdwp, L 266,908.5 hwqg. npwdp’ djnw
Jupswlwu opowtubpnid unyu dwnwynipjwu nhdwg (Ubpwnw| hwdwwnhpnigniuubpht)
Jéwpdwu hwdwp: Swnwjnieginiuubph nhdwg Jéwpnup twhuwwmbudb) £ hwuwnwgh
qwudynn wnpwhwunyjwu yéwph 10%-h swihny:

37. Unwudtwhwwinily wwjdwtubph Ywphp niubignn  wudwug hwdwp

dwuwsbihnipjwt wwywhnynd dpwgpny twfuwwnbiuyt) £ 7,000.0 hwg. npwd, nphg

2,000.0 hwg. npwdp hwpdwunwdubppht  wywnnluwjwuwwmbnhh  wpwnunienLu
uwhdwubnt b 5,000.0 hwqg. npwdp' pYny 40 wywnnpnwubpnd ninunpubph W Ynyp
hwodwunwdutph hwdwp hwuwpwlwlwu npwuuwnpunhg ogwnybint dwwnskijhniypjwu W
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hwpdwpwybwnipjwtu  wwwhndwu, Ywuqwnubpp  wydunndwun  hwjnwpwpdwu
hwdwlwpgny Yywhwynpdwt hwdwp:

38. Wpunpwupwiht woluwwnmwupwiht dwnwynipjwu hpwwuwgnid dpwgpny
uwfuwwnbuyb) £ 17,640.0 hwg. npwd' hhdp punniubing << 2016 pwlywuh wbnwlwu

pnbih twhuwagdny twfuwnbujwd hwdwwwnwuluwu dpwghpp:
39. Unpwhwunipinit b uwupmwpwlwu dwppmd dpwgpny twfuwwnbuyby &

5,108,670.3 hwg. npwd' Gpuwu pwnwpnW wnpwhwunyejwu U uwuhnwpwlwu
dwppdwt dwnwjnyeniuutip dbnp pbpbint hwdwp b hwodwpyyb nu dpwagpyby £ 2015
pywlywuh 6onywd gnigwuphphg 225,538.5 hwg. npwdny wwlwu: Lpwgnighs
Uwhiwwnbujwd gnudwputiphg 30,000.0 hwg. npwdp Spwgpwd L wnpwdwuubiph
hwdwp gpwwuplyubph  Ywnnigdwu uwwwwyny, puly 20,000.0 hwg. npwdp
wnpwhwunyjwu b uwuhnmwpwlwu dwppdwt |pwgnighs Swnwnieiniuutip dtinp pbpbint
hwdwp:

40. Unpwdnintph uywuwpydwu b shtwpwpww wnph wnbnuithnfudwi

Swnwjnipyniuiip  dpwgpny uwpuwwbuyby £ 352,136.5 hwqg. npwd: Uu Spwgph
opowuwlubpnud bwfuwwnbuynd £ «Sunwdubiph dwuhu» << opbiuph hwdwwwwwufuwu

punpywd owbtipwwnph dhongny uwwuwpyb] Gplwu pwnwph pwqiwptwlwpwu
otuptiph  wnpwdnintpp  (jugwudwu  Jdwppnuwd,  wjunwhwunid),  hpwlwuwgub
wnpwdnintph wnppunniuhsutiph ybpwunpngnidp, huswbu twb wwwhnyb Jupswywu
opswuubpnid hwwpywd shtwpwpwlwu wnph pwpéndu ni nmbinwnfunudp:

41. Qnbiph hniubiph Jwppnud dpwgpny uwfuwwnbuyby £ 38,683.0 hwg. npwd'

pun  Jwpswywu  opowuubpny  wugunn  hwwndwdubph'  hwdwwywwnwufuwu
hwojwnyutipny, 2015 pwlwup hwunwunywsd gnigwuhoh swihny:

42. Ywuws nmwpwépubph hpdund b wwhwwund dpwagpny twluwwmbuyb| L
1,631,000.0 hwg. npwd' 2015 pwywupu wfuwwnbudws 1,663,636.4 hwg. npwdh

nhdwg, nphg 1,571,000.0 hwq. npwdp ubipwnnud £ Ywuws nmwpwépubiph ywhwywudwu
swnwjnypntutbpp, Ynyebpp U nnngdwu 9opph wpdtipp, dwnbiph flndwu Sdwnwjnieiniup,
30,000.0 hwqg. npwdp' wuyphubph &bnppbpnwp, 40,000.0 hwgqg. npwdp' pwnwph
ubithwlwunipiniu hwunhuwgnn nujwpwup Yywhwwudwu dwfuubipp:
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43. Upuwnwhwtdwtu U dhowwmwqbtpddwt  Swnwjnigyniuup  dpwgpny

twfuwwnbudb) £ 36,051.0 hwqg. npwd' Gplwu pwnwph wwppbp hwndwdubpnd
nbnwwnhqughnt  wfuwwmwupubph  Ywqlwybpydwtu hwdwp W Spwapydtp £ 2015
pYwlywuh hwdwwwunwufuwu gnigwuhohg 5,000.0 hwg. npwdny ywlwu:

44. Cwuwpwywlwu gniquputttph ywhwywund b yEpwunpngnid dpwgpny
twfuwwnbudb) £ 2,420.0 hwqg. npwd wwhwywudwu U Jwppdwt  woluwwnwupubipp
Ywaqdwybpwbnt hwdwn:

45. Uhqwiwpqbph unmbtnénmd b Swnuuwwwnd Spwgpny Uwjuwwnbuyb) L

311,900.0 hwgq. npwd, hush 2powtwyubipnd vwfuwwbuynd £ qugnuwwwwunb] W
dwnyuwuwwwnby pwnwph thnnngubiph, hpwwwpwlubph b punwph dnunptiph 2nowlw)pp:
Cun npnd’ Upwd gndwph opowuwlubpnd wyblh wpryniuwdbn Yugdwybpwbing
wpryniupnd dwfuwwmbuynud £ &Gnp pbipk| dwnywuwdhutip, upqudwpgbiph untinddwu W
wwhwwudwtu hwdwp wuhpwdtion pniuwhnn b Yuwpdhp wywq, huswbiu twb wwwhnyb)
wnbnwywu dunwnwiwnp wuypubph b uwdhjubph dbnppbpnup’ npwuny puy bwwbu
wybjwgubiny  Gpuwu pwnwph upqwdwpgbph  Swnyuwwww U Ywluwswwwn
dwytiptuutipp: Npn2 Ynyetiph dtinpptpdwdp U ogunwgnpddwdp Uwjuwwnbuynid £ uwl
uhqwdwpgbph ginwpytunwywu dLwynpnid:

46. (dwthwnnn YGunwupubph Juwuwqbpénd Spwapny uwfuwwnbuyb] L
120,000.0 hwgq. npwd' 2015 pwywup dondws gnigwuhoh swihny * Gplwt pwnwpnud
pwthwnnn YGunwuphubph Juwuwqbpddwu fuunhpp Ywunuwlwpgbijnt hwdwp:

47. bupuwlwd Ywnnygubph pwunnd dpwgpny twjuwwnbuyb) £ 16,000.0 hwg.
npwd' 2015 pwlwuh Gondwd gnigwuhohg 6,414.4 hwqg. npwdn wwlwu' wju

huptwywd Ywnnygubiph pwundwu hwdwp, npnup huwpwynp sk hpwlywuwgub)
Ywnnigwwwwnnnubiph hwayhu:

48. 2nppnpn  wuwmhtwuh Jpwpwiht tupkph pwundwt dpwgpny 2016
pYwlywuht twjuwwnbuynd £ 70,000.0 hwq. npwd: Opwgpny twfuwwnmbuynwd L

wwwhngt 2015 pwywup  hwdwwwwnwufuwt  dpwgph  2powtwyubipnid
Ybpwpuwytigywsd b wquundwé ypwpwihu otuptph pwunnwp:

49. Spwuuhwih Lwupwwbwnypuit  jwnwydwpnipjutu  wowlgnipjudp

hpwiwuwgynn Gpuwuh opwdwwmwlwpwpdwtu U opwhbnwgdwu  Spwqphtu
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wpwdwnpynn  wnbjuhluwlywt  wowlygnipjuu  dpwgpny  (wwwnydhpwlywd

thwgnpnipinibubp) b JdbEpwlwnnigdwtu b qupqugdwu  Gdpnwuwlwu  pwulyh,
Gdpnwuwlwu ubpnpnudwiht pwubh b Bypnwwlwu  Jhnipjwu  hwplwunipiw

utipnpnidwihu Spwqnh wowlygnipudp hpwlwuwgynn Eplwuh

opwiwwnmwwpwpdwu pwpbjwyddw opwqpbipny (ywuyhpwlywsd
thwanpnipyniuitp) twfuwwnbuyb) £ 5,121,648.0 hwg. npwd' npwbu wwwdhpwyyws
lhwgnpnipyniuutp W dpwapyt| £ << 2016 pywlwuh wbwnwywu pnwbh twuwgdny
Uwfuwwnbujwd gnigwuhubiph hhdwu Ypwi:

50. Upwnwpht jnwwydnpnipjutu guwugh swhwgnpddwtu b wwhwywudwu

w2luwwnmwupubip dpwapny twjuwwnbuyb £ 2,361,043.8 hwq. npwd ubpywjndu gnpdnn

[nLuwynpniejwu ntidhdh ywhwywudwt wywpwaquwjnd woluwwnwupubph Yugdwybipwdwu
hwdwp: Opwghpp twjuwwnbuwsd £ << 2016 pwlwuh wybwnwlwu pnigh twfuwagdny
Uwhiwwnbujwsd uywwnwwiht hwnwgdwu (untpytiughwih) hwoypu:

51. Chuptiph qinwpybunmwlywtl jnuwynpmd dpwagpny twjuwwnbuyb) £ 9,000.0

hwq. npwd' Chuqwdppe Jwpswlwu opowund . Ldnbhp  hpwwwpwlyh U
Pwagpwuwniujwg thnnngh tuptiph  ubnuwjht  |nwynpneyniup  yGpwywuqubine L
wwwhnybnt tywwnwyny:

52. Chuptph U jpunipyniuubiph hGwnwgnundwt  woluwwmwupubp dpwgpny
uwfuwwnbuyb) £ 20,000.0 hwg. npwd’ 2015 pwlwup hwunwndwsd pnigbh gnigwuhohg
12,000.0 hwg. npwdn wybh, husp ubpwnnd £ pwqldwptwlywpwu oGupbph

Jpwpwjuniejwu wuwnhbwup hGunwgnunwdp UL hupuwlwd Ywnnygubipp
ophuwywuwgdwtu  gnpdpupwgnd  Ywnnygubph  Jbpwpbpw;  wbuuhyuywu
Ggpwywgnieyniuutiph wpwdwnpnidp:

53. Pwqiwptwlwpwu tuptph hwppe wwupputph JGpwunpngnd L

pwqiwptwlwpwt  JGuptph  php wwuppubph JEpwunpngmd  Spwapbipny
uwfuwwnbuyb] b punhwungp 452,068.9 hwq. npwd' 2015 pwlwup hwunwndws
pnbihg 4,155.3 hwq. npwdny wwlwu: Opwagph 2powuwlubpnd  wnwuhpubiph
unpngdwtu U wwhwywudwt  wpfuwwnwuptbpp  Ywqdwybpwybine  Gu  wnwppbp
dnuntignidutipny (w2fuwwnwuputinh wwwnybin, ujniebinh wnpwdwnpntd
hwdwuwhpnipyniuubphtu b wyju):
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54. Pwlwiht wwpwéputiph b juwnwhpuwwywpwlubph hhduwunpngnid b

wwhywund Spwgpny  twjuwwnbudbp £ 1,433,837.6 hwqg. npwd’ 12 Jwpswywu
2ngwuutiph  Ynndhg puunpwd  pwlybph  pwpbluwpgdw, huswbu twl Jupswywu
opswuubipnud pYny 9 unp dhup $ninpnih nwowmbph Yunnigdwtu hwdwp: Uhwdwdwuwy
Uwfuwwnbuyb| £ 200,000.0 hwg. npwdh 2powuwlutipnid dtnp pbipt; b pwptywpgynn
pwlwihu nwpwdpubipnid wntnunpt| dJwuwlwu fuwntip:

55. Puqiwptwywpwi stupbph pwpbjupgiwt wy] woluwwnmwupubp dpwagpny

Uwfuwwnbudb| £ punhwunip 554,249.0 hwq. npwd, nphg 40,000.0 hwq. npwdp
Uwhuwwnbuynd £ sGupbiph Swuwnubph pupwghy unpngdwu U dwppdwu  hwdwp,
10,000.0 hwq. npwdp' stuphg pwihynn uwibphg wwonwwuhs Jhongwnnidubph
hwdwp, phuy 504,249.0 hwg. npwdp' pwqiwptwlwpwu obupbph  Jdnunpbph
wdpnnowlwu  YbGpwunpngdwu, 9ppwth funnnjwlyubpph  thnfuwphtdwu L owy
woluwwmwuputiph  hwdwp:  Opwgpywd gnigwuhyp  wwlwu L 2015 pwlwup
hwuwnwwnywsd pjnwting twjuwwnbujwd gnigwuhohg 2,898.9 hwq. npwdny:

56. puwjht Yuwnnygubiph Jwhwgnpénid b ywhwywtnd dpwapny twfuwwmnbuybip

£ 325,500.0 hwq. npwd’ Gplwt pwnwph hwdwjupwihtu ubithwlwunieiniu hwunhuwgnn
pninp owwnpqwuubph swhwgnpddwu W pupwghy unpngdwu hwdwp' 2015 pwlywuh
gnigwuhohg 5,500.0 hwq. npwdny wyb), husp wwjdwuwynpdws £ EGYwmpwtubpghwih
uwlwqguh thnthnfuniypjwdp::

57. Ywpuwjwwmubph wywhwywund Spwagpny Uwjuwwnbuyt) £ 26,871.6 hwg.
npwd, 2015 pwlwuh Gonwd pnigbh gnigwuhoh swihn W ubGpwnnd £ Gplwu

pwnwpht  ubhwlwuniypjuu  hpwyniupny  thnfuwugwd  Ywpuwjwwnubph  gnin
wwhwwudwu (whwlwjhu dwnwjnypjwu ujwquanyu wpdtipp) dwfuubipp:

58. Ywdwpwugnidutiph b wy 2htinyeyniuittiph ypwunpngnid b gnitwqupnnid
dpwapny twluwwnbuyby £ 60,000.0 hwg. npwd* 2015 pywlwup gnigwuhoh swihny, husp

ubpwnnd £ obuptph  nGUYnpwwnphy  gniwqupnndp,  pwnuwph  Juwujwd
Ywdwpwugnuwutiph  JGpwunpngnwp,  pwnwpwhu  dGwnwnyw  hGuwynwubph
yGpwunpngndp W hwwnniy Ynyeny GpGuwwwunnudp:
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59. Jpwpwjhtu ywwqudputph unpngnid dpwagpny twhuwwnbuybi £ 53,000.0

hwq. npwd' 2015 pwlwuh Gandwd gnigwuhohg 17,000.0 hwg. npwdny wwlwu, U

dpwanyti £ unpngliy oning 180 Jpwnwiht wwwnpquidp:
60. Unjninuqétph Ywnnignud b gGpwunpngmd Spwagpny Uwjuwwnbuyb) &

4,000.0 hwqg. npwd, 2015 pywlwuh Grnjwd gnigwuhohg 23,000.0 hwg. npudny
wwlwuy, Gplwu  pwnwph npng  gbuptiph ubppht Ypwpwiht - Ynjninwgdtiph U
htinnwuwnwputiph hpduwunpngdwu hwdwp:

61. Unnnowwwhwljwt wqdwlbtipwynipintuubtiph hwdwp pdrlywlw

uwppwynpnidubiph  dknp  ppnud  Spwgpny  Gwjuwwnbudt; £ hwdwjupwjhu

Yuwquwlbpwnieyniuubphu hwwnlwgubp 71,500.0 hwg. npwd’  wnweuwihtu onwyh
wnwouwhbipp hwdwpynn pdr2ywlywu uwppwynpnidutiph dtnp ptipdwu hwdwp:

62. Unnnowwwhwlwt opjtywnubiph hhduwtinpngnud dpwapny twhuwwnbuyb) k
210,000.0 hwqg. npwd, nphg 60,000.0 hwg. npwdp Yninndp wnhyhuhywubph
wwuwnthwuubph  ginfuwphudwup, huy 150,000.0 hwqg. npwdp’ obinnigdwup, hugh

2unphhy pninp wnihlihuplwubpp Ynwnuwu gkinnigynn:
63. Tdwpwdwuwskih  hGwnmwgnunipyniuuph ~ hpwwiwgnd  Spwgpny
Uwluwwnbuyb) £ 12,000.0 hwgq. npwd* 2015 pwlwuph hwunwndws pjnigbh swihinyg, nph

opowuwlubpnud  uwfuwwbudtp £ unghwjwwbu  wuwwwhny  pwnwpwghubphtu
Yndwniintipwhtu nindngpwbhwih dwnwinywu npwdwnpdwu hwdwn:

64. Uynpwwjht dhongunnidutiph Yugqdwybpwynd dpwagpny twjuwwnbuyb)
109,899.9 hwq. npwd' 2015 pYwlwup hwibdww 26,900.0 hwg. npwiny wywlwu' hhdp
punniubin uwfunpn  wwphubppt hpwlywitwgwd L 2016 pYwywupt  uwwuynn

dhongunnwdubph pwuwyp:
65. Swiigunh gnuhutph U gpnuwjghubiph Ywnnignid ni wywhwywunid
Sdpwapny Uwfjuwwbuyby £ 424,000.0 hwg. npwd' 2015 pqwlwuh Gondwd pynwkp

443,340.0 hwq. npwdh nhdwg, nphg’ 40,000.0 hwgq. npwdp' Uppwhwpubph qpnuwjgnt
wwhwwudwu, 44,000.0 hwg. npwdp’ hwuguwnh gnunhubiph bW gpnuwghubph pupwghy
L Ywwhww) unpngdwt U wywhwwudwt hwdwp, hul 341,000.0 hwg. npwdp’
Undhunwuph  wwuptnuh hwpwyhg wgnt b Unipwpwobuh  wijgnt  unbnddwu W
ybpwywuqudwu hwdwp:
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66. Shdwujwhpwwwpwyh whwgnpénd dpwagpny twjuwwnbiugt £ 52,000.0

hwq. npwd' 2015 pwlwuh hwunwwndwsd pjnybhg 4,000.0 hwg. npwdnyd wybh, npp
wwjdwuwynpjws & dhwju EGYunpwkubpghwih uwlwquh thnthnfuniejwdp:
67. Spwnwpwtwihtt Swnwjnipyniuubip Spwgpny uwfuwwnbiuyb  452,291.2 hwgq.

npwd' Gplwup hwdwjupwiht gpwnwpwuwhtu Yuqdwlbpwniyeniuubphu  untpupnhw
wnpwdwnpbnt hwdwp: 2015 pYwlwup doinydwsd pjnwth hwdbdwwn 1,059.6 hwq. npwdh
wybjugnuip wwjdwuwynpdwsd £ dhwju fiGYunpwtutipghwih uwywagup thnthnfunipjwdp:

68. (wuqwpwuwiht Swnwjnipjniuup U gnigwhwunbuubp Spwqpny
Uwfuwwnbudb) £ 253,038.5 hwqg. npwd' Gplwup Gupwlwjniepjwu pwugqwpwuubph
wwhwwudwu hwdwp << 2016 pYwlwuh wtwnmwlwu pingh twjuwgdny uwfuwwnbiuwsd
Uywwnwwjhtu hwnwgniudubph hwayht:

69. Cwiwjupwihtt Jowynyph b wquw dwdwugh Yuqdwybpynd Spwagpny

Uwluwwnbuyb) £ 111,245.0 hwq. npwd’ Gplwup Gupwywnyejwu «Ujwup dowynyeh
nnt»,  «Gpuwuph  «Ubpwunphw»  dowynyeh Ybuwnpnu», «Lnp Lnpph  dowynyph
ytunpnu», «<< Gplwup Chuqwyhe hwdwjuph phy 5 dowynyph Yaunpnuy» b «2bjeniuy
dowynipwihu  YGuwpnu»  <NUY-UGph  wwhwywtudwu  hwdwp: 2015 pdwlwuh
hwuwnwwnywd pjngtih hwdtidwwn 20,335.8 hwg. npwdh wybjugnp ywjdwuwynpywsd L
LiGYyunpwtubpghwph  uwlwqup L 2015 pYwlwuh  hnghup 1-hg ujwqugnyu
w2fuwwmwywnséh thnihnfuniyjwdp:

70. Uswynipwihu dhongwnnidubiph hpwywtwgnid dpwapny twjuwwmbuyb) k

734,805.7 hwq. npwd' 2015 pwlwuh dondwsd pjniybihg 18,602.1 hwg. npwdny wwlwu,
nph hwoywpydwu hhdpnid pulwd £ 2015 pywlwuh tnyu dhongwnniudutiph hwdwnp
uwwuynn Ywwmwpnnwywup:

71. Ykunwuwpwtwywu wygnt gnigunpnipiniiutp Spwapny twluwwnbuyb) £
253,464.9 hwq. npwd’ «Gplwup Yeunwuwpwuwlwu wjgh» <NUY-h unipupnwynpdwu
hwdwn' £€ 2016 pwlwuh wbwnwlwu pngh twiuwagény twuwwnbudwsd twywwnwwhu
hwwnlywgnidubiph hwayhu:

72. Yhunwtwpwtwlwtu wignt hpduwunpngnid  Spwgpny twjuwwnbuyb) §

450,000.0 hwg. npwd' 2015 pywlwuh Gandwd pjnigbh 539,600.0 hwg. npwdh nhdwg:

33



Opwanph 2powuwlubipnd vwfuwwnbiuynwd £ ppwywuwgut] YGunwuwpwuwlwu wjgnt
wdpnnowlwu yGpwunpngnudp b wpnhwywuwgndp:
73. Gpwdramwpybunh b ywpwpybunh hwdkpqubp dpwgpny twhuwwnbuyb) &

109,794.3 hwg. npwd' 2015 pwlwuh hwunwnwsd pnigbh 98,991.7 hwq. npwdh
nhdwg' Gplwup Gupwlwinipjwu «3nt. Pwfugywuh wudwu Jwulwywu $hihwpdnupw»,
«Gplwuy»  thnnwyht  tjwqufunudpy, «lwjwuwnwuh  thnpphYy  Gpghsubip»  dwulwywu
$hihwpdnupwy», «Uwpwpeniy» dowynwiht  Yaunpnu» <NUY-ubph b «lwj-Upun»
dowynipwhu Yeuinpnu PPL—h untpupnwynpdwu hwdwp: 2015 pwlywuh hwuwnwnywsd
pinbih hwdbdww wybjwgnudp wwjdwuwynpwd t EGYwnpwkubpghwih vwlwquph W
2015 pwlwuh hnyhup 1-hg bwquagnyt wofuwnwywpdh thnthnfuniejwdp:

74. ([Gwwnbpwlwu ubpYyuwjwgnidubp dpwapny twfuwwnbiuyb) £ 362,835.6 hwg.

npwd Gplwuh Gupwlwjnigywu eYny 3 pwwnpnuubph untpuphnwynpdwu hwdwp <<
2016 pYwywup wbwwywu pnbh  twlwgény Uwjuwwnbujwd  Uwwwnwlwihu
hwwnlywgnidubiph hwayhu:

75. Snpwpdéwuutph yEpwunpngnd b wywhwwunid dpwagpny twjuwwnbuyb) &

25,650.0 hwg. npwd' 2015 pwlwuh hwunwndws pjngbh 25,700.0 hwg. npwdh
nhdwg' hnpwpéwuubph |Jugdwu U wju hnpwpdwuubph unpngdwu b ywhwywudwu
hwdwp, npnup pungpywsd 6 wbnwlywu ywhwwuniyejwu Gupwlw hnywpdwuubph
gwuynd:

76.  Pwnwpwwbwnwpwuh  wiluwwnwupubph  nuwpwunid  dpwgpny
uwfuwwnbuyb) £ 36,000.0 hwg. npwd’ 2015 pwlwuh hwunmwwnydwsd pjnigbh swihny, npu

nuinnybiint £ dwjpwpwnwpwiht wnopjw Ywuph, puwysnigjwup hnignn fuunhputiph,
npwug [ndwu ninhubph, pwnwph wwwqwjht dhnwsd twluwatnunieniuubph W
qupgqugiwu tywwwwjht dpwagnptiph htinnwuunwwunbuwiht (nwwpwudwp:

77. Uunwdwlgnipjwu Jéwpubip dSpwgpny twhuwwnbuyb) £ 31,325.0 hwq. npud’

Spwiuwfunu pwnupubph pwnwpwwbinmtph dhowqgquwihu wunghwghwjh, Gypnuywywu
pwnwpubph wunghwghwjh (EUROCITIES), Uhowqgquwjht pwnwpwjhu hwdwjuputiph
[ntuwynpnid  wunghwghwih (LUCIH), UM< dwjpwpwnwpubph W funpnp pwnwpubph
dhowqqujhu wuwdpltwh, Lwdwoluwphwiht  dwnwugnipjwu  pwnwpubph
Ywaqdwybpwniejwu, Stnwywu hofuwunieniuutipp hwuntu Yuyniunygjwu wunghwghwyjh,
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Cwjwuwnwuh hwdwjuputiph dhnigjwu b <wjwuwnwuh wywqwuhubph wunghwghwih
wunwdwygnipjwu Yyéwpubpp Jéwnbnt hwdwn:

78. Lwjuwnwpngwlwu nwnignd dpwgpny twluwwnbuyb) £ 7,666,452.8 hwg.
npwd 2015 pqwlywuh hwuwnmwwnwsd pnigth 7,566,404.3 hwg. npwdh nhdwg Yuwd
100,048.5 hwq. npwdny wybi|: <wodwplutiph hhdpnud npdb) £ 1 Gpbjuwiht wduwywu
nunigdwu (Wwhwwudwu) dwluutiph dhohtu hupuwpdtipp, npp dpwapyb| £ 22.5 hwg.
npwdh swihn (2015 pqwywup  swihny), huswybu twb  jnipupwugngp <NUY-h

wwhwywudwtu oSwfuubph hwdwp wduwywu 650,0 hwqg. npwd, hul pnthg
hwwywgnudubpp twhiwwnbudt) Gu hwoyh wnubiind 2015 pYwlwupu bGpbluwutph
thwuwnwgh dhoht rehyp’ npngwlh wéh huwpwynpniejwdp:

79. Lwhwnypnguwlwi nwnigdwt  Yuwqdwlbpydwt hwdwp wuhpwdbtnm
qnyph &bkinp plipnud dpwagpny twjuwwbuyb) £ 200,000.0 hwg. npwd' 2015 pYwlwuh
hwunwwndwd pjngbh  swihny, hush opowtwlubpnd  wjuwwnbuynd £ Gpuwuh

pwnwpwwbunwpwup  Jwuwwwpwbqubph  hwdwp  &Gnp  pbptp L pwpdwgub)
dwhbéwwutip, ubnwuubp, wpennutp, uwppwynpnwitutp (qwqoowlfu, uwnUwpwu,
duwnwg) U wyu: Spwghpp 2wpniwywlwu £ dhusk  fuunph wdpnnowlwu
Ywpgwynpnidp:

80. Lwjuwnupnguwwt Yppnipiniu  (qwuwyhpwywséd hwgnpnipeiniuitip)

dpwagpny twluwwbuyby £ 7,512.5 hwg. npwd’ npwbiu ywndhpwlydwsd thwgnpnipyniu’ <&
2016 pywlywuh wtwwlwu pjnbh bwfuwgsdh hhdwu ypw:

81. Cwupwlppwlwiu ntunignid, hwwnniy Ypenieinia, tipwnwlwiu Ypenipintu

L Gphynywu nungnd Spwagpbpny twjuwwnbudby £ 16,234,907.7 hwq. npwd' npwbu

wwuwdhpwydwsd pwgnpnigniu’ £ 2016 pwlwup wbwnwlwu pnigh  twfuwgdny
Uwhuwwnbujwd gnigwuhgutpny W hwodwpyyb £ opbuunpnipjwdp  uwhdwuywsd

pupwgwlwngbpny:
82. Upwnwnwpngulwt nwuwmhwpwlynipinit  dpwgpn  twfuwwbuyby &
2,521,749.1 hwq. npwd, husp hpduwlywunw ubpwnnd b Gplwup Gupwywjnyejwu

Gpwdrnwywu, uynpwnp, wpytiunh b owjudwnh nwpngubph untpupnwynpnidp: Loywsd
opwaghpp ubpwnnud £ bwlb pyny 2 uynpnn nupngubiph wwhwwudwu dwluubipp, npnup
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Uwfuwwnbudb tu <€ 2016 pwywup wtwwlwu pjnwbh twhiwagdn twluwwnbuwd
uwwunwywihu hwinwgndubph hwayhu' 56,688.1 hwg. npwdh swihny:

83.  Upunwnypngulywti  Ywqdwybpynipniuubph  hpduwunpngmd L
yGpwunpngmud  Spwagpny Uwjuwwnbuyb) £ 740,000.0 hwqg. npwd’ 2015 pywlwuh

hwunwwnywd gnigwuhohg 128,225.1 hwgq. npwdny wyb|, nphg' 40,000.0 hwq. npwdp
Gpuwuh Lwuwptin-RGpenu U ULnpp-Uwpwy Jwpswlywu opowttbtipnd  pwfudwwnp
nwpngubph uwnbnddwu hwdwp, huy 700,000.0 hwg. npwdp’ wprnwnwpngwlwu
Ywqdwybpwnigyniuutpnud  9bnnigdwtu  fuunhpp wdpnnonipjwdp nwdkint - L
yGpwunpngdwt wofuwwnwupubpu hpwlwtwgutiint hwdwp:

84. «Lwlynp UYnonjwu» Yppwhwdwihp MNNUY—nd  wpunwnupnqulut

nwuwmhwpwynpjut juqdwybpynd (uwwdphpwlyyjwéd jhwgnpnipyniiitp) dpwapny

Uwluwwnbuyb) £ 7,980.2 hwq. npwd' npwbu wwwndhpwlywsd |hwgnpnyeynit’ << 2016

pYwlywuh wyhwwlwu pjnwbih bwfuwagsh hhdwu ypw:
85. Gpuwdrnwlwu b wpybunh nypnqubpnud wqquihu, thnnuihtu b jupwihu

tjuwqupwuubph qénd nwnigmd Spwgpny twfuwwnbuygb) £ 162,709.0 hwg. npwd’
npwbu unipupnhw’ << 2016 pwlwuh whwnwlywu pjngh twjuwgdny twuwwnbuws
Uywwnwwjhtu hwnwgnudubiph hwayht:

86. Upunwnuwpnqulwu Juqdwlybpynipiniuutiph hwdwp wuhpwdbyn qgniyph

abinp pbpnud dpwgpny twjuwwbuyb) £ 80,000.0 hwq. npwd, nphg' 40,000.0 hwg.
npwdp  Gplwup Gupwlwnipjwu  Gpwdonwlwu nwpngutiph hwdwp  gnyph UL
Gpwdonwlwu gnpdhpubiph dtnp pbpdwu hwdwp, 40,000.0 hwg. npwdp’ 2wfudwwnp
nwpngutiph hwdwp gnypph b dwpquywu Yugdwybipwnyeniuubiph hwdwp dwpqugnyph
Gbnp ptipdwtu hwdwp:

87. Lwhiwnwpngulwi hwumwwnnipintuutiph hhduwunpngnid 1]

Yypwunpngnid  Spwgpny twjuwwnbuybp £ 552,000.0 hwg. npwd' 2015 pqwlywuh
tondwd gnigwuphohg 14,502.7 hwq. npwdny wwlwu, nphg 550,000.0 hwg. npwdh
opowuwlubpnud  vwpuwwbuynid  F Jwpswlywu  gopowtubipnd  hpwywuwgub)
Uwhiwnwnpngwwtu hwuwnwwnyeiniuutiph hphduwunpngnud, huly 2,000.0 hwgqg. npwdh
opowuwlubpnid' Eppniup Jupswlywu opowup phy 63, 64, 74 U 75 dwulwwwpunbqutiph
purwghly unpngnid: Opwaghpp 2wpnitwywywu £ dpusl fuunph wdpnnowlwu |nwénidp:
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88. Twpnqulwu ojhdwhwnwubtph U wy Jhongunnudubph YJwqdwlbpwynid

dpwagpny twjuwwbudby £ 17,564.0 hwg. npwd’ 2015 pdwlwuh Gondwd gnigwuhohg
1,254.0 hwqg. npwdn wybih, npph 2powtwlubtipnid twjuwwnbuynd Gu dwpquwu
fuwntph  Yuquwybpwnuw, dwulwlwpdubpph  fupwfunwdwu  dhongwnnidubiph
wuglwgnud, «Uqqwjhu  dnnndh  quywpeh»  Ywqdwybpwynw, wnwpluwjwlwu
olhdwhwnwubn, swjudwwnh ohdwhwnw, hnpbjwuwlwu dhongwnnidubip, ubipwnwywu
Ypeniejntt hpwlwuwgunn nwpngubiph wowygnn rhdbph YGpwwwwmpwuwnmnd UUY-h
dwulwywu hpduwnpwdp hwdwgnpdwlygniggwdp b hwdwagnpdwlgnieiniu
Uwnbthwuwybpnh hwupwyppwlwu nwpngutiph nwnighsubiph bW wowybpunubph Gnopjw
wyg bplwu' thnpéh hinfuwtwydwu bywwnwyny:

89. Unghwjwwbu wtwwwhny wowlbpnmutipht wudbwp nwuwqgppbipny

wwwhnynd  (ywwndphpwlywd jhwgnpnipyniuubp) dpwgpny twjuwwnbuydb) £ 659,6

hwq. npwd' npwbu wwwndppwyjws |hwgnpnenis’ << 2016 pwlywup whunwywu
pnobih uwfuwadh hhdwu Ypw:

90. TMwypngubph unpngmud b hpduwunpngnid  Spwagpny  vwfuwwnbuyby k&
386,500.0 hwg. npwd uwhiwgdwuwfuwhwoduwihu Gwunwpenebph hphdwu Ypw

Gpuwuh Gupwyw)niejwu nwpngutiph hhduwunpngdwu hwdwp:

91. Uwmbuwnwdnpdwu dhongny npwlwdnpnid uwnmwgwé nwunighsubiphu

hwybjwybwpubph wpwdwnpmd  (wundppwljwd jpwqgnpnipyniuubp) Spwagpny

Uwluwwnbuyb) k£ 14,603.2 hwq. npwd npybu wwwndhpwydws hwgnpnipniu’ £ 2016
pYwlywuh wyhwwlwu pjnh twjuwgény twiuwwnbuywd gnigwuhgubiph hhdwu Ypw:

92. Unghwjwwbtu wtwwwhny punwuhpubph GpGjuwubph  hwuquunhp
Juqdwybpynud dpwgpny twfuwnbuyb) £ 6,507.0 hwq. npwd* 2015 pwlwup dondwd

gnigwuhohg 91.0 hwqg. npwdny wwlwu U hwodwpyyti £ uwfunpn  wmwphubiph
thwuwnwgh Ywwnwpywsd tdwuwwmhw dwiuutiph hhdwu ypw:

93. wpwquwwn sntulignn wudwug b unghwjwwbu wuwwywhny punwuhputiph

hwdwp hniwplywynpnipjut jugqdwybpynd dpwgpny twfuwwmbuybly £ 29,965.5

hwq. npwd' 2015 pwlywuph 30,065.5 hwq. npwdh nhdwg W hwodunpyyb) £ vwfunpn
wmwphubipp hwunwgh Juunmwpjwsd udwuwnhw dwiuutiph hhdwu Yypw:
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94. Unghwjwwbtiu wtwwwhny punwuhpubpht wnuwlwu U hhywwnwlyh

opkpht  wowlgnipinit, unghwjwwbu wltwwwhny wudwiug wowlygnipiniu, L

hwuwpwlwlywu Yugqdwybpynipniubphtt wowlgnipeynit Spwagptipny twfuwwmbuybi L

633,541.9 hwg. npwd' 2015 pwlwup Gondwd gnigwuhohg 83,921.6 hwq. npwdny
wyblh W hwywpyjwd Lt hunwy Spwgpwihtu  dnwnbignwiubiphg, puwysniejwu
wnwuduwgywd fudptiph wowygnipjwu dhongwnnidubiphg Giubny:

95. Unghwijwlwt oqunipiwlu Swnwinipintuubph qnpénLubinpiwi

Juqdwlybpynd  (uwwdppwlywd jhwgnpnipyniiutp) Spwagpny  twjuwwnbiuyb L

364,189.4 hwq. npwd npwbtiu ywwnyhpwlywsd hwgnpnipntu:
96. Mbwnwlwu hhduwplubph b Juqdwybpynipiniuubph  wluwwmnnubkph

unghwjwywt hwpbpny wywhnynd (uwnyghpwyjwéd jhwgnpnipniuutip) dpwanny

Uwluwwnbuyb) £ 679,824.0 hwq. npwd npwbu wwndhpwlyws [hwanpnyeynit’ << 2016
pYwlywuh whwwlwu pjnwbih twfuwgoény twfuwwnbiujwé gnigwupoutiph hhdwt ypw:
97. Unnnonipjuwt wwywhnjwgpnipinit dSpwgpny twfuwwbuyb £ 160,784.0

hwq. npwd Gpuwuph pwnwpwwbwnwpwuh woluwnwlywqdh woluwwnwyhgubiph,
«Gplwuwnpwuu» PPL-h Jwpnpnubiph, «3¥CMNT» PPL-h uwywuwpynn wuduwlwqudh,
huswybu twl Gplwu pwnwph pwwpnuubph b pwugqwpwuubph, gpwnwpwuubph
woluwwmwyhgubph  wnnnonigjwt wwwhnwgpnuyejwt  hwdwp:  Unnnonypjwu
wwwhnjwagpniejwu thwpebeh uwhdwuwswihp (gnwdwpp), jnupwpwuynip wofuwnwygh
hwdwp twiuwwnbuynud £ 52.0 hwg. npwd: Unnnontpgjwt wwywhnjwapniejwu thwebeh
dtio dinunn dwnwjnieniuubpp Yhwdwwwwnwuuwutbu <wjwuwnwuh <wupwwbnniejwu
Ywnwywpnyywu 2012 pwlywuph nbYnbdptph  27-h  «Unghwwlywu  thwebph
hwwnywgdwtu Ywpgp b hwpbeh dby dnunn dwnwjnyeniuubph pnwunwynyeiniup
hwuwnwwtin, <wjwuwnwuh <Lwupwwbnnipjwu  Jwnwyjwpnyuwu 2011 pwlwuh
nGlywbdptipp 29-h N 1917-L L N 1923-U, huswtiu twbl 2012 pywlwuh wwpphih 19-h N
594-U npnpnudubipt ndp Ynpgpwd bGwuwstint dwuphtu» N 1691-UL npnpdwu N 2
hwybjywdh N 1.1 dund uwhdwuywd b hwunmwnywd wnnnonipjwu wwwhnywgpniyejwu
pwqujht thwpebieh swthnpnohsutinhu:

Gpuwu pwnwph 2016 pwywuh pnbh twfuwagdny twfuwwmbiuynw k 150,000.0
hwa. npwdh swihnd wwhwunipr, npp Yphuwuuwynpyh nwnpbubgpeh wqun duwgnpnh
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hwoyhu: Swpbuygpp wqwu duwgnpnp Ywuluwwnbuynd £ 300,000.0 hwq. npwdh
swihny, nphg 150,000.0 hwq. npwdp Yninnyh «Gpuwup wywnpnu»  PPL-h
Ywuntwnpwywu Ywwhwwind pwdubinndutph &bnp pbpdwup: Swpbulygph wquwn
duwgnpnp Ywujuwwnbuywd gnigwupy L, npp Yéogpingh 2015 pywlwuh pnbnwiphu
mwpyw wywpunhg htwnn:

Upwdwdwuwy 2015 pywlwuh pngtiunwht wmwpw wjwpwhtu  pjnigbnwihu
wwnwpbp s6U bwjuwwnbuynid:

Gpuwu pwnwph 2016 pJwlwup pnebh  uwjuwghdp'  hwunwnywd
dwldwuwlwgnygh hwdwéwju, 2015 pywlwuh hnyunbdptph 27-hu ubpyuwywgyb) &
Gpuwuh pwnwpwwbtwnphu Yhg gnpénn Gpuwtu hwdwjuph qupqugdwu pwnwdjw
opwgph UL wwpblwu pnwth Yuwnwljwpdwu funphpnh  wunwdubpht:  Gplwup
pwnwpwwbwnhtu Yhg gnpénn Gpuwu hwdwjuph qupqugdwu pwnwdjw dpwagpph L
wwnpblwu  pnwth  Yuwnwjwpdwu  funphnipnp 2015 pywlwuh  untidpbph  4-pu
hpwyhpywd Uhunnw iyt £ hp npwlwu Ggpuywgnieiniup wju hwupwjhu putwnpydwu
ubpYwjwgubiint hwdwn: 2015 pqwywup unjtidptiph 5-hg dhusl unjdptinh 20-p Gpliwu
pwnwph 2015 pYwywuph pnwth  uwfuwghdp  dwdnyny W Splwu  pwnwph
wwowmnuwlwu EGYwnpnuwihu Yuwipny ubpyuwjwgybi £ hwupwht putwpydwu: Gpuwuh
pwnwpwwbwnhtu Yhg gnpénn Gpuwu hwdwjuph qupgqugdwu pwnwdjw dpwagph L
wmwnpblwu pngbh Ywnwyjwpdwu funphpnh 2015 pwlywuh untidpbiph 24-hu Yuwjwgwéd
Uhunnud wdihnthyb] GU hwupwihu putwpydwu wpnyniupubipp: Lnyu uhunnud Gplwu
hwdwjuph qwpgwgdwtu pwnwdjw Spwgph U wwpblwu pnwbh  Ywnwyjwpdwu
funphnipnp wnyb] £ pp npwlwu Ggpwlwgnipjniup Gpuwu pwnwph 2016 pYwlwup
pnbih bwfuwaghdp Gplwuh wywgquwuntu ubGpYwjwgubiint hwdwp:

Wuwhuny, Gplwu pwnwph 2016 pwlwuh pjntih twfuwghdp wnweowpyynud L

hwuwnwwnt.
1. Ghwdnupubiph gény' 78,219,530.5 hwq. npwd,
2. Swpuubinh gény' 78,369,530.5 hwq. npwd,
3. ntphghyp (Wwlwunipnp) 150,000.0 hwq. npwd:
6reduvh LUNURLUMES S. uurqursuu
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8ULu

X£2016 odULULL MGESULUL A3NRENY LULUSEUYUD vNuUsSuuU3h'u

JUSUUSNRULELE (UNRRUEULShULELD)

Cun Gplaul hwdwjlGph pinigbh opugpbinh

hwquip npudGbpng
N Opwanph wijwlnuip Gnudwipp
LuEUShy UNFRIGLSRU 8,465,335.7

1 [GwowjwpiwG dupdGh ywhwywlnd 1,093,345.8
2 |Uubwm-ptimnGyu dwolhh yipwlnpngnid b yywhwywlnid 3,284,000.0
3 [dbpgtinbyu EyumpumpuGuynpuny ninlnputhnjuunpdwl Swnwjnipjnil 629,611.8
4 [UpnwphG nuuwynpnipjwl gulgh Qwhwgnpodwl b ywhwywGiwl wpfuwmwbpltip 2,361,043.8
5 [PwlqupujhlG dwnwjnmpjnGitp L gnigwhwntultp 243,996.7
6 |UtilnuGwpwliwub wignt gnigunpmipjnGitn 253,464.9
7 [Bwwmtpuywi Gipyuwjugndbtn 362,835.6
8 |Upnununpnguwl nwunhwpwynipnil 56,688.1
9 Gpwdynmwlwb L wpytunh nupngGtpnid wqqujhG, thnnujhG L jwpwjhG 162.709.0

(quwqupuGGtph qony ntunignid

Gnplwl punuph Gipwjuwympjwul yuqiwlbpynipniGatpmd wyjplumpulpwjhl
10 jwpuwwmwlpwjhG SwnwnnGtphl gpuiwul pujwpupdwl L gpuiwyui 17,640.0

thnfuhwwnnigiwl mpuwiwnpmd




8ULu

2016 d.ULUULhL MESNMF3UL UNAUDS GLEIU LD LUAULUMNGShL MUSIhAULYUD

Lhua2nernre3nkuue/,rh
LCwun Gplaul hwdwjliph pynigbh opwignpbph
hwquip npudGbpm|]
N Onwqph wijwlnuip Qnudwpp
NUSIhLAUGJUD LhU2NLNMEF3NRLLER 35,160,953.9
1 |[Rwnupughwiwl jugnipjul wynmbph gpnulgdwt dwnwjnipjul qnponiGtnipjul Juqiwybpynid 92,595.7
Uuphwwil pwGlyh wowlgmpjwip hpuwywlwgynn punwpwjhl tGpulunngyuwopltinh U pwunwph
2 2,357,258.2
JuyniG qupqugdwl GipnpnidwjhG opwghp
Uuhwlwl pwllyh wowlgnpjwip hpwywlwgynn punwpwjhl tipwwnngyuopltinh L pwnwph
3 4,286,802.5
Juynil qupqugdwl GipgpnidwjhG tpypnpng opwghp
4 |Gplwbh dtnpnuynihnblh wuwmwbplinh juqiulbpynd 2,741,581.4
5 Jdhpwluwnnigiwl b qupqugiwl typnyuwlul pwlih wowlgnipjudp hpwlwlwgynn Gpluwbh 704.928.5
dbnpnunihntGh yepuwyuwenigdwl tpypnpn dpwghn B
Gypnuyuyuwi GipnpnudwjhG pulyh wowlgnmpjudp hpwlwlwgynn Gplwbh dhnpnwynihntih
6 1,596,110.5
Ytpwlwnmguiw tpypnprng opwghn
7 Gynnywliwl dshnipjwl hwplwlnipjwb Gapnpnuiwjhl pwlih wowlgnipjudp hpwljwlwgynn Gplwbh 19943659
dbwmpnuynihntGh Yepuuengdwl ipypnpn npudw) GnphwghG opwghn e
8 bpwGuhwjh <wlpwybnnpjul yunwjwpnipjul wowlgnipjudp hpwlwlwgynn GplwGh 3195 364.4
opwiwnmwwpupdwl b 9puwhtinugiwl opwgnhG mpuwdwnnynn mbfuGhyuywl wewygmpjwl opwaghn DR
Yhpwjunmgiwl L qupqugiwl typnuyujul pwlyh wowlgnipjudip hpwlwlwgynn Gplwbh
9 390,521.6
onpwiwmwyupwpdwl puptjuydiwl opwaghp
10 Gynnwywlwl dhnipjwl hwplwlnipyjwb GapppnuiwghG opwgnh wowlygnipjuwdp hpwlwlwgynn Gplwbh 994.296.6
opwiwwnwupupiwl puptjuydwl ngpudw) GnphwjhG opwgqhp U
Gypnyuwwi GhpgpnudwyhG pulyh wowlgnipjuip hpuwjwlwgynn Gplwbh gpuiwmuwljupundw i
11 390,521.6
pwpbjwydwd dpwghp
12 Yhpwjunmgiwl L qupqugiwl typnuyujul pwlyh wowlgnipjudp hpwlwlwgynn Gplwbh 150.943.8
opwiwnwjuwpwpdwl puptjuyiwi ngpudw) GnphwjhlG opwghp T
13 |bwhiwunypnguywG Yppnipjn G 7,512.5
14 |Kwlpwyppwwl niumgnid 6,356,307.6
15 |Kwwnniyy YppmpniG 184,274.2
16 [UtpwnwywG Yppnipjnil 625,069.8
17 |Rwlpwyppwul niumgnid 7,967,677.7
18 |<wwnniy YppnipjniG 198,449.2
19 |Lhpwnwywl Yppopyni 639,893.6
20 [GptynjwG ntunigmud 10,433.7
21 [Qwpuwyppuyul ntunignid 205,165.9
22 [Qwwnniy YppnipjniG 30,927.1




N Onwqgph wijwlnidp Gmiwpp
MNUSIh,UGIUO LRU2NLNAMESNFLLEP 35,160,953.9

23 |UbpwnwywG YppnipniG 1,235.3
24 |6ptYynjwi ntunignid 15,473.6
25 |«Kwlnp Gnonjwl» Yppwhwiwhp MOUG-nd wpnmuwnypngujul pquunhwpwynipjul juqiwybpynid 7,980.2
26 |[Unghwjwwbu wiwwywhny wpwlbtpnmbbphG wijdwp nuuwqgpptipny wwywhnygmd 659.6

27 [Unbunmwynpiwl dhongny npuwwynpnid unwgwd niumghsGiphlG hwytjuwydwnpltph mpudwunpnud 14,603.2
28 |Unghwjwlwi oqlnipjwl dwnwjnipniGGtph gnpontGtnipjul Juqiwtpynud 364,189.4
29 Mbnwyw G hhdGupyGph L juqiuytpynpiniGieph wpfuwnmnnGiph unghwuyw hwpbkpny 679.824.0

wwwhnynid
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